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integer 1000000000000 PIDOHTOWTO 300000000000
oooog
ROODODODOODOOODOOOODOOOO00ODO0O00O0O0Od facterdO 000
000000orderedd 00 (TRUE) OO (FALSE)DOOD0ODOO (logical) 000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
0ooo0oooooon

00 Osummary(dat) 0000000 dat 000000000 OODOOO0O000O0O
00000000000 000000000000000000000000000
000000 NA’sOO0O0D0D0O000*30
0000000000000000000000000000000000000
00000000000000000000000000000$00000

*2l 0Qgpoo000000000000000000000000000000000D0N000noNoon
goooobooooooopbpoobOoobOooOoobDOoobDUoobUoOobUobUoobooboo
JO00O0000OURLOODODOOOOOOODDOODOOOOOO0OOOOOODOO

*22 str 0 structured0 0000000000000 structure(dat) 00000000000

*20pQooDO0000000000000D00D0DO0O0DO0O0D0O0O0DDOO0OOaO
dat2 <- subset(dat,complete.cases(dat)) 00 0000000000000 DOOO dat
0000000000000 0D0O0D00 dat2000000000 dat200000000O00OO0OO
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(jcat("mean=",mean(dat$HT),"sd=",sd(dat$HT),"\n") j)

O00000**00000 dat$0 000000000 Dattach(dat) DO OO0
00000000000 Odetach(dat) 00000dat$0 000000000000
0000000000000 0D000D0000D00000o0DoooDoDoO
oono

attach(dat)
cor.test (HT,WT)
detach(dat)

oobooooboooboboooobooooboOoooboOoooboOobOoOoobooOoOoo
00000000000 0000000000000000O00Microsoft Excel O
00000000000000000000C0000O0000ROOOOOOCOOO
O dat <- read.delim("clipboard") DO OOOOOOOOOOODOODOOO
0000 Microsoft Excel 0000 Oweb OO0 O0table 0000000000000
ooboooooooooooobooooboooooo

O00OROOODODOORemdrfD00O000000O0O0O0OO0DOOOOOOOOOOO
ooooooboboooboobooooboooooboOobooboobooOooboboOooobooboOooon
O000ROOOOOOO0OOOOOOCOOOOOO0OO

[library (Rcmdr) )

O0000000D000000 desample.txt 000000000 O0O00OOCOO
O Data0 0000000000 MMOO Import DataD 000 O0O0OOOOOOOO
O00mO From Text FileDOOOODODODODODODOOOODODODODOOOOOOOO
000 00000Enter name for data set:0 00 00000000000O00O0O
O0@MOo0obOo0DbO0o0DbO0o0DO0o0DO0O0D0 dcatOOOODOODODOODDOOD
0000000000000 00000Remdr00000O00O0O Dataset0O0O0O

*240p0000000000000000000000000000000000000000000
O0dat$HT O dat$HO0 D00 00D 0O000DOO0OO0OO0O0DOODOOOO0ODOOOOOOODOO
O0000000o0oUoooos0onoo00Udat[["HT"]I 0000000 Odat[,"HT"] O
gooooooooooOoOoOoOoOoOoOooOoosTO000000000000000000O00
gooooooooOooOoO0oOoOooO0o0OO0bO00O0bO0O0O0DO0O0bOO0 A TOOOOO
020000000000dat[[2]]10dat(,21 000000000
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00 M Field Separator0 00 0 0000000000000 OO MO White space
0000000000 MmO0 TabsOOOODOOODODODMOODOOOTabsOOODO
Col00OU00D0O0O00O0DMIOKOOOODOUOOOOUOOOOOOOO Remdr OO
000000000000 0oooOo0ooooooooo
000oDooooooooooooooooOo2000000000000000A0
000o0o00o0oooooobooooobooooooooDobooooooooooo
000000 200000000000000000O00100 200000 2000
0bobobOobOobOoooob0 1b0b0bO0obO0ODbO0ODbDO0ODbDO0ODbDOoDODODOo
gdbobooobboobobuooobboobobbooobbg

1.5 00O

http://phi.med.gunma-u.ac.jp/msb/data/p01.xls O Microsoft Excel*2°0
gbobooooooooooooooooooobooboobOobobOobOobOoDbo
0000 ROOOOOOODODODOODDODDODOOOOOOOOOOOOOOOOOO
oboboooobooboobooooooooo

*25 OpenOffice.org O calc 00000
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21 O0OOO0OO

goooooobOoobooboobOooboooobooooooobooobooo
gbobooobooboooboobooooooobooboobobobobobobOoboobo
gbobobobobobooobooooooobobo

gbobobobobobobobobooboboboobooboboboboboon
oooooooomoOoOoOoO0OO0OmOoOOOO0OO0OO0OO00O0000000000000
go0o0oo0o0oo0o0oo0oO0OoOoOoU00ooOoO0oU0DOO0U0DODOUOD 40000
gogoo

gboboboobooboboobooboooboooooooobooobooobooobooboon
gbobooboboobobooooooobooboobobobobobobobobo
gbobobobooboobooobooooobooboobobobobobobobobo
gobooooooooooOoOoOoOoOoooooooooooooooooooooo
ooooo

000000DD0000OROOOOODODOOInteger (int) 00DDO0O0OO0O0OODO
numeric (num) 000000000 factor 000000000 character 00000
gbobooobooobooobooobooooooooobooboboobobobobobobo
0*0000000000000000000000® 0000000000000
gboboboboobooboooooooooooboobobobobobobobo

*1 as.numeric() 0000000000000 O0ON0OO0ONDOONONOOONDOONONOOOOOOOO
0000 as.integer() 0000000000000 D0O0O00O00OOO0DOODODOOOO
oo

*2 as.ordered() 100ODOOODOOOOOOOOO
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goooo
gbobobobobobobobooobooboobooboobooobobobobooboon
o000 ooooooooOoOopDoOOoOo0oO0ooUOooooooO g omoog
01020000002000000000002000 (dichotomous variable) 130 O
ADOBDO COOOOD3000000000003000 (trichotomous variable)O
gbobobobobobobooboobooboooooooboooboo
gbobooboooboobobobooboooobooooooboooboboboboo
gboboobobooboobooobooooobooboobobobobobobobobo
00000000000000000000000*0
goooooobooobooooboooobooboooobooooboobooOoboobooo
ooooooobobooobobooooboooooobooOoboOooboobboobobbooo
gobobobobobobomooobooboboboboboboo

22 0000 (nominal scale)

e JI0OOUODOOOUODOOLUOOOLOOOOLODOOOUDODOOODOD
e JUOOUODOOOUODOOOOOOUDOOOLOOOOUODOOOODOOOODOO
oo
e0O0COCCOOOOOOOOOOOOOOO
00o0o0o0oo0ooobo0oooooo0o “M’O00000 “Fooooo
000o0oo00ooooooooooooOoOo0ObOob0 100000 20000
0000000000 0000000000000000000D0 00 codingd
ooboooobooooo
obooooboboooboooobooooobooboooboboooobobooooboboOooon
cooooooooooooobooboOoOooOoboOoOoOoOobOoOoOOOOoOOon 1o
O00000000000000 200000000 300000000 4000
ooboooobooooooooooooboooobooobobooobobooon
ooboooooboboooo
gbobooboobooobooooooobOoOoboobOoobooboOobooOoOoDbobooo
oboooobobooooooooooooboOooboboooboooboOooon
000000o0o000o0ooO00000oo000o0ooO0300000000

* 2000000000000
*40000000000000000000000000000000000000
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2.3

oboooobooobooooboooooboooboboooboobooooboboooon
oooooooo 20000000000000000000000O0O0O0O
gobooooboooboooobooooobooobobooobboooobooOooon
0000000000000 10000 200000000 3000000 40
oobooooboooooooobooooobooooboooboboobbooon
goobooooboooooooooooobooooboboooboboobobooon
0/100000300000000000000000OOO0ODOODOOOD
ooooooooooooobooooooooboOOOOOOODO 1O0DDDOO
0o0o000000o0oo000000000000 000000000000
O000o000m10000000000000000O0O0O0O0O0O000O0AO0
dooooo0ooOoooooooooooooooooooooo

0000 (ordinal scale)

00000000000000000000000000000
000000000 (Ordfactor) 00 00ROO0O000O00000000OO
00000000000000000000000000000000000
0000000000000 Oas.ordered() 1000000000
000000000000000000 4+++04+0+040-000000
000+ 000000000000 3,2,1,05 0000000000003
0200020 1000000000000030200000000000
000020 10000000000000000000000000000
0003,2,1,05 0000000000000 as.ordered(o.blood) 00O
00000000000000
000000000000000000000000000000000 3,2,
100000015, 3.14159265358979, 1 0 000 0000000000000
00000000000000000100000000000000000
00000000000000000000000000000000000
00000000MO000000000000000000000000
00000000000000000000000000000000000
00000D000000000000000000000000000000
00000000000000MO00000MO00000000MOn
000000DMOO0O0000O0S5,4,3,2,1000000000000000



26 020 000000

oboooobooobooooboooooboooboboooboobooooboboooon
obooooboooboooobooooobobodoobobooobbooooboOooon
obooooboooboooobooooobodoobobooobbooooboooon
ooooo0oooooooooooooooooooooooooooooo
goboooooooobooooooboooooo0oooooooboomoo
goobooooboooooooooooobooooboboooboboobobooon
00000000 (Cronbach) 0 o 00*000000000000000«
oboooobooooooobooobooboooboboooobbooooboboooon
ooooooo

2.3.1 CronbachO o OO

goboooobooobbooobobooooboOoooboOooooobooOoOoOoobooOoo
ocooooooooooooobooobooooOoboOooOboOoOobOoOooOboOooboOoo
goboooboboooooooooooooooooooooooooooooooo
O000O0000DO0O0000000000000O0O0Od Cronbach O a 000
ooo

ooboooobooobooooooboooobobooo

(1) COODODOOOOODOOOODOOOOOoOoO
oboboboooooooooooooooooooooooooo

00000000 4000000000000000000000DO00000ODO 4
00000 1000010004004 0000000

(2) COOODDOOOOO0OOO0ODDOOOOO0OOODODOOOOOO
ooad
ooooooooooooOoooOoOoOoooOoOoboOoOoOoOoOooboOoon
ooooogogd

00000000000 000 400000000000 1000000000
00000000000()0 (200000000000 D0O02000 8000

*»O0oDo0000000000 «000000000000000000000000000000
00o0o00000O0o00O000O0o0000O000000000D00O000DO00O00O
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Or700000000000O0000O0O0000O0OO00O0O0O0O00O0O000O0OO0O0

(3 CODO0ODOULOOOOLDOOCOODOOULOOOOODOOOOODOOO
oooooooooono
gooooooobooooboooobooO0oobboO0oooboboooDbooD
ooo

0400000003000 120000 100000000000000000
00000000000D000000000030000000000000000
000D000000000000000000D00000000D000000000
0000000 (1)00000000000()0000000000000000
00(3)0000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000

003000000000000000000000000000000 1000
00000000000 (1)0 (3)0000000 23000 (2)00000 2,0
000000000000 00000000000000xz30 22000000
Tarae, J0000000000000000 g e, 00

2Tg1 500

1+ 7550,

Qzzzy =

odobooobooooobooooboooooooo

0000000000000 D0O00O0O00DO00DOOooDOOO(h)ooDoD (20
(3)0000000000D0000000000D0D 30000000000000
gbobooboooboooobooooooooooobOobOobOobUobOobOoDbOoDbo
000000« 0bO000O0O00D0Oep0DOO00ODODOOOOO0ODDONDOO 20000
0000000000000000000000s, 0, e, 10000000000

00000D000D0000000 CronbachO o« 000000 (1)(2)(3)00
000000000000000000 2 00000(1)(2)(3)000000000
O 10202300000 Cronbach aO00O0O

2 2 2
_ 3 (lisgclJrsqusgf3
3—-1

«

)

2
Sas

0000s,, 02, 000000000O0O000O0O000 000 0800000000
0.70000000000000O0O00O0OO00O0OOO00O0OO0O0O000000
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X, Y, zOOOOOOOOOOOOOoOooOoOoOOoOooOoOOoOoOeOOoOooooo
00 ROOOOOOOOO0DOOOO01000000000000O0000000O00
;ou0ooooboooobooon

T <- X+Y+Z

VX <- var(X); VY <- var(Y); VZ <- var(Z); VT <- var(T)
alpha <- (3/2)*(1-(VX+VY+VZ)/VT)

print(alpha)

24 0000 (interval scale)

e 1000DUODODOODOOOODODOOO®

eJ00COCOOOOOOOOOOOO

e J0000DODODOODODODOODODOOOdOODODOOODOOODO 3600
000000000000 0000D00000039/3600000 1.0830
ooboooboooo

e JU0OOUODOOOUOOOLUOOOULOOOLUOOOUDLDOOUODOOODOO
oboooobooobooooboooooboooobobooobboooobooOooon
000 %00000000000000000000000000000 em
O00mO00O000O00O0C0O0OO0OO0OCODOOOOOCOOOOOOCOO
1000em 000000 emOO000170em 000000 2em 0000000
oooboooooboooooooooooooboooobobooobooboooboboooo
oobooooboboooooooobooobooboOoooboboooobobooooboboooon
ggoboooboboooboobooooboooooboobooooooooo

25 000 (ratio scale)

e I0I0DUDDODODODDODODOODOO?
e JI0OOOUODOOOODOOUODOOOOOOODLOOOODLDOOODOOOO
e I0I0emOI0DO0UIDOOOOOOkgDODDOOOODOUOOUOOOODO

000000000 00000000000000000000000000000000000
oo
* 0DO000000000000000000000000000
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ooooooooooooooooooboOoOoOobObOOODObOboOoOoODObOO
000000000 000000000000 0000O00D %00000
%00000000000000000D0000000ODO0OO0O0OOOOO
ooooooooooooo

26 00ODO0ODODOO

00000000000000 200001 0000000000000 1000
oooooo0ooOoOoOooOooooooOoooooooooooooooooooo
goooo0o0ooo0oooooooooooo 2000000000 oo

oobooooboooobooooobobooooboobooboooboobooOoboooboooo
ooooooooooooooooooooOOoO0Ol1b00000010000000
ooboooobobooobboooobooboooooobooboOobooOoobboooobooboOooon
ocooooooooooooooOoOobOLObLLOObOLoODOOoO 100000000
0o00000000000000000O000000000O0O00 TFROOOOO
goboooboboooooooooooooooooooooooooooooooo
ooooooboboooobobooooboooooboooboobooobooobboobbooo
oboooboooooboooobooooooOooobooOoboboooobooboobooooo
00000000000 0®¥000000*000000000000000000

*8 PowerPoint 0000000000000 OpenOffice.org 0000000 Impress 000000
00000000 PowerPoint 000000 OOpenOfficeorg000000000000ODO0O
0000000000000 0000nhttp://ja.openoffice.org/0 0000000

*9 OpenOffice.org 0000000 Draw 0000000000000 0000O00O00O00DOO0O
000000 Adobe O Hlustrator 0000
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BAOBERRITFROFEREE | |

o 1920 1940 1960 1980 2000

" T T T | (%)
s ,A!%%?”) 1 949 1960 1 980 22 B2. BAOEERRAIEEHHEE(TFR)IDFREAL
L2 R8O BT web 1 k[t syoushika/ ste-ad!index-ttm] £ (AR, +: 988, v—%KL - hEFR, O:2E).
TR AO B IE D

0000000000000 00000D0O0O00DoDOoO (2050000000
0000000000000 0000000000 (ISBN4-06-149773-1) 0000
oobooooboobooobobooooboooOoooOobooboOoooOoobboooobooboooon
ooboooobobooobooobooooooobooooooOooboboooobooOooon
ooooooooooobooooooooOooOoOoboOoOoboOoOooOboOoDOboOoOoboOoo
goboooboboooooooooooooooooooooooooooooooo
ooobooooboooboboooobooooooobooOoboOoooOo0oobbOooobobooon
ooobooooboooboooooboooOoooOoboooOoooOooboboooobooboooon
oobooooboboooboobooooboooooboOobooOoboOoboboOoobboOooboboOooo
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
ooo

Joogubooboodod

000000 000ROOOO0O0O000O0O0O0O0O0O0O0O0OO0OOOOOOOOO
0000000000000 0000000000O0O00oooOooOOpdfonOO
O00 jpg000png 000000 D0O0OOOOOO0ODO0ODOOOOOOOOODO
Windows 00 0000000000000 000O0O0OOO0OOODO OO Macintosh
O Linux 0000 postscript 0 0 00000000 O0000O00OO0O0OOOO
uobooobooboobooobooobooooboooobOoobOoobUobOoobooooo




27 0000000000000000O0 31

oobooooboboooboboooobooooooobooOoboOoboboOoobboOooDboboooon
ubobooooboboooobooboOooooobooobOobOooOoOobOoOooon
00000000000 00000000000000000000Windows OO
O000000000000000D0000000000 Windows 000 TrueType
ooooooobooooboboooobooooooobooooobooobbooDbobooon
oboboooooooobobooboooobooooobooOooboboobooooboooD
OMSOOOOOJPlOODOOOMSOOO JP2000000000par() OO0
00oo00oo0oooo0oooJPl00O00OO0OOOOOOODOOOO MSO
O000000000par() 00000000 DODOODOOOOWindowsOOOGOO
ocoooooooOoo0o0oOoOoOOoLObOOoOoOoOoOooOooOooOoooOoOooooo

windowsFonts (JP1=windowsFont ("MS Gothic"),JP2=windowsFont ("MS Mincho"))
par (family="JP1")

ooboooobooobobooooboooooboOoooboOoooOoboOoboOoOoOobooOooo
uobooooboooboooobooboOooooboOoooog

27 0DO0O0OOODOOODODOOODOOO

0000000000000 000000000000000000000000
00000000000000000000000000000000000000
0000000000000000000000000000*°00000000
00000000000000000000000000000000000000
O0000ROODOOOODO source() 000000 DOOO0DODODO

*10 £aple() 00000000000 OODOOOOOOOOOOOOOOOOOOOOOO
100000000 c02-1.RO00000000
source("http://phi.med.gunma-u.ac.jp/msb/c02-1.R")
0D00000000O0R Console 000000DDD0D0000ODODODO0O0OOODDDODOO
0000000 URLOOOO REditor 0000000000000 00O0MOODOO0OOOO
0000000000000 00000U0O000000O0O0 CPY932000000000Linux
0 MacOSOOOOOO0ODO0OO000DODOOO0OOsource() J00000O encoding="CP932"0 [
gooooooooOooooooooooooo
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271 0OOO0ODOO

obooboooooboooobobooooboooboobooobooobOooo
O00000D000000000 XO0OOOORDOO barplot(table(X)) DOOO
gooooooOooOoOoOoOoO MOOODOOOOOOODODODODODODOODOOOOOO
+++04004+01004+0200+£01200-097000000000000
oooobooooobooooboooboobOobooOoOobOobooOooboobooobooooo
table(X) 0000000000000 OOO0O0DOOOOOOOOOOOOOOOO
00000 cOUO0O0O0Onames() 00000000000 OOOOOO Obarplot()
O0000000000000000000000 OpenOffice.org 0 Draw 00O 00O
ooooobooooooooodd

c02-1.R
ob <- c(4,1,2,12,97)
na.mes(ob) <- c(ll+++ll Wt ngn g on ll_ll)

barplot (ob,ylim=c(0,100),
main="000000000000000O0NnOOOOOOOOO"™)

oM VOEVEBHADRENRERE
8- (HIERERBIAR)
8 4
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o |
<
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272 DO0OODOOOO

gobobtbooobobodoobooobobooobbuoobbbooobbuooobo
O00000000000000 200000000000 O0barplot() 00000
0000000000000 0000o0ooOoOooD00oooooobooboooooOooao
O0000as.matrix() 000000000000 ODODOOOOOOOOOO b
01l1000000000das.matrix(ob) O Omatrix(ob,5) 00O OOOOOOO
as.matrix() 000000000000 O0OO0OOOOOlength() 0000000
0000000000 length(ob) O 50000for (in ) { YOOODOODOOO
00o0o0o0000o00o0o0oOoOoUoUUUUOOOibDoooD 1005000000
O{}0000000sum() 00000000 Otext() OO0O00ODOOOOODOODOO
Ob00ob00bO00O000000000pasted 000000000 OOOODOODO
00000000names 000000000 0OODOOOOODOOOODOOODODOOO
0 12

c02-2.R

4 A
ob <- c(4,1,2,12,97)
names(ob) <- C(u+++u’n++n’u+u,ui n’u_u)

ii <- barplot(as.matrix(ob),beside=F,ylim=c(0,120),
main="00000000000000O000"

oc <- ob

for (i in 1:length(ob)) { oc[i] <- sum(ob[1:i])-ob[i]/2 }

text (ii,oc,paste(names(ob)))

J

ooboooobooobobooooboooooboobooboOooooobooOoOoooboooo
ooboobooobooooodoooooooooooooooo0 +++0 ++0
000+0100+£0500~-047000000 +4++040044+0 10040
100+£0700-050000000000000000C0C0OO0O0O0O0CGCOOO
0000000000 0000oOoOooO0oOo0o0o0o0o0o0D0 RooooooooOo
O0o001000000200000000000000000003000 cbind
O00o0o0ooDOooO0o0oO0oOOo0oO00oOoO0cO0O00ooODOO0On obxO 50 2000
000000000 rownames() 0 0000000000000 O0O0O0O0O0OOO
000000000000 colnames() DO0O0OO0DOOOODOOOOOOOOO

*1256000000 oc <~ cumsum(ob)-ob/2 0000 Dcumsum() 0000000000000
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barplot() 0000000000 0000000ODODO besidesFOOOOODODOO
gooooooooooooooOoLoLoLoOoOoDoOoODOOOOOOO 200000
O0000O0OvarplotO 000000 DO0OO0O XOUOOOOOOOO 0000
0000000000000000YOOOOOOOOOOOO000O0 ocOOODOO
00000 YOOOOOOOUOODOOOO text()O0ODOODOOOOOOOOODOO
O000000D00000000000D paste() 00000000000 0OO0O0ODO

(‘ c02-3.R I

obm <- ¢(0,0,1,5,47)

obf <- c(4,1,1,7,50)

obx <- cbind(obm,obf)

rownames (0bx) <= c("+++", N4l N4l g w o)

colnames(obx) <- c("OO","O0O™")

ii <- barplot (obx,beside=F,ylim=c(0,70),
main="00000000000000000O00O™")

oc <- obx

for (i in 1:length(obx[,1])) { ocli,1] <- sum(obx[1:i,1])-obx[i,11/2 }

for (i in 1:length(obx[,2])) { ocl[i,2] <- sum(obx[1:i,2])-obx[i,2]/2 }

text(ii[1],o0c[,1],paste(rownames(obx)))

text (1i[2],0c[,2],paste(rownames(obx)))

J
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273 0OO0OO

000000 100%0000000000000000000000000000
ooooooobbooobooooboooooOoooOoboOooboooDbbooDboboooD
0000000000000 00000000oo0o00oooo0ooono ROoOoOO
0 co2-4.RO0001000000D000C0O0DODO20000000000 (%)
O000000sum(O) 000000000 OODODOOI000000 000000
03000 names() 00 O0O0O0OO0OOOUO0OOODOOOUOOOODODODO4000
gooobOs0000b000bo0oboobOoooooboooDobooDoooboOoboboOoD
000000 parplot() DOOO0OOO0ODOO0OO0OUDOOOO horiz=TOODOOODOO
gooooooboobooooboboooobooooobooooboooboobboobboooD
O0O0ObvesidesF OO0 O00O0O0ODOODOODOODOO 1I0000O0O0DOODOODOO
xlim=c(0,100) 0000000000 20000000000000000000
ooooooooooo
/002—4.R N

ob <- c(4,1,2,12,97)

obp <- ob/sum(ob)*100

na.mes(obp) <- C(II+++II’|I++II,II+II’IIi u,u_u)

ii <- barplot(as.matrix(obp),horiz=T,beside=F,x1lim=c(0,100),
xlab="(%)",main="000000000000000O0O")
oc <- cumsum(obp)-obp/2

text (oc,ii,paste(names(obp)))
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274 0OO0ODOODO

ogoooooooooooooOoOooUoOooooooooooooooooooo
O0000D00000D00000000 barplot() 00000 dotchart() 0O OO
ooobooooboooboboooobooooooobooOoboOoooOo0oobbOooobobooon

~ c02-5.R

obm <- ¢(0,0,1,5,47)

obf <- c(4,1,1,7,50)

obx <- cbind(obm,obf)

rownames (0bx) <= c("H++" M4t Mg g v n_w)
colnames(obx) <- c("O0O","O00O™")

layout (t(1:2))

dotchart (obx)

dotchart (t (obx))

\
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0000 100% 0000000000000000000000000DO000OO
000000000000 oooooooooboboooo0oooooooooooao
0000000000 0000D0D0 Cleveland 00000 OO Cleveland WS (1985)
The elements of graphing data. Wadsworth, Monterey, CA, USA.0 0O p.264 O O
gooboobooobobooobbuooboboooboboooboooboboobobbooo
gdbobuooobbooobuooobboobobbooobbooobbouboboo
00000000 mMO0o0O000D0OD0DDD0OD0OD0O0O0O0O0O0O00ORO helpOOOOGOQ
gbobooobooooooboooooooooooboOobO0obOobobOobOobOobo
000000000000 bOo00ooooOo0oDooOo0o0ooDobOooooDoOoooDoOoo
00o0o0oooooooooooooooono

000000000 200000000000000000C00OO0O0ORO0O pieO
gooooo*¥0000000000000000o0o0o00000oooooon
ROOOOO co2-6.ROO00O0O

*13R-1.5000 piechart() 000000000 DODOO
p
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c02-6.R

ob <- c(4,1,2,12,97)

na.mes(ob) <- c(||+++ll’n++n,ll+ll’ui n’u_ll)
pie(ob)

28 OOOO0ODOOO
281 0OO0OOOO

0000000000000 00000000000000000000 Microsoft
Excel 000000000000 OOUOUOUOO0O0O0OOOOOOOOOOOOOOO
0000000000000 00UUUUUUOUOOOOROO nist) OOOOOO
0000000000000000000000000000000000*400
009000000000 00DbO00DO00O0D00DOD00DOO0oDDOOoDODOooOoonOg
goboboobobo0o0o@mboboooobbooobbo00bfregsFO00O0O0O
probo=TOO0O0OOCOOODODOOODO 1000000DCOOO

gobobtbooobobodoobooobobooobboobDbbooobbuooobo
00000000000000000Sturges0000000000O0OOOOOO
0oo0MmiooooboooooooooDooDoooooooDOooDoooooooDg
000 10000o0oooooooooooDooooooooooooooooag
00000o0o0ooooooo*000o0000000o0ooooooooooOn
0000000000000 0OMASSOODOOODO truehistO) OOOOCODOOODO
00000000000 truehist() 00000000 DO0O0OOOOOOOOODOO
Scott 00D OD0O0OO0OO0O0OODOOOOUOOOODOOOOOOODOOOOOOGOT1
gbobooobooooooboooooooooooboOobO0obOobobOobOobOoDbo
oodobooooooao

c02-7.R

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p0O1.txt")
hist(dat$HT,main="000000000")

*14 0000 http://phi.med.gunma-u.ac.jp/demography/makepyramid.html 0000
*15 http://phi.med.gunma-u.ac.jp/msb/data/p0l.txt 0000000000
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(A) BROER TS L

20

15
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150 155 160 165 170 175 180 185
& (cm)

282 DOODOOODOO

0do0bOo0o0oobOo0oobOooooDbooobOoo0ooDboOoOooobDboOoooo
000000000000 bO00o0oooO0o0ooDoOo0o0ooDobOoooDoDoOOoooDoDoo
000o0o00o0ooooooboooobooooooooobooooooooooo
gdobooobobooobooobobooobbooobbuoooboboooboo
gdbobooobobooobuooobboobobbooobbuooobbooboboo
000000000000 0000000000000000O0Oqguerm() OOO
O000000000Oqqline() D0O0O0OO0ODOOOOOODOOOODOOOODOO
gobbooooooobobooooooobob0oooooDbob0 wy=200000000
ooooooooooooo0o0 1ty=10000

c02-8.R

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p0O1.txt")
qgnorm(dat$HT,main="00000000000",ylab="00 (cm)")
qqline(dat$HT,1ty=2)
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SROEREETOY b

B&(cm)
160 165 170 175 180

155
|

150
|

T T T T T
-2 -1 0 1 2
Theoretical Quantiles

283 0000 (stem and leaf plot)

Oo0oooooooooocoOoOos00ooo ooooooooooooooo
gobobooobooooooooooooooooobooboobOobobOobOoDbOoDo
goboboobobooooooooooooooooboboboboboboboooo
000 “stem and leaf plot” 00 0O000O00O0O0OO0ORO0O stem() OOODOODO
gboboobobooboobooooooobooboobobobobobobobobo
gooooooooooooboooob gbo0oboboboobooboOobobOoD
goooooobobooobobooooboooooOobooOooOooboOooDbbooDbobobooo
O00000000000000000gstem(O 000000000000 stem(O O
O00000O00O0000OO00O0OD0OD0OO00000000O0 capture.output() OO
0000000000000 000000000 .stem.out 000000 length()
00000000000000 plot(...,type="n",axes=F,xlab="",ylab="")
0000000000000 00000oooooooooDDD text()OOOOO
gboboboboobobobooooobooboobobobo

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p0O1.txt")
stem(dat$HT)
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r gstem.R N

gstem <- function (X,D=1) {

.stem.out <- capture.output(stem(X,D))

.stem.len <- length(.stem.out)
plot(c(1,2),c(1,.stem.len),type="n",axes=F,xlab="",ylab="")
text(rep(l,.stem.len),.stem.len:1,.stem.out,pos=4)

U )

284 00O0DO (box and whisker plot)

0000000000000000000000000000000000000
000 (median) 0000000000 1/40000000 1000 (first quartile)d
0000000 1/40000000 3000 (third quartile) 0000000000
000000 10000000030000000000000000000000
000000000 10000030000000000000 1.50000000
00000 100000003000000000000000000000000
0000 00000000000 00DD0DDN0ONDN00ND0D0N00N00N00DN
000000000000000000000000000000000000RDO
0 boxplot() 0000000000000 0O0DO0OOOODOODN

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p0O1.txt")
boxplot (dat$HT)

285 00OO0O0OO0ODOOODO (stripchart)

obooooboboooobooobbodobodobobooobooooboooobooooo
ocooooooOoooOoooooOoO0ooOoOooOoOoboOoOoOOoOoOOoOoOoOoboDOOobO
O0000o0o00oo00ooU0O0ooU0oo0ooOooooooooooooROO
stripchart() D00 0000000000000 O0O00OO0Overt=TOOOODODO
ooboooobooooboooooboooboooboooobooooboOooooo

oobooooboooboobooooooooboOoooboOoooOoboOobOoOoOobooOoo
000000000000000000000 c02-9.RO0001000 webO
000000000 dat000000000000000O02000 subset() O
00000 complete.cases() 0000000000 OD0OODOODOOOOOOO
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000*03000 dat 0 attach 000 0000000000004 0000
tapply (HT,SEX,mean) 000000000 HTO SEXOOOOOOOOOOOO 2
coboooUoO0OO0OmETOOOOOOOCOOOCOSOOOOOCOOOOOOOOO
000 sHTOO0O0O0O0O0OOOOODO60000O0OO0O0000000000O0O0O0O0
0000000000000000000000 20000000000 15%00
oooooooooo0o0o soocoooooobooooooooOorooboboooo
O000000000000008000 points() 0O OO0OOOOOOY900O
arrows() 0000000000000 000O0O00O0O0arrows() 0000000
O00000Ocode=3, angle=000 0000000000000 O0O0O0O0O0O0O00O
OOOOOO0O0O00OO00O0O0O0O0O0O00 1ength=.100000CCCCOOODOO

/COZ—Q.R B

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p0l.txt")
dat <- subset(dat,complete.cases(dat))

attach(dat)

mHT <- tapply(HT,SEX,mean)

sHT <- tapply(HT,SEX,sd)

IS <- c(1,2)+0.15

stripchart (HT"SEX,method="jitter",vert=T,ylab="00 (cm)")
points(IS,mHT,pch=18)

arrows (IS, mHT-sHT, IS, mHT+sHT,code=3,angle=90,length=.1)
detach(dat)

175

170

H&(cm)
165
&

160
B 8

Foog 88

—

155

150

it B

160000000000 0sd) U na.rn=TO 0000000000000 00D0OO00O0OO0
0o0o00o0o0ooo0oO0oDOo0oooooooo
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2.8.6 OO0 (scatter plot)

20000000000 200000000000000000000000R
OO0 plot() DO0O0O0O0O0O0O00O0O0O0O0O0OO0O0OOOOOOOOOOOO plotQ
Opch 000000000000 Opoints() 0000000000000 O0DOOO
O00000000000000000 symbols() DO0OODOODOOOODDOOODOO
0000000000000 000000000000000 matplot() OO0
matpoints() 0000000000000 0200000000000000000
000000 pairsO 00000000000 OOOOOOOOODOOODOOO
O00 textOUOOOODOOODDOOOOOODOOOOOOODOOOOOODOOO
000 identify(Q 0000000000 DOO0ODOOO0DO0ODOODODOODOOOOO
ooobooooboboooboooobooboooobobooooboooboooooo

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p0l.txt")
plot(dat$HT,dat$WT,pch=paste (dat$SEX) ,xlab="00 (cm)",ylab="00 (kg)")

symbols() 00000000 DOOOODOOODO1992000000 CarlsenO0O
oobooooooooooooOoooooOoOoboboOoOoOoooOoboOoOoOooooboOoon
oooooobobooooobooobooobobooooboooooboboobooboo
000000000000000000000000000000000*70

( semen.R N

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/semen.txt")
attach(dat)

SIZE <- log(NUMBER)/5

symbols (YEAR,CONC, circle=SIZE, inches=F,xlab="000",

ylab="0000 (leccO0O0OO0OOO 10000",
main="0000000000000000")
detach(dat)

T Op000000000000000000000000000000000000000000
0000000000000000000000000O0O0O0OO0O0OO0OOOOOOOOO0O0AO0
000000000000000000000000000000000O0O0O0OOOOO0OO0AO0
joooo0ooooO0O000000DODODOO0O0000 1/500000000000000000O
goooooooO0o0o0oooooOoO0O0000O0oOoO0O0000000ObOOOO0000
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WEFREBZFEDAZTF X

o
140
O o o
5120— O 5
B
& o ,O °© Yaur
2100* O o 0
?‘3- O O oo@é}
z (@]
M 80 O 6} @
o © o0 Q
"= © O(zg)o
60 o 0% 95
o O(O @
0 -

I I I I I
1940 1950 1960 1970 1980 1990

MEE

287 0DO0DOOOOD (radar chart)

gobobooobobooobbooobobooobboobobbooobobuooooo
00000000o00o0o0o0o0000000 radar chart 00 O spiderweb chart O
goooobobooboOoooboooobDbooobobooobbbooooboo
gbobooobooooooboooooooooooboOobO0obOobobOobOobOobo
000000000000 000000000RO0 starsO OO0O0OO0OOODO
000o0o00o0ooooooboooobooooDoooooobooooooooooo
0doooooooboooboooobooobooooboboooboboooooo
00000000000 0000D0OO0O0OOexample(stars) 000000000
gdobooobobuoooboboooo

29 00OOOOO

oooboooooboooooboooooboooooobooooboOooobooooOo0ooobooOoo
oooooobooooboboooobooooooobooOoboOoooOo0oobbOOoooboobooon
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000000000000 0000000000000 Omaptools 1000000
O0*¥0000000000000000000000000000000000
Jo0000000000ddddd0000000000o0oooooooog
000000000 0*00000000000000000000000000
00000000000000000000000000000000000000
0000000000000000000000000000 webOODODOOOO
000000000000000000ESRIOO0OOOOOO GISOO0O0O0O00
O0000000000000shp0000000000000O0O00000O0O0
O000000000000D000ESRIOOOOOODOOO ArcExplorer 000
0000000000000 00000000000000000DIVA-GISOOO
0*°00 Country 0000000 Theme O Administrative Boundaries 0 O O O
OzpODODOOODOODOOODOOOODOOOODOOODOOOOO

000000000000000650000000000000000000 50
O00000000000000000DIVA-GISOODOO0O0O0000000000
U0000000000000000000000000ESRI Japan D00 OO0
00000*'00 japan_ver6l.zip 00 OOOOODOOORj)pWikiDOOOO0O
00000000000000000*20000000000

00000000 6,000000000000000000000 1801001
0000?0000 300 Microsoft Excel 0 0 0*0 000000000000
0000000000000 00000000000000000000000
OD0000000 webhOOOOODOO*™000200000000000000
JCODED D OODOOOOO AP20060 0000 65000000000000000
0ooo0o0oooo*oooooon

*18 CRAN 00 install.packages(maptools,dep=T) 000 0000000000000 OOOD

*19 GIS (Geographic Information Systems) 0000 0000000000000 O0

*20 http://www.cipotato.org/DIVA /data/DataServer.htm

*21 http://www.esrij.com/gis_data/japanshp/japanshp.html0 0000000000000
goooooobooooo

*22 http://wuw.okada.jp.org/RWiki/?ShapeFile%A5%E9%AB%A4%A5%.D6%A5%ES,AS%EA

*23 nttp://toukei.pref .gunma. jp/NBJ2006.htm

*24 nttp: //toukei.pref .gunma. jp/sokuhou_temp/nbj2006_005.x1s

*25 http://www.lasdec.nippon-net.ne.jp/com/addr/kaku_ken/gunnmaken.htm 00 0000
Jo0o0oooo 200 1000000000000 3000000000000 1000000
goooooooo

*26 http://phi.med.gunma-u.ac.jp/msb/data/agedprop.txt0 000000 180 100 100
JO000o0o0oooooD 1032100000000 000o0oooooooooooDoooDooooo
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oobooOoOooooOooDn japan_ver6l.zipOUOOOOOOOOOOOOOO
U0 agedprop.txt U0 0OOOOOOOOOO0OOOOOCOCOOOOOOOOOCOOO
gboboboboobooboooboooooboobooboboboboboboOobobo
000000000 topo.colors() DO0OOOOOOOOcem.colors() DOOO
00000000 D0OOheat.colors() 00D DOO0O0OO0D0Orainbow() O OO OO
0000000000 0000c("red","blue","green","yellow") 00000
obooooooooo
s classmap.R ~

library(maptools)

jpn <- read.shape("./japan_ver61.shp")

jpndata <- jpn$att.data

jpnpoly <- Map2poly(jpn,region.id=attr(jpn,"region.id"))

jpnxy <- get.Pcent(jpn)

gunmadata <- subset(jpndata,jpndata$PREF=="000")

gunmapoly <- subset(jpnpoly,jpndata$PREF=="000")

x <- subset(jpnxyl[,1],jpndata$PREF=="000")

y <- subset(jpnxyl[,2],jpndata$PREF=="000")

aged <- read.delim("./agedprop.txt")

gunmadata <- merge(aged,gunmadata,sort=F,by="JCODE")

DD <- gunmadata$AP2006

classes <- cut(DD,seq(min(DD) ,max(DD),length=5),include.lowest=T)
cols <- topo.colors(4)

plot (gunmapoly, col=cols[ordered(classes)],xlab="",ylab="", axes=F)
legend (max(x)-0.3* (max(x)-min(x)) ,min(y)+0. 1* (max (y)-min(y)),
legend=names (table(classes)),cex=0.6,fill=cols)

title("ODODODOOO 6000000000000200600")

text (x,y,gunmadata$CITY1,cex=0.5,pos=1,0ffset=0)

000000000000000000000000000000000000O000O0O0O0O0AO0
oooes000000000D00D00DO0O0O0O0O0MMOO0O00O00000DO0ODODO
goooooooOoOo0oooooOoOO0o00O00O0ooOoOOo0OO0000ObOOOO0000008
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HEIRTHF D6ok UL BErEFIE 4 X5 (2006%)

[13.2,23.4]
(23.4,33.7]
(33.7,44]
(44,54.2]

ooom

210 OO

http://phi.med.gunma-u.ac.jp/msb/data/p0lb.txt 00 OO0 (wt) OO0
Oooooooooo
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030

oot

31 J00O0O0Ooob 20000

0000000000000 0000000000000000O0000000O0
0000oo0oO0o0o00o0oo0o00o00oo0o0o0ooo0o0oo0oooo0ooooooo
o00o00oO0ooO0oo00o00o0o0oO0oO0o0O0o0oO0oOooOooOo0oO0ooooooo
00o00o0O0oO00000O000b00o000O0000oO0oo0o0o0oo0oooo0o
0000000000000 00D0000000O00 (descriptive statistics) 000
oooo

0000000000000 0000000000000000O00DO000O0O0
0000000000000000N(x,e?)0000000000000000 w0
00¢’000000000000000000000000000wpO00000O0O
00000000620000000000000000000000000000
O central tendency0 000000000000 0000O0O0OOOOO variability
00o0O0oO0o0o0ooo

0000000000000 00000000O000O00000O00DO000OO0
00000000000000000000000000000000000000
00oo0o0oo0oO0o000o0oo0o000b0oo0o0o0oo0o0o0oo0oo0o0o0oooooooo
O00000000000000000000000000 parameter0 000000
0000000000D00000 (location parameter) D0 00000000000
00000 (scale parameter) 0000000000000 0ODOOOODOOOOO
00o0ooooon



50 030 00000

3.2 00000 Central Tendencyd

3.2.1 0000 meanOd

000*000000000000000000000000000000000
00000000000000000000000000000000000000
000000000000 00000000000000000000000000
0oOooooooooo

000000 000000000000
0000XO00000000000000000NDOOO0OO0000S.0000
00000000000000000000000000000YX =X;+X,+
Xs+..+Xy000O0O

0000000000000000000000000000000000000
000000000000000*00000 X000000000000000O

xozX
n

0000n,0000000000000000%*0
ogd

Jo000doOo00o0ooOobOOoO0ooO00ooDoooDOoooDOooD 70000000
000000000000 00 145 cm, 148 cm, 152 c¢cm, 153 c¢cm, 155 cm,
157 cm, 161 cmO00 000000000 OCOD0OODOOCOOOOOOOOOOO
ooo

= (145 4 148 + 152 + 153 + 155 + 157 + 161) /7 = 140+ (5 + 8 + 12 + 13 +
15+174+21)/7=140+13=153000153 em 00000000000 DOODOO

1000000000000 000000000000000000 (arithmetic mean) 00000
oo

2 000000000000000000000000000000000000000

* 0000000000000 00000 X000 X00000000oo0oooooooo
000 XO00O0O0OOO0O X0000OoO000o00000000000000000000000
00000000000000000000 X60o00o0o0o0000000000000000
0000 XOo0oooooooooo
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O000ROOOOOOO0OO0OO0OO0OOOmean() O00O0O0O0O0OOO0OOODOOODOO
oooooooo

Cmean(c(145,148,152,153,155,157,161)) )

oobooooboboooboboooboooooboobooOoOoOoooOoobboOoOoDboboooon
oobooooboboooboboooobooooooobooboOoooboOoobboooobooboooo
000000 XO0O000O Omean(X) O sum(X)/length(X) DO0O0DO0 00O lengthQ)
0000000000000 000000sum() DOO0OO0OO

X <- c(145,148,152,153,155,157,161)

mean (X)

000000000D000000000000000000000 (median) 00
00 (mode) 0000000000000 0000000O0OOOOOOOOO
00000 (centrality) 000000000000000

00000000000000D000000@MOD00000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
000000000000000 X-X0000000000000000000
000z00000000000002z=X-X000000000000000
000000D000000000D00000000000000000000000
0000000D0000000000000000000D00000D0000000
0000000000000y, z= (X-X)=000000000000000
000000000 00000000000000000000000000000
00000000000000000000000000000000000000
0000000D0000000000000000000000000000000
0000000000000000000000000000*000000000
00000000000000000000000000000000000000
00000000000000000000000000D000000000000
0000000000000000000000000000000000000

*4outliersDDDDDDDDDDDDXQDDDDDDDDDDDDDDDDDDDDDDDDDD
O00000Ochisq.out.test()0cochran.test()Odixon.test(O0grubbs.test(O 0O 0DODO
gooooo
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322 000000 (weighted mean)

0000000000000 000000000000000000000000
O000000000000000000000000000 (grand mean) 00 O
000000000000000000000 ny,ng,...,n, 000000 k000
00 X;,X,,...X,0000000000000DDOD0O

ny +mng + ... +ng

X =

oo

00000 3000000000 TOEICOOOOODOOODO 440, 470, 6100
00000000000 300000000000000002000050000
30000000000000000O TOEICODOOOOOOOO

000000000 ROOOOOOOOOOO0OO3000000000000O0
OxOoooooooo0O000000000O0

P <- c(440,470,610)
N <- ¢(200,500,300)
sum (N*P) /sum (N)

3.2.3 00004 mediand

oboboomoobooooooooooooobooooboooobooOoboooobooooo
ooobooooboboooboboooobooooooOobooboOoboboOoobboOooDboboooon
ooo20o0000000000O0O0O000000OO0O0OOOOOOOOOOOOOO
0000000000000 00000 (sorting) 00000ODOOOOODOOO
0000000000000 000000000000000000000 central
tendency 00000000

oo

00000D00000000001, 4, 6,8, 40, 50, 58, 60, 620 ]

00000000000000000000000000 50000000 400
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0000000000000000000000000 400000000 5000
0000000000000 400000000 800000000000O00OO
000000000000 0000000000000000000%000000
0000000000 O00od0dd0d0000o0o0o0oo0oooooooo
00 rank sensitive 000000 00*0

ROODODOOOOOO0OO0OO00000000000000 median() 0000000
000000000000 00000Omedian(c(1,4,6,8,40,50,58,60,62)) O
oooooog

oo

000000000000000000 A=02,4,7,9,12,15, 1700000
00460 5400000 B=02,4,7,9,12, 15,17, 46, 54000000000
0ooo

RO

x <- c(2,4,7,9,12,15,17)
mean (x)

median(x)

y <- c(x,46,54)

mean (y)

median(y)

O0000AO0OOOO0OO0 94300000 90000BOO0O0ODO 18400000
120000000000000000000000000000O0O00C0COCOO
goboooooooooooooooooooooooooooooooooooo
ogobooooooOo0oOoOo0oOooOoooooooooooooo
oobooooobooooboooobbooooobooooboooboobooOoooobooo
oobooooboooboooobooooooboooo
oo

0000D000000000004, 6,9, 10, 11, 120

0000000000000 0000000000000000000000000000000
gooooo0ooO00ooooooO0ooooOoOOO0O0O0O0O0OO0O0O000O0O0O0OO0O0O0O0000O0
godooo0OoO0obOo0OoO0oO0O0ObOO0O0O00000000

00000000000 00000000000000 value sensitive 00000000
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oooo9b 1oooOooOooooooooobooooooooboobo Yo 1wo0oo
0095000000000000000000ROOOOOOOOOOOBOO

Cmedian(c(4,6,9,10,11,12)) )

oobooooboooobooboooobooooooboobooboOobooOoboOoboOoOoOooboooo
oboboooooooboooobocoobOobOoooobooOooboOooOoobOoobooon
0000000000000 600000000001 00000000000O00
00000000000000 9500000000009500000000000
oooooooocoooooooOoooooboboOooOoooboboOooOooooboOon
oooooobobooobobooooboboooooboooboobooobooobboobbbooo
0o0z2400000000040000000000000000O0O0O0O0O00O0O
ooboooboboooboboooboooOoooOobooOoOoboboOooDo

oo

0ooC=07,7,7,8,8,8,9,9,10,100000000000000D=07, 7,
7,8,8,8,8,89,0,10, 10000000000

Oo0oo0ooOoo0000tie00OO0O0O00OO0O0OOOOO0OODOOOOODOODOOOO
O00oooOoCcODbOoOooOoOo 80 8UOoUOULOOoUOnOoOoU8LOUUoOoUooog
O0SASOSPSSO0O00D000O00O0OODOOOMicrosoft Excel D ROODOOOO
O00000000000008000000O0O000D0O00OO00OO00000O0

000000000000000 8000000Grimm (1993) DOODODOOO
ooobooooboooboboooobooooooobooOoboOoooOo0oobbOooobobooon
00000000o0o0oo0o00000oo0 1000080000000DOO0OO0O00O 7.5
oogs0000oooooooooooOOoOoOoboooooooooooooooo
oooo

ocoomoooooooooooooooboboOooooOoboOooooooOoboboOooo
oooooooooOooooobocoOoooooboOoOoOoooOobocoOoOoOooooboOon
oobooooboboooboboooboboooo

ooo0b111222333000000001000000000000000
0000000000000000000.67 1.00 1.33 1.67 2.00 2.33 2.67 3.00 3.33
0000000000000 00ob0O0O0OLOD 1/300000DU0DUDO
1000000 0.671.001.3300000 10000000000000000

0000000000000 0000000000 LO0DO0O000O hoOoOoo
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000000 0000000000000 FOOOOOOODOO00O0O0O00F+1
00,F4+200, .., F+fm00 0000000 0L41/(2fm)*h, L+3/(2fm)*h, ...,
L+(2fm-1)/(2fm)*h 00 000000F4x000000L4(2x-1)/(2fm)*h O
000

00000 CcCO3008000000O0DO0O0OOoOoOoUoooO
40 50 60

7.67 8.00 8.33
00000500 600008170000

000 DOO0OO0O0O0me6.67 7.00 7.33 7.60 7.80 8.00 8.20 8.40 8.75 9.25 9.75
10.2500000000000 8.000 820000 8.10000MM1122330000
0000 10000000000000.751.251.752.252.753.2500000000
000000 175022500000 200000000000000000000
00000 truemedian() 0 ROOOOOOODOOOOOOOOOODO

\

truemedian <- function(X,h=1) {
YY <- rep(0,length(X))
XX <- table(X)
q <~ length(XX)
k <- 0
for (i in 1:q) {
L <- as.numeric(names(XX) [i])-h/2
for (j in 1:XX[[i]11) {
k <- k+1
YY[k] <- L+h*(2%j-1)/(2*XX[[1]])

}
median (YY)
# 0000000000 print(YY)

U Y,

ooooo 10000000000000000000000O0O0O0O0O0O00O00O0O0
oooooobooooboboooobooooooboobooOooOooobooobboooobbooon
ooooooo
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oooo oo gooo

45-49 1 76
40-44 2 75
35-39 3 73
30-34 6 70
25-29 8 64
20-24 17 56
15-19 26 39
10-14 11 13
5-9 2 2
0-4 0 0

O0o000000ooooooooOoO0000ooo0mogggg 7e0ooog
goooog (76+1)/2:38.5|:||:|DD*7D38.5DDDDDDDDDDDDDD
0015-190000000000000000000DO000O00O0O 1519000
O000O0OROOOOO FactorOO0OOOO0O00O0OOOC03-1.ROOOOOOOO
000dooo0ooDbOoobOO00obOoo0oOo:00D0o00bO00DOo0bDOoooDOoooag
0000000000 10:1x5-3 0 c(47,42,37,32,27,22,17,12,7,2) 0000
OO00Omedian() 000000 17000000000OOOO0O0O0O15-1900000
0000000000 500000000000 truemedian() OOOOOOOO
0*c03-1.RO00000000O0000D00000 1930000000

c03-1.R

CA <- 10:1%5-3

FRE <- ¢(1,2,3,6,8,17,26,11,2,0)

X <- c(rep(CA,FRE))

median (X)

truemedian(X,5)

ooooooboooobooooobooooooboobooboOoooboobooOobooobooOooo
ooboooooooooooooooooo

*7Grimm(1993)DD 760 20000 3800000000000000000000O0O0OOOO
0000000000 2000000000000000000COO0O0OO0O0O0 300090
00oo0o0oo0o0obDOoo0ObO00 10000 2000000000000000

*8 source("http://phi.med.gunma-u.ac. jp/msb/msb-funcs.R") 0000000
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3.24 0000 ModeO

ooboooobbooobbooooboobooooboooobooooboOobooOoOooobooaoo
000000000000 00000000C00O000000000000 20000
0000000000000000 (bimodal) 0000*000000000000
oobooooooooooooooo

ooboooobooooboobooooboooboobooboOobooboOobooOoboOoboOoOoOoboooo
oooooooooooOOOOOODOOOO300OO0O00OO00O0OO0O0O0O0O0000O0
02000000000000000000000000O0O00O0O0C0O0O00O0C0OO0
gooooboooooooOoooOoOoooooooooooooooooooooo
ooooooooooooooo

0000000000 DoOOO0OO0OO0OO0OO0DOOO0DOROOOOOOOOOODO
O00OtableO) 000000000 OOOsort(,dec=T) DO 0O0OOOOOOODOO
0000000000000 names() 000000000000 O0O00OOOOO [1]
goooooo 1oooooooObO0o0oOOOooooOoooooooooooo

D < c(7, 7,7, 8,8, 8,8, 8,9, 9, 10, 10)
names (sort (table (D) ,dec=T)) [1]

O00000000O0O0000O0OO00O00002000 sort(table(D),dec=T)
ooobooooobooooboooooboboooobooooboOoooboobooOoboooboooo

325 0000

00000(1)0000000000000D0O00O(2)ooooooooog
0000000000000 0000000(3) 0000000000000 DoOO
oooooo0ooOoOoooOooooooOoooooooooooooooooooo
oooo00O0000ooo(l)0boo0o0o0obOoObOOoO00OoooO(?)ooooooo
0000000000 00000*000000000000000000000

000000000000 00000000000000000000000000000000
oooo0ooo0ooo0o0oo0o0ooOo00oo00oo0O0n0 200000000000000000O
2000000000000000000O000000O00OD

*0Opoooo000000000000000000000000000000000000000
goo0oboooO0ooO0ooo0o0b0OO0O0OOO0O0O000COO0OO0O0O0O0OO0O0DOOOO0ODOO
0000000000000000000000000000O0O0O0O0O0O0OO0OOOOOOO0AO0
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gboboooboobooobooboooooooooboobobobobobobOobobo
gbobooboboobooboooboooooboobooboboboboboboOobobo
gboboboboobooboooboooooboobooboboboboboboOobobo
goooooobbooooboboooobooooooooooooboooDbobooo

000000 3000000000 (geometric mean) 00 00O (harmonic
mean) 0000000000000 DO0O0ODO0OOOODOODOOODOODOO
goooobooobooboobooboobooboo@Wobooboobooobo
goboboooobbooobboooobbooobooboboobbooooboboo
goboboooobbooobobboobobboobboooboboboooobboo
goooooooooooooooooboooobobOooxooobboooDbobboooD
0 exp(mean(log(X))) OO0 prod(X)~(1/length(X)) 0O0OODODODODOOO
00000000000 00000M 000000000 1/(mean(1/X)) OO0
gogo

goooooOoOo0oOo0oooooOoOoO0OO0O0Ooooooboooo
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3.3 00000 VariabilityD

0.2 0.3 0.4
|

probability density

0.1

0.0
|

oobooooboooboobooooboooooobooooboOoooooboOoOoooboooo
ooooooooooo 2000000000000 O0O0OOOOOOOOO0O0O0
ooooooooooooooOoOoboooooooooOo 10O0O0b0b0bOboOooooo
oo00ooo040000000000000000O000DO0O0O0O0O0O0OO0OCOO0
goboooboboooooooooooooooooooooooooooooooo
0000000 ROODODODOOO0OO0O0O0OO00OOO0O0curve() DOOODOODOOOO
oooooooooooooooooOobooobOObOO0O0OOx0oO0ODbOOOOOOOODn
OoooooooooOoooboOoOooOoooODOO000 1ty=1 00000010000
20000000add=TOOOOCOCOCOCOOOOOOOOOOOOOOOO
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curve (dnorm(x,0,1) ,-5,5,1ty=1,xlab="",ylab="probability density")
curve (dnorm(x,0,4),-5,5,1ty=2,add=T)

0000000000000000 (variability) 00 0000000000000
ooboooooooooooooooooooooboooboooomooooDooon
oobooooobboooo

3.3.1 00O (range)

ogobooooboooboboooobobooooboOoooboOooooobooOoOooobooOoo
00000000000000000100000000000000000G0O0O0O0
0000000000000017, 23,42, 44, 500000000000000000
oooos0-17r=3300000000000000000O0O0O0O0O0OOOOBOO
oooooobooooboobooooboooooboobooOoboOoobooboOoobboooobobbooon
ogoooooooooooo

oo

00000000000000002,4,5,7, 340

00034 -2=32000002,4,5,7000000000000000000
000034 000000000003200000000000000000000
ooboooobobooobobooobooooooobooOoboOobooOoobboooobooboooon
oobooooooooooooooooooooo

3.3.2 00000 (Inter-Quartile Range; IQR)

ooooooobooooboooooboboooooboooobooobooobooOoboooboooo
0000000000000 0004000000000000000 1/4,2/4,3/4
00000000000 (quartiley00001/40000 100003/40000 3
0000000000000 25% 0000 1000000000000 %000
0300000000MDm2/4000000000000000000O0OO0DOOOO
0000000 2000000000000

oo0ooo0oooO0OoooO0OoooOoOooOoooOooo 400000000000
oboooooooboooboobOoo0ooooobOOooboobobobOoOoOoboboDbOobO0Dn
ooooooooobooOoooooboooOoooooOoOOoOoOoOooooD 10000
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0300000000000 50000000000000000000 10000
02000003000000000 Q1,Q2,Q300000000000ROODO
fivenum() 0000000000000 DOOO0O0OOOO
0000000000000 000000000000000000000000
00 (quantile) 000000000000 0000000000O0 (percentile) O
00000000000 10000 2000000000 3000070000
O000O0O0OROODOOOOO X0 20000000000 8000000000
0000000 quantile(X,c(0.2,0.8)) 0000 quantile() J0O00DODOO
00O00000000000000000000 <(0,0.25,0.5,0.75,1) 0000
quantile(X) O fivenum(X) D00 O00O0O000O*20

000000000 300000 100000000000000000000
00700000000 20000000000000000000000000
00000000000 50%0000000000000000000000000
0000000000000000000000Q3-@Q100000000000
000000[QL,QE3)0000000000000000

333 OOO0OO (Semi Inter-Quartile Range; SIQR)

gooooooo 20000000000000000O00O0O0O0O0O0O0O0O00OO0
ooobooooboooboboooobooooooobooOoboOoooOo0oobbOooobobooon
oobooooboooobooooobooooobooooboboOooooo

oobooooboooboobooooooooboOoooboOoooOoboOobOoOoOobooOoo
ogbooooboooboooon

1100 5000000000000 0000000000000000000 X000OO0O0oO0O 1
0000 fivenum(X)[2] OO OO

*120gpo0000fivenun() 0000000000000 O0O0DO0ODOODOOODOOODOOODOOO
gooooopoOoooooOo0oOooooooOo0oO0O0O0oOOoOOO0OOO0O0OOOO0OOOO0BO0ODOO
O0000000Oquantile() D00O00000000900000000000000O0O SOO
O Type 70000fivenum() 0000000000 Type2000000000000000OO
quantile(X,type=2) 0000000 Hyndman, R. J. and Fan, Y. (1996) Sample quantiles
in statistical packages, American Statistician, 50: 361-365. 0 Type 80 00D O0DO0O
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e N
0000000000 00000000 2000000000000 50.5
58.0, 47.5, 53.0, 54.5, 61.0, 56.5, 65.5, 56.0, 53.0, 54.0, 56.0, 51.0, 59.0, 44.0,
53.0, 62.5, 55.0, 64.5, 55.0, 67.0, 70.5, 46.5, 63.0, 51.0, 44.5, 57.5, 64.0010 O
OO0 kg OOODODOOOOO0OOOOOOODOOOOOOOOOOOOODOO
ooOoo

J
0000 http://phi.med.gunma-u.ac. jp/msb/data/p02.txt 0000000
ooooooboboooboooobo
c03-2.R

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p02.txt")

Q <- fivenum(dat$wT)

IQR <- Q[4]1-Q[2]

SIQR <- IQR/2

cat("00000=",IQR," [",Q[2],",",Q[4],"10","00000=",SIQR, " \n")

3.3.4 0000 (mean deviation)

0000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000*80000000
00000000000000000

0000E=011, 12, 13, 14, 15, 16, 1700 F=05, 8, 11, 14, 17, 20, 230000
000000 4000F0E0OOOOOOOOOOOOOOOOOOOOOOO
0000O0OFOO0O0 EODOOOOOOOOOOOOOOOOOO 10000000
0000000000000 0000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
000 10000000000000000000000000000000000
000000000000000000

*BOpopoooo0o0000000000000000000000000000000000000
ooo
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000oooooo MDOO

X-X
wp DX =X
n

0000000XO00DO00O,00000000000000EO0OCOODO 1.710
FOOODOOOO S5.140000000000000 ROODOOOOOOOOOOO
O0abs(O OO0O0O0OODOODOOOOO

meandev <- function(X) {

mX <- mean(X)
sum(abs (X-mX) ) /length(X) }
meandev(c(11, 12, 13, 14, 15, 16, 17))
meandev(c(5, 8, 11, 14, 17, 20, 23))

ooooooboooobooooobooooooboobooboOoooboobooOobooobooOooo
ooobooooboooboooooboooOoooOoboooOoooOooboboooobooboooon
oooood

3.3.5 00O (variance)

oooooooooooOooboOoOooboooooOooOooOooboboOooOoboOoooOoon
O200000000000000000000000000000000000O0O
ooooooooooooovoo

v SE X

00o0o0oo*™000000 0000000000 Rn—-1000000000
(unbiased variance) 0 000000000000 O0OOOOOOOOOOOOOO
0000ooo0o00oooo V,,o00

n—1

O000OROODOOOOO XOOOOODOOvar(X) OOOOOOODOO

*40gopo000000000000000000000 V=Y X?/n—X?020000000
0000 200000000000000000000000000000000



64 030 00000

3.3.6 000D (standard deviation)

obobooboobooobodoboodoboobobooooobooooobooooobooon
oooooooooooOoOooOoOooboOoooOoOoOooOooOoOooboOoobocOoooOon
000000 OMean+2SD*P00000000 9% 00000000000000
000000000000ROOOOODOO XOOODOOoOooOOsax)yoooo
oooogd

3.3.7 000D (standard error) 000 OO (coefficient of variation)

ooooooooooOoooOoOooooOooooooooooooooooooo
000000000000 v/~000000000000000000000*¢00
000 (standard error; SE) 00O OO0O0DOOOSDO SEOOOOODOOOO
gbooboooooooooooooooooobooboobobobobOobOoDbo
0000000000 1000000000000 (coefficient of variation; C.V.) O
000000000D00000000000 %0000000000000000
gbobobobooboboooboooooooboobobobobobobobobo
gobooooooooooOoOoOoOoOoooooooooooooooooooooo
oooooooooon

34 OO0

oobooooboooboooooooOooobooooboOooooobooOoOoooooo
oobooooboboooboobooooboooooboOobooOoboOoboboOoobboOooboboOooo
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
ooboooobxzooboooobooooobooooboaoon

150000000 28D 000000000000 9750000000 1.959964...000000 2
go0ooo 2000000000000

16 o000 00000000 1/pn0000000R0000000000000O0000000
goobooooOoOoooooooboOo0o0ooon
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35 00

ROODODOOOOO0OO0OO0OO0O0O0O0O0OO0O0O0O0O0Otry(data()) 0000000
00000000000000 sleep0 000000000 2000000000
00000 group 000000000000 00O00O0O0000000 extradO0O0O
gooooooo 10000 2000000000000 O0O0O0O0O0OOOOOOO0
oobooooobog
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040

Juoogdootdd

41 O0OOOOOOO

oobooooboooboooooooOooobooooboOooooobooOoOoooooo
ooobooooboboooboboooobooooooOobooboOoboboOoobboOooDboboooon
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
oooboooobooooo

42 0000

1000 0000000000000000000 41000000000000
000 4-10000000000X00000 p=> 2 p(z)=167.99980X 00
00 ¢2=25.09521 000*0

0000 100000000000000000000000000000000
0000000D000000000000 10000000000000000000
0010000000000000000000000000000000 2000
O000p(x) 000000 1000000 X;00000020000000000
00000000000000100000000000000000000000

*1gpgoo0oD 410 ROODDODODOODOX <- rnorm(1000000,168,5) O 0O O OO
OO0 18000000 5000000 100000000000 0000000OGO
god0o0doOooDOooDOoOooOoUoU0oDbUO0ObODO0obDUO0oDUooODUoDOoUoDUOobDUOoobDboooOoao
000000000000 rmorm() DO OO ODDODODDODODODODODOODOOOODODO
RNGkind ("Mersenne-Twister" ,normal.kind="Inversion"); set.seed(1) 0O DO OO0
gooooag
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04-1. 000000000000000000 0000 «2000

00 (cm) (x) 0o 00000 p(x)) z - p(z) (x — )2 - p(x)
144 2 0.000002 0.000288 1.151979e—03
145 3 0.000003 0.000435 1.586970e—03
146 6 0.000006 0.000876 2.903942e—03
147 17 0.000017 0.002499 7.496844¢—03
148 19 0.000019 0.002812 7.599834e—03
149 56 0.000056 0.008344 2.021553e—02
150 125 0.000125 0.018750 4.049901e—02
151 219 0.000219 0.033069 6.328937e—02
152 463 0.000463 0.070376 1.185248e—01
153 915 0.000915 0.139995 2.058690e—01
154 1609 0.001609 0.247786 3.153541e—01
155 2649 0.002649 0.410595 4.476659e—01
156 4550 0.004550 0.709800 6.551761e—01
157 7214 0.007214 1.132598 8.728592e¢—01
158 11005 0.011005 1.738790 1.100452e+00
159 16081 0.016081 2.556879 1.302498e+00
160 22098 0.022098 3.535680 1.414195e+4-00
161 29903 0.029903 4.814383 1.465155e+4-00
162 39048 0.039048 6.325776 1.405625¢+00
163 48312 0.048312 7.874856 1.207694e4-00
164 57703 0.057703 9.463292 9.231469e—01
165 66639 0.066639 10.995435 5.996634e—01
166 73332 0.073332 12.173112 2.932638e—01
167 78051 0.078051 13.034517 7.801682e—02
168 79829 0.079829 13.411272 3.828679e¢—09
169 77866 0.077866 13.159354 7.790011e—02
170 73767 0.073767 12.540390 2.951326e—01
171 66321 0.066321 11.340891 5.969761e—01
172 57993 0.057993 9.974796 9.279896e—01
173 48410 0.048410 8.374930 1.210356e+-00
174 39081 0.039081 6.800094 1.407019e400
175 29967 0.029967 5.244225 1.468475e+00
176 22055 0.022055 3.881680 1.411597e+4-00
177 15810 0.015810 2.798370 1.280672e+00
178 10875 0.010875 1.935750 1.087548e+4-00
179 7309 0.007309 1.308311 8.844242e—01
180 4596 0.004596 0.827280 6.618482e—01
181 2726 0.002726 0.493406 4.607095e—01
182 1519 0.001519 0.276458 2.977333e—01
183 939 0.000939 0.171837 2.112812e—-01
184 462 0.000462 0.085008 1.182752e—01
185 224 0.000224 0.041440 6.473767e—02
186 128 0.000128 0.023808 4.147301e—02
187 50 0.000050 0.009350 1.805042e—02
188 31 0.000031 0.005828 1.240027e—02
189 14 0.000014 0.002646 6.174129e—03
190 5 0.000005 0.000950 2.420048e—-03
191 4 0.000004 0.000764 2.116040e—03
oo 1000000 1.00 pn = 167.9998 o2 = 25.09521

o = 5.009512
°
e
S
2] .
° L
x
B
e
#
3]
S
8]
s
gl
S

148 152156 160 164 168 172176180 184 188
B&(cm)
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000000000001 00000000000000000000000000
000000000000000000001000000000000000000
1000000000000000000000M100000000000000
0000000000 0p(z) 0000000000001 000000000000
0000000000000200000000000000000 p(z)000MO
00000000000000000000000000000000000000
000000000000000000000000000000000

0001000000000 X00X=4(X1+Xz+..+X0)0000000
0ooo

B(X) = 5 (B(X) + B(X) + .+ B(X10)) = 7 (44 i+ -t) = 75 10 =

bcobooooooooooooooooooo
1

V(X)=V({ T (X1 4+ X+ ... X10)})
1
= (E)z{V(Xﬂ +V(X2) + ... + V(X10)}
= ()00 ok 0?) = ()7 1007

10 10

_a

T 10

00000000000000000
oo = o
X m

ooboooobobooobobooooboooOoooobooOoboOobooOoOoobboOoobooboooon
oobooooboboooboboooboooooboooobooooOoobboooobooboooon
goboooobobooobobooooboobooooboobooboobooOoobobooooboboooon
gobooooooooooOoOoOoOoOoooooooooooooooooooooo
oobooooooooooooooogo
ooobooooboooobooooboboooobooboooooboo
110

VX) =5 > - %)
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000000 40000 (000000X01000 X;000000000000
gbooo0obOo 00b0obooo0o0obO0ObDY90bO0ObOobOUOOoDbOobDOo10ODO
o000 9Y0oUooU0oUD vODUOoUoOUoOUOUDUOoDODODODOO0OmOoD
000O0000000000000*0000000000000000000000
ROOOOODODOOOOOOsample() D00 Oreplace=00000000O0O0O
0000000000000 00000 Msample) OO0OO0O0OD0OOODOOO
goodoboooooboooboooobooobooboooooooobooooo
cO4-1.RO0O000O0O0O0O0O0O HTOODODDOOOOONMUOOODODDOOOOOO
OO0rep(HT,NUM) OOOO HTO NUMOOOOOOOOOOOODO XOOOOOO
000000000ORNGkind("Mersenne-Twister" ,normal .kind="Inversion")
goboboobooboooooooooooooooooboobobobobOobobDa
set.seed(1) U0 DO0DO00D0DOO0O0ODOOOO0OODODOOOODOOOOOOOOOOOODOO
00 layout(c(1,2,3,4)) 000000000000 0O0O0O0OO0 4000000
0400 pistQO ODO0O0O0D0OO0O0 4000000 XO00O 10001000 0100000
oooo00o0Ooo0OooOOoO0O0oO0b00bO0bO0obOoDbDOoDOobDOobOUOODUooOUooboo
goooouoouoooo siodoodoooooooooUUUUUg o
0200000000000000000D000O0DOO00OODOO
KCO4_1'R ~

HT <- 144:191

NUM <- ¢(2,3,6,17,19,56,125,219,463,915,1609,2649,4550,7214,11005,
16081,22098,29903,39048,48312,57703,66639,73332,78051,79829,77866,
73767,66321,57993,48410,39081, 29967, 22055, 15810, 10875, 7309, 4596,
2726,1519,939,462,224,128,50,31,14,5,4)

X <- rep(HT,NUM)

RNGkind ("Mersenne-Twister" ,normal.kind="Inversion")

set.seed (1)

layout(c(1,2,3,4))

hist(s10 <- sample(X,10))

hist(s100 <- sample(X,100))

hist(s1000 <- sample(X,1000))

hist(s10000 <- sample(X,10000))

print (c(mean(s10) ,mean(s100) ,mean(s1000) ,mean(s10000)))

print(c(sd(s10),sd(s100),sd(s1000),sd(s10000)))

*20000000000000000000000000000000
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Histogram of s10 <- sample(X, 10)

160 165 170 175 180
510 < sample (X, 10)

Histogram of 100 <- sample(X, 100)

155 160 165 170 175 180
5100 <- sample (X, 100)

Histogram of s1000 <- sample (X, 1000)

T T 1
185 160 165 170 175 180 185

51000 <~ sample (X, 1000)

Histogram of 10000 <- sample(X, 10000)

JH—W

155 160 165 170 115 180 185
510000 <~ sample (X, 10000)

Frequency
0500 1500
[

oobooooboooboobooooboooooobooooboOoooooboOoOoooboooo
oooooooooooooboooOoo@moboooooooboooooobooooon
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
00000000000000000 100000000000000O0G0O00O0O0O0
0000000000000 D00000for () { }¥O0O(C)DODOODODODOODO
ooo0o{ yoooooo0oooooo0oooooooooROOOOOOOO
00000000000 000000000000o0ooUoo for000O0oOO
obboooooboboooooooboOooboOooUobboOobOobOoOoOobOoOoboOoon
ooooowoeoboboobooooooooobooooooooooboboobooooo
gooooo1woooooovouwoooooooooomoooooooo
OOfor(i in 1:1000) 000010 100 100000 1000000000000
OO0 for 00000000000 OOODO 1000000000000DOO s1000
0000000000000 mio00O0O0OO0OO0OOO0OOO0OOOOOOOOO VA
OuwllOooooOoOfor000000000000000D0 layout(e(1,2)) 00
0000000000 2000000000 200 nist()000000000OOO
00000000000 0000 1000000000000000000O000O0O00
ooooo
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. c04-2.R ~N

HT <- 144:191
NUM <- ¢(2,3,6,17,19,56,125,219,463,915,1609,2649,4550,7214,11005,
16081,22098,29903,39048,48312,57703,66639,73332,78051,79829,77866,
73767,66321,57993,48410,39081,29967,22055,15810,10875,7309,4596,
2726,1519,939,462,224,128,50,31,14,5,4)
X <- rep(HT,NUM)
RNGkind ("Mersenne-Twister" ,normal.kind="Inversion")
set.seed (1)
V <- rep(0,1000)
UV <- rep(0,1000)
for (i in 1:1000) {
s10 <- sample(X,10)
m10 <- mean(s10)
V[i] <- sum((s10-m10)~2)/10
UV[i] <- sum((s10-m10)~2)/9
}
layout(c(1,2))
hist(V,main="000 10000000000 ", x1im=c(0,80))
hist(UV,main="000 1000000000000 ",x1im=c(0,80))
print (c(mean(V) ,mean(UV)))

J
ooooooooooooOoOoOoOoooOooooooooooooooooooo

gobooooooooooOoOoOoOoOoooooooooooooooooooooo

boooooooooooooooooooooo

P4 ZOREOFHDS
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A XN0OBRFOF RS BOSH
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43 0O0OOOOO

oobooooboooboboooobooooboOoooboOoooboOobOoOoobooOoOoo
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
00000000000000000000000 X000O00000000 0O
00000000000 p00000 ¢/y/A000000000*00000000
oooogd

0000000000RODOOO0OOOO0O0OOO0O0OCOOO0O0OODOO OO0 1000
Ooooooooosooonononooooooboobcoboooooonon 50000
ogoboooobobooobobooobooooooOobooooooOooboboooobooOooon
ooooooooooooo

(‘ c04-3.R N

X <- c(runif(5000,0,100),rnorm(5000,100,10))

tsd <- function(X) { sqrt(var(X)*(length(X)-1)/length(X)) }
layout (matrix(c(1,3,2,4),2,2))

hist (X,x1im=c(0,140),freq=F,main="0000")

Z5 <- rep(0,1000)

for (i in 1:1000) { Z5[i] <- mean(sample(X,5)) }
hist(Z5,x1lim=c(0,140) ,freq=F)

Y2 <- dnorm(0:140,mean(X),tsd(X)/sqrt(5))
lines(0:140,Y2,col="red")

230 <- rep(0,1000)

for (i in 1:1000) { Z30[i] <- mean(sample(X,30)) }
hist (Z30,x1im=c(0,140) ,freq=F)

Y3 <- dnorm(0:140,mean(X),tsd(X)/sqrt(30))
lines(0:140,Y3,col="red")

2200 <- rep(0,1000)

for (i in 1:1000) { Z200[i] <- mean(sample(X,200)) }
hist(Z200,x1im=c(0,140) ,freq=F)

Y4 <- dnorm(0:140,mean(X),tsd(X)/sqrt(200))
lines(0:140,Y4,col="red")

J

layout(matrix(c(1,3,2,4),2,2)) 0000000000 20 20000001
000000003 00000000200000000400000000000

*,000000000000000000
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00000000000000000000 nist() 000000 O0O00O000OO0OO
lines() O dnorm() OO00O0O0O0DO0O0O0O0O0O0OOcol="red"0 0000000
oo
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oooooooooobooobooooooOooOoOoOoOoOoO0OOobOOooD poOooo
009%%0000000000000000009%% 0000000000000
oooooooooooo

000000000000 0X00000000000000 9% 000000
0000000000000000000000000000000D0 25%00
oboboobooboobooooboobooooooOoobOOob pOOOOOOOODOOD
O000000XO00OO0000000000000 1.96001.9600000000
97.5% 000000000000000000O00O0

o - o
P —1.96— < X 1.96—) = 0.95
r(p Tn <X <p+ \/ﬁ)

ooboooobooooboooo

— o = g
Pr(X —1.96— X +1.96—
r( \/ﬁ<,u< + NG

0000000000000 00DD000O00Dsd(X)0DDOODOOOOOwO

95% 000000X —1.96sd(X)//n00 X +1.96sd(X)//n000000

00000000000 00000 e 0000 sd(X)ODOOODODODOODOOOO

) =0.95



44 0000 75

0000D00000000000sd(X)000000000 t+0000000
X—pu

sd(X)/v/n

0000 n-10¢0000000000¢t000 25% 000 97.5% 0000

95% 00000000000000000000000000000000000
000 ¢t0000000000000000000000000000000000
ooo

0000000000 n00000 X000OO0O0O0000O sd(X)Oooooo

00 9%% 000000 ~
X — t0_025Sd(X)/\/ﬁ

oo
X + to.0255d(X)/v/n

O000000OROODOONn—-10¢00097.5%00000000 qt(0.975,n-1)
O000RODOOOOOOOOOOO c04-1.RO0000 XOOOOOO 10000
000sl00000000 9%% 0000000000000000DO0O0O0O0O0OD0O

e c04-4.R ~

HT <- 144:191

NUM <- ¢(2,3,6,17,19,56,125,219,463,915,1609,2649,4550,7214,11005,
16081,22098,29903,39048,48312,57703,66639,73332,78051,79829,77866,
73767,66321,57993,48410,39081,29967,22055,15810,10875,7309,4596,
2726,1519,939,462,224,128,50,31,14,5,4)

X <- rep(HT,NUM)

RNGkind ("Mersenne-Twister" ,normal.kind="Inversion")

set.seed(1)

s100 <- sample(X,100)

barX <- mean(s100)

sdX <- sd(s100)

t975 <- qt(0.975,1length(s100)-1)

rootn <- sqrt(length(s100))

print(barX - t975%sdX/rootn)

print (barX + t975*sdX/rootn)

J

00000DD0D9%%0000000000000](167.47,169.19) 0000000
000000000000 o0oooooROOOOOO0OO0DOOOODOOOOOODOO
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0000000000 00000000000000000 XO0OO0OOOt.test(X)
ooobooooooboooooooobobooooboooooboOoobooOoooobooboooo
00000000000000000 9%%00000000000t.test(s100)
0000000000000 %% 000000000000000000000
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0000000000000 1000X0000000000000000sd(X)0
000000000 X;-X0000Onn-100000000000000000
000 nO0000O0OO00OO0O0O0O0,—-10000000C00000O0O0COOOO
ooooooboboooboboooobooooooboooboobooobooobbooobbooo
gooooooooooooooooUOooOodOn—10000

ooboooobooobooboooobooooobooooboOooobooboOoOoooboooo
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00000000000000D00000010000000 S000 FOOO
0000000000000000000000PK(S)=p,Pr(F)=10p=¢00
00000000000000D000000000000000000000000
00 FOOO SO0000000000
00000000000000000050000000000000000000
001000000000000000000 S0000000MMO00 FOOOO
000MO0000000000000000%0

1000000000 10000000000000000000000000000000000
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00000000 n0OOO0OO0SOOO0OO0 kKODOOOOOOO
Pr(X:k):nC’kpkq"_k

0000,C, 00000000 n000000 kOODODODDODOODOODOOOOO
0002000000000 000000000 XUOM20000ooooooOd
X ~B(n,p) OO0 E(X)=np, V(X)=npgDDOOO

53 2000000000000

000000 oOpD0O000o0oOoOoO0 200000000000000000
00o0* 00 nO (n = 4,10,20,50) 0000000100 40000000
000 1000000000000 o0oDbOobOooDOol1ooooooOo 1
00 4000000000000000 02000000 0200000000
o000 1000000000000 ROoDOoOoOooDoOOoOoooooooo
O00000 times <- function(n) {3000 UCOOUOOOOOO nOOOO
oododoo400000000000000DODDO0DO0D0OO0ODODODOOOOD
ifelse(condition,resl,res2) O0Ocondition 0000 res1 00000 res20
0do0bOooooboooboooooboooboooooog
KCOE)-]..R ~

times <- function(n) {

dice <- as.integer(runif(n,1,21))
hit <- sum(ifelse(dice<5,1,0))
return(hit)}

a <- c(4,10,20,50)

layout (matrix(1:4,nr=2))

for (i in 1:4) {
y <= 1:1000
for (k in 1:1000) { y[k] <- times(a[il) }
barplot (table(y) ,main=paste("n=",a[i]))

2 00000000000000000000000000 90 20000000000000000
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54 200000000
000000 ,00000000000000
Pr(X = k) = ,,C,0.250.8"*

O0O0O0ORODO choose(n,k) D nO00000 k000000000000 O0ODOO
000000000000 000ROOOOOOOOOOOO0OO0OO0O0

e c05-2.R N

layout (matrix(1:4,nr=2))
a <- c(4,10,20,50)
for (i in 1:4) {
n <- afli]
k <-0
chk <- 1:(n+1)
names (chk) <- 0:n
while (k <= n) {
chk[k+1] <- choose(n,k)*(0.2°k)*(0.8" (n-k))
k <- k+1

}
barplot (chk,main=paste("n=",n))

U Y

0000000000 dnorm() 0 at(O O00OROODOOOOODOOOOODODO
000000 choose(n,k)*(0.2"k)*(0.8"(n-k)) O dbinom(k,n,0.2) 0O 00O
oboboooboooooooooooooooooboobo0obobobobOobooDo
00000000 (probability density function) 00 0000000000000
gbobooobooboooboobooooooobooboobobobobobobOoboobo
0000000000000 0DO0000DO0O0DoOOOO (probability generating
function) 00000000000 OOO

20000000000CO0O0ODOO0ODOOCOOOOODO0ODODOOOOODOO
oO0bOo00op00oO00oO0o0oOoOoooOoooD20000000000000O
00000®™000000000000O0+000000000000ooooooo

¥ O0ooo00000D000000000000000000000000000000000000
000o0000000o00O000O0o0O000O000000000D0000O0D
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n000000000002000 B(n,p)000 Pr(X=np+d) 000000

1 d?

= exp|-——

V2mnpq P 2npq
0do0o0o0oooboooboo0dnU0O00O0OOO0DO0O0ODODOOODODOOOD

oy 1 (x — p)?

Pr(X =z) = s exp (—T

DDDDDDDDDDDDDDDDDDDDN(M,UQ)DDDD
z=(r—p)/c00000O

Pr(Z = 2) = \/% exp (%Z)

000000000000 0000OON(o,))OOoOoDo
00000D00O0OROOOOOOOOOOOOOODO [-5,5)00000000
00000curve(dnorm(x),-5,5) 000000 curve() OO0 OOOODOO
00o0o00ooooooo0 x0b0o0oob0o0ooDboooobOoooobOoooooo
0000000000 o0o0o0ooo00o00o0o0DbD0ddDadd=TOOODODOO0O
0dobooooboooboooobooobooooboboooboboooobooo
0000 100b00 2000000000000 0O00O0DODO0ODOOOODOODOO
curve (dnorm(x,1,2) ,add=T,col="red",1ty=2) 00O O0O0OO
0000000 97.5% 00000000000000000 0975000000
0000000000000 0000000000000O0gnorm(0.975) 0000
0000-1960000000000000000Opnorm(-1.96) 0000000

ROOOODOOOOOO fableJOOOOOOOOOOOOOOOOO fableO
0000000000000 000mOoooooon dfableQUOOOODO
O pfable(O0O 00000 gfable() 0000000000000 0OO0ONnDO
00000000 Orfable(n) 0000
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X,,X,,..,X, 0000000000000 N(0,1)000000

V= Z X;?
i=1

000000000 % 000000000000000000000000000

et =g (5)" e (5)

oooo
00000000 oooorooooo0ooo0on0 «000oo

INa) = /000 2 Lexp (—z)dz

00000000 00000 M(a)=(a—1)!0000

x?0000000000 E(z)=v000000 V(z)=20000000 10
X2DDD [0,10)0000000000000 curve(dchisq(x,1),0,10) 0000
oooDo00oO0oU0ooUoDoU0obDOoU0ooOooooooO 20 XQDDEIEIDDEI
0000000000 curve(dchisq(x,2),0,10,add=T,col="red",1ty=2) 00O
goood

ooo10o X2DDD 95% 0000000qchisq(0.95,1) 00000000O3.84
0000000000000 000Opchisq(3.84,1) 0000000
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0000000000000 U 00000 w0 X200 x2(v)0000000V

ooooooboooobooo
T=U/\V/v

goooooooooOoOooOooOoOo tooooooooooooooo

v 2\ —(v+1)/2
() = I'((v+1)/2) < t)
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godobooooboooboooboboooboboooboboooboboooobooa
00000 (Gosset WS)DOUODOODOOODOOO

000 200 t000000000OO [—5,5]DDDDDDDDDDDDD
curve(dt(x,20),-5,56) 00000000000 O0OO0OOOOODOODOOOOO
0000000000000 bOO0o0Do0obOOooDOooobOOoobOOooDoOooboOoooon
curve (dnorm(x) ,-5,5,add=T,col="red",1ty=2) 0O 00000

000000200 t000 97.5%0000000qt(0.975,200) 00000000
200000000000000000pt(2,200 0000000
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V0 V,0000000000000 »Owd x20000000000000
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goooooood (m,»n) O FOOOOODDFOODODOODOODO

r 1 I v1/2 F(u1/2)71
-5 () arame

0000000B(e,)) 000000000 ODDODOOOODOD

[()T(5)

B )

00000000 (n,,)0 FOOO F(u,rb) 00000000 100a% OO
Fo(r1,1»r) 0000RODO 1000010900 200000140 FOOOOOO
0000 [0,1000000000000000 curve(df(x,9,19),0,10) 00000
00000 FOOO 95% 0000 5% 0000000 qf(0.95,9,19) 000000
0000 FOOOOOOOOOS50000000000000000 p£(5,9,19)
oooooO0o
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000000000000 0000000000000000000000000
gooobooooooboU0boOobDOobOoOoboobDOoobOomoooooboOooD
gobooobooooobooooboooboooooboobooboooobooboOoD
OO (statistically significant difference) 0000000000000 DOOOOO
gboboooooooooooooooooooboobo0obobobobOoboDbo
gboboooooooooooooooooooooboobobobobOoboDbo
gbobooobooboooboobooooomobobobooboobooooooomoog
gbobooboboobobooooooobooboobobobobobobobobo
oo

goooooobooobooooboooobooboobooboOoooboobooOooobobooo
ooooooobbooobobooooboboooooobooOoboOooboobbooDbbbooo
1000000 0000DOO00O0DO00DO00ODO0ODODO0ODOODOOODOOOD
00000000000000000000000000 200000080000
ooooO0oloo0o 2000000000000 DOOO0Mm

gbobobobobobobobooboobooboobooboooboobobooboon
gbobobobooboboobooooooooobobobobobobOoboOobo
ooooooboboobooooDo

510 ODOOOoOoOoOogoo

2000000 X0DYOOOOooooooooooooooooooooooo
ooooDboO0Oooooo0@™moobboboooooD wxpwy OODDOOOODDOOOO
px =mean(X)=> X/n0 py =mean(Y)=>Y/n 0000

00000000000 Hy:pux=wuw O0OOODOOOOODOOOOOOOOOO
00000000000H; tux #py 0000H, 000000 px > py 00
Ouux <uwy0O0O000000000000¢000000000000000000
00000000t 000000000000000000000000 5%000
000000000000000¢: 000+¢00000 25%0000000000
ty 00D ¢t00000 25% 00000 97.5%0000000000000000¢
gbobooboboobooboooooooboobobobobobobobOobobo
000000t 0¢t0000000%020000000000000000000

* 000000000000 00000000000000000000000000000000
0o00oDoDoooonD 5% 0 1%000000000
*» 0000000000 toc0000000000000000¢00000000 to000000
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0000000000000000 X0YO0Oooooooooooooooo
000000XO000YOOOOOOOOOOO0O000000000000000
000 Hy:px >puy 00000000 Hy :px <py 0000000000¢ 0
0000000000000000000 5%0000000000000¢%0 t0
0000 5% 00000 9% 0000000000000000R0O0O0O0O000
000000000000000000000000000000 t.test() 000
000000000000

511 OO0OD0OODODOOO

ooooooooooooOoOooOoooOooooooooooooooooooo
ogoooooooooooOoooooooooooooooooooooooooo
0000000000000 0000000D00000D000 Shapiro-Wilk 0 00O
gooooooooOoooooo

5.11.1 Shapiro-Wilk O OO

Shapiro-Wikk 000000 DO0OO0O0O0O0O0000%; = (X;—u)/c00000
Z;000000X00000000000000 N(0,1)0000000000
0000O0c() = E[Z(i)],di; = Cov(Z(i),Z(j)) 0000000000000
OMX(1) <X(2) << X(n)O ¢(1),¢2),..c(n) 0000000000000
000000000000000 c0000000000 46 =Y ,aX(#) 0
S2=%" (X;,—X)’00000W =(k6%)/5?000000000000000
ooooko Y, (ke;)?=100000000

ROD shapiro.test() 000000000000 00O000000O0 XOOO
00O00000000000o0O00DoOOo0ooOooooon

[shapiro .test (X) )

000000000 XO0000000o0o000o0000ROOO0000 length(X)O
oo3005000000000000000200000000000000000
ooo0oooowOoooooooooooooooooooooooobooooo
goooo0o0o0oO0oO0o0o0o0oooOoUoUUooooooooooooooooo

010000000RO0O 1-pt(to, DO0O)HO
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oo

4 R

http://phi.med.gunma-u.ac.jp/msb/data/p02.txt 0000000000

000000000000 0000000000000O0OUOShapiro-Wilk
ooooooo

y

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p02.txt")
shapiro.test (dat$wT)

/

O0000W = 0.9799, p-value = 0.84730000000ROOO0O0O0OO0O
o0ob0o0obo0obO0o0b0b0b p-valueOJOOOOOOOOODOODO p-value
Oooooooooooboboos4r3p o000 ooooobooboobOoOooo
ooboooobobooobobooooboooOoooOobooOoOoOobooOoOoobboOooobooboooon
ooboooobobooobobooobooooooobooboOoooOoobboooobooooon
ogooogo

5112 GearyO QOO

ooooooobooooboooooboboooooboooobooobooobooOoboooboooo
00000000000D0D0D00000 (Geary) DODO0OO0OO0DODDODOOOOOO
000000DRODOOOOOOODOOOOODO*O00000000000000
00000000000000000*0

*6 moments 000000000000 geary() 000 Geary 00D O00 GOOOOOOOOD
0000000000000D0 bonett.test() DD OOOOMOODO 2/r00000000
0000000 Bonett-Seler 00 0000000000000 000 GearyOOOODDODODO
oooooooooo

*Ooooooooo (1981) 00000000000 MO0DO000000O0DOO00O0O000O
0000000000 f(x)0 10000 FOOOOODODDOOOOODDOD 000D

Vor = / |z|* f(z)dx

0000000000000 00Ob00 FOOODOOODOO «0000000000O000DOOO

Lot :/ 2" f(x)dx

gooooooo -r0000O00OCOCOO0OO0O, 000000000000

Va :/ |z — py|* f(2)dz
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JdoDoddooodooobDoO0dbO0oDooooo1b000D00o0 v
gooooooooooooooobobo 2000000 00DO0 ywOODOOOD
000o000d0o0o00oo0o0oo0oooooooog Gog
Z?:1|Xi_X‘

”Z?ﬂ (Xi_X)2

G =

000000 GO GearyOOODOODDOOOOUOGUOOOOOOO He:DOO
0XO0OOOoooooooooooooooooooooooooooooooo
O00000o0o0oUo0ooUo0otooo0ooU0o0oo0 GegoOooo
000000000y 0O0O0O000O0O0O0O0O0O00uw, 00000000 100a% 00
OoonO0000000000

(ain) \F+ ER!
a;n) =4l — + Uy - ——
gl s TN

O0000000000000000ROO0D0O00000O0O0O0OO0O0ooO*®o
Geary UOOOUOOOOODODOO geary.test() DO OOO

~

geary.test <- function(X) {
m.X <- mean(X)
1.X <- length(X)
G <- sum(abs(X-m.X))/sqrt(1l.X*sum((X-m.X)"2))
p <- (1-pnorm((G-sqrt(2/pi))/sqrt(1-3/pi)*sqrt(1.X)))*2
cat("Geary’s test for normality:\n G=",G," / p=",p,"\n")
C J
000000000000 nist(X) 0O0O0OOO0OO0OO0O0OOOOqggnorm(X) O OOO
0000000000000 000000oOo0oU00DOOdUqggnoerm(X) OODO OO
oobooxtoooooboooooooooooooooobooOooboooooooD
oooooopbboooboboooon

gooooo0o00 «O00O0O0O00O0000000

pir = / (& — 1) f(w)da

—00
00000000 r00D000000DOOD
* 00000 http://phi.med.gunma-u.ac.jp/msb/msb-funcs.ROOO D000
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0000000000000 0D0O0 (wt)DOODODODOODOOOOOOODOOO
oooooooooOooOooOOOOOOOOOOOMASSOOOOODODODOOOOOOOO
00000000 library(MASS) 00O O0OOODODOOODOOOOOODOOOOO
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0000000D0D00000000D000000000000000000000
OD00O0OROODOOD 9% 0000000000000000000000000
0000000000000 000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
000000000000000000000000000

000000 X0O0000O0O0O00 E(X)=Y",X;/n0000000 ux
0000000000 VxDOO0OOODOo0Oo

[E(X) — px|

\/Vx/’n

0000D0000000000000000*0Vx 0000000000000

zZ0 =

*100000000000000000000005%000000000000000 95%000
0000000000000000000D00 9%% 00000 000000000M@MO0O000
goo0boOo0o0o0oO0o00O000D0O0O00O0OO0O0O000COOO0O0OO0OO0OOO0O0DOOOO0OCOOAO0
000000000000000000000000000000000O0O0O0O0O0OOOOOAO0
000000000000000000000000000000000O0O0O0OO0OOOOOAO0
gooooooo

*ZDDDDE(X)DDDDD px00000 /Vx/nO0000000000D0D0000D0DDO0O0O
gooooooooo
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oo
Sx =Y (Xi— E(X))*/(n—1) = var(X)
goood
1 = [E(X) — px]|
\/Sx/n

0000 »n—-10t¢t0000000000O0O0O0OO0O0OO0OOO0OODODODOOOOO
O00doooooooooooooobooooooobooooooomooogdty
0000 n—-10t00025%00000000975% 0000000000000
05%000000000000000000000000000000DOOO000
O000000o000oo0ooo0ooo0ooOo0o0ooo00oooOoooo0ooooboooooon
0JdddoooObOoOo0o00O0toodooooooobobobooooooooooOty
000000000000 10000000000 2000000000
0400000000000 00000O000O0000O0OO0LODUOOUOOOOOOO
000 9%% 0000000000000 0000 n00000D0O0OOOOOODOO
n—10¢t000975% 000000000000000000000O0OO0OO0O0O
goooooooooooooo
ROODOOODOO0O0O0O0O0Ot.test) 00000000 OOOOOOOOOOOO
gooO0oXoooo 1200000000000 00O000O00O0O0DOODODOOOOO
000000D0¢t.test(X,mu=120) 000 OX <- rnorm(100,120,10) 0O O OO
X <- rnorm(100,110,10) OO00O00OO0OO0O0OODOOOOOOOOO
ot A
00 1000000000000 0Ob50-59 000000 BMIOBody Mass
IndexO0OOODOO0OO0ODDODOOOOOOODDOODODODOOOOODDODODDOO
000 23.6000000000 A00O0O0O0OOOOO0OSB0-59000 2480
OO0 BMIO 246000000000 860000000AODOS0-59000
OBMIOOOOODOOODODODOOOOUOOOOODODOODOUOOO J

000000000 O000000000000 Ok = |24.6—23.6|/,/8.6/248 =
537000000 2470 t000 53700000000000000000000

* 0000000000 0000 XO0000OO0000o00000000000000000000
go0ooooo0ooOooo0oOoOooooo wyOOoOooOttoooo0ooooo0oo0 1000000
0000000000009 % 00000 %% 000000000000000000000O0O
ooo
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ooooo0O0O0 2000000000000000ROOOOOOOOOOOO
oobooooboooooooooooooo

t0 <- (24.6-23.6)/sqrt(8.6/248)
2% (1-pt (t0,247))

6.2 00200000000000
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ogo

621 OO0O0OOODOOOOVOODOOODOOO

0000000000000000000200000000000000000
00000000000000% =|EX) - E(Y)|//V/nx +V/ny 00000
0000000000000000

622 DO00O0OO0O0ODOOOOOOOOOODO

1. FOOO20000000000000000000000000G0000
X0 YOOODODO SX<-var(X) O Sy<-var(Y) 00O OOOOOOODO
00000000 sX>sYOOODODDOOOOODO FOo-SX/8YD O 1000
DFX<-length(X)-100 2000 DFY<-length(Y)-10 FOOOOOOOO
oooooO0OO0O0000000O000oooooo0O0 FOOODOOOOOO
OMooooo 1-pf(FO,DFX,DFY) DO 0OODOODOOFOOOODOO
OO0O0DOvar.test(X,Y) 00000000000 00000O0OOOO*O
0001000000 Z0 10000000 cO0000OCcO 2000 200
gobooboooboobooobooooboooobooooooobooOoDbobooo

*OROODODODODODODDOOOOOO 3000M000000R0OO0O0O0O0OO0N0N00O0N000X
00000000 yoooOooOoooOooOoooOoooooooooomooooooooooo
gooooOo0oo0oO000OmMbOo0000 200000 100000000000MOO0O0OO
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o660 20000000000

var.test(Z~C) DO 0ODOOO*0O

.pobooboooboooooboocoooboOobooOoboobooOoboOobOoOoOobooOoOoon

obooooboooboooobooooobodoobobooobbooooboooon
ooooo0oooooooooooooooooooooooooooooo
000000000 WelechDODODODODOODODOOOOOOOOOOOOOMO
ooboooooo

623 OO0OD0OOOOOOOOOO

00000 80O s<-(DFX+xSX+DFY+3Y)/(DFX+DFY) 000D 000020000
ooboooooooooooooond

t0<-abs (mean(X) -mean(Y))/sqrt (S/length(X)+S/length(Y)) O O O O
DFX+DFYO t000000000000000X0O0YOOOOOOOOoooooo
00000 (1-pt(t0,DFX+DFY))*2 00 0000000000000 O000O0O00OO0
ooo20000

ROOOt.test(X,Y,var.equal=T) 00000000000 OOOOOODOO
O00000000000000O0t.test(X"C,var.equal=T) 0000000
oobooooboooboooooboobooooboobooo

[t .test(X,Y,var.equal=T,alternative="less") )

*O0poo0000000O X, YOOOOO Z, CcO0O0O0O00DO000000000O00O00O00

X, yYOOOOOOOOOOOO

Z <- c(X,Y)

C <- factor(c(rep(1,length(X)),rep(2,length(Y))),labels=c("X","Y"))
\_

oooz, cooboOb000O0O0z, cOODOODOOOOOO

/
X <- Z [C=="X"]

Y <- Z [C=="Y"]

oo0ooooXx, yoooooo

*O0Oo0oO00 110000000000 Mann-Whitney 0 U OO0 Wilcoxon 000000000

00000000000000000000000000000O0O0O0O0O0O0OOOOOO0OO0O0
goo0oboooooO0oO0ooOoO00bDOO0O0DOOO0OO0O00DOOOOOOO0OO0OO0OCOOO0OOO
gooooooOo0o0o0oooOoobOO0O0O000O0ooOO00O000O0O0OOOO0000O0B000O0
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OO00000Oalternative="less"UOUOOUODO XXkYOUOOOOOOOOOOODO
OX=Yyoooooooooom

624 OO00OO0OOOOOOOOOWelchODOOO

0000000000
|E(X) - E(Y)|

VSx/nx + Sy /ny

0000 ¢0¢t000000000000O00O00O0O0OO0 oO0OOOOOO

(Sx/nx + Sy /ny)?

(Sx/nx)?/(nx = 1) + (Sy/ny)?/(ny = 1)

ROOOt.test(X,Y,var.equal=F) DO 0Ovar.equal 00000000000
O000oo0oooooO0 WelchOODOOOOOODOOOOOOOO t.test(X,Y) O
0000000000 D0o00DoOO0U0DoOO00DOO0t.testX"C)OOOO

U00Ovar.equal D00 0OO0O0OO0OODOODOODOOOOOOOODOODOOOOO
O0000D0000¢t.test(X,Y,var.equal=(var.test(X,Y)$p.value>=0.05))
000000 DO000o0DO 2000000000000000O000DO0O000O0O0O0
00000000000 O000Ostripchart() O boxplot() OO0 2000000
0000000000000 00o00o0DO0000O0Ovar.test) ODOD0OOOOO
O00000 t.test() 000000 D0OO0O

¢ =

*OOOWelch0ODODOODODODOODOOOODO0OO0O0O0O0OOO0 FOOOOODOOO 5%00
020%00000000000000 WelechODODDODODODOODDODDODDODOOOOOOOO ¢t
gooooooooOooooooobooOonoooono



94 o660 20000000000

Bt N
200l 0000000000000 00DLDO0O0DLDLO0O0ODODOO0DDLODDODOUO0ODOUOOD
OO0@Oo0o00o0o0oo0ooOb00o0o0o0oo0ooOo0o0ooDo0o0oO0boooooOooOooa
go0o000000o0o0o00O0ob0O0ob00oo0oo0o0obOo0oobo0ooOo00ooO00oo0oo0oooobooooao
000748 0 0000000000000 000O0O0O0O00O0 4% 000000000
0002020 0000000TFROOOD0O0OC0ODDODO0O0OODOOO0OOOOOOOOD
go00o0o0o0O0oo0oo0oOo0oo0oo0oooooooooobO0obO0ooooobooooo
00000020200 TFROOODODODODDODODDODDODODODOOOOOoOooooooDDD
000 202500 TFROOOODOO1.40 1.40 1.56 1.50 1.40 ... 00D0OOOOO
O0000000000 bB8000 148700000 00270000000 DLOOUOO
gooO0oo1.38 1.301.151.31 1.37 ... O000OO00O0OO0OO0ODOOOOOOOO
0221000 1.3600000 0.0211M20000000000000DOD0O00O0ODOOO
000 5% 000000

‘000000000000000000D0000000 birthrateDOOOODODOOOOO
00000000000000 fertility rate 000000000000000000000O
00000000000000D0 total fertility rate JO0 D 00000 TFROOOOOO
goooooao

N J

ROOODODOOOOOOOOOOOOO FOOOOOOO

FO <- 0.0275/0.0211
1-pf (FO,57,220)

00000.0915.0000000000000000000 5% 00000000
O00000DO0o0O0OWelchOOOOOOOOO toOooooo

S <- ((58-1)%0.0275+(221-1)%0.0211) / (58+221-2)
t0 <- abs(1.487-1.356)/sqrt(S/58+S/221)
2% (1-pt (t0,58+221-2))

oooD0O0 8.97506e-09 0000000 DOOOOOODOODOOOOOODOO
8.97506 x 10° 00 000MS% 0000000000000 000000000
oooooooo2020000000000000000O0OOOOOOO0O0OOOO

goboooobooobbooobobooooboOoooboOooooobooOoOoOoobooOoo
ocooboooooboooooOoooOooboOoOoOobOoOboOoOobOOoOOoOoOoOooboOoo
ooooooooooboOoooboOoobooooOoOoobooOooboOoobocOoooOon
O00Owmax(X+SX) 0000000000 DO0OOODODOOOODODODOOOOOOOO
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0000000000 Obarplot 000 ylim=c(0,max(X+SX)*1.5) 0O O0O0OO
000000 150000000 YOOOOOOOODOOOooOooooooo1.50
000o0o0o000o00YOoOOoooOoOooooOoOoooOo0oooooooooooooo
ooooooooooo

X <- ¢(1.487,1.356)

names(X) <- c("O0OO","O0O0O")

SX <- c(sqrt(0.0275),sqrt(0.0211))

IX <- barplot(X,ylim=c(0,max(X+SX)*1.5) ,main="0000 20260 TFROO")
arrows (IX,X,IX,X+SX,angle=90)

0000000000000 0000O0stripchart() O boxplot() DOOODO
ooobooooboooobooooooobooooboOoOoooOooOoOoOooOoOoooooOoo
01o00oogo200000 1000000000 vODOOO0O 1200000 300
oooe0ODOOOOOWOODDOOOOOOOOOOODOODODOOOOOOO
0000000 t.test() 0000000 2000000000000000000
oobooobooobooboooon

e c06-1.R N

RNGkind ("Mersenne-Twister")

set.seed(1)

V <- rnorm(100,10,2)

W <- rnorm(60,12,3)

X <= c(V,W)

C <- as.factor(c(rep("V",100),rep("W",60)))
stripchart (X”C,method="jitter",vert=T,ylim=c(0,20))
MX <- tapply(X,C,mean)

SX <- tapply(X,C,sd)

IX <- c(1.1,2.1)

points(IX,MX,pch=18)

arrows (IX,MX-SX, IX,MX+SX,angle=90,code=3)
t.test(V,W,var.equal=(var.test(V,W)$p.value>=0.05))

6.3 00000 ?200000000000

000000000000000002005000000 2025000000000
oooooooooO0oooopoOooooooooO0OooooOoooOooooooDOoO
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gooooooooooooooboboooocoobooobooooobooooooooo
0000000000000 00000000 20000000000000000
0000000 2000000000000000000000000000%00
0000 2000000000paired-t000000000000O0O0OOOOOO
000000000000 0000 o0 UU0UDOUODLDODUDODUODbDOOROO
000000 XO0ovYd paired—tl]DI]IZIDDDDt.test(X,Y,paired=T)DDIZI
t.test(X-Y,mu=0) 0000000000 ODOOOOOOMOD
202500000001.381.50 1.30 ...000000000000 3110000
0138000000 0.025202000 0 0000O0O0O01.30 1.351.34 ...0000
000000000 31100000 1.334d000000 0002590000000 t0O
000000000000 00ouoodOWelchOOOGOOODOOOO tg=5.3700
000 373.1000000000000 1.37x1077000000000000 ¢+0O
O00O0O0o20200 20000 000000O00-0.08 -0.15 0.04 ...00000
0000O00O0o 311000 —0.050800000 0.0192000t,=64600000
O000o0o 3100¢t00o0ooogooobooao 2|]|]|]|]|]pz3.942><10*10DDDD
O000o00o0ooo0o0ooo0oo0@ooooooooooooooooooon
00000 +000000000D00000O00DOO0O000O0O00OO000 %00
O00000000202000000 200000000 5% 00000000000
ooOooo
ot A
1000000000000000000000000000 9:000 21:0000000
oooooo (mg/L)I]DIZIDIZIDDDDDDDDDDDDDDDDDDDDDDDDD

0009000 21:0000000000000000O0O0OOOOOOODO %000
oo

oooo 1 2 3 4 5 6 7 8 9 10
9:00 098 087 1.12 1.34 088 091 1.04 121 117 1.09
21:00 1.03 0.78 1.04 152 097 0.84 132 1.12 1.09 1.32

N J

0000000000000 0000 c06-2RO000O0000100000000
O0000plot() 00000 type="1"00000000000000O0OOODOO
0000000000000 10000000000200000000 1lines(O O

*¥ 0000000000 0000000000000000000 200000000000000
0000000000000000000000D00D0000OR OO0 wilcox.test(OO 1,0
0 2,paired=T) 00000000000 110000000
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for 0000000000000 DOplot() OO0 xaxt="n"0 XO0OOOOOOO
000000000000000000 XO0O00oOoooo 102000000000
axis(O 00 00079:000721:00’0 0000000000000 0axis() 000
00010 X00O00000YoOoOooooOooo 20000

r c06-2.R ~

BX <- ¢(0.98,0.87,1.12,1.34,0.88,0.91,1.04,1.21,1.17,1.09)

AX <- ¢(1.03,0.78,1.04,1.52,0.97,0.84,1.32,1.12,1.09,1.32)
t.test(BX,AX,paired=T)

plot(c(1,2),c(BX[1],AX[1]) ,type="1",ylim=c(0,2) ,xaxt="n",xlab="",
ylab="00OO0OO00O (mg/L)",col=1)

axis(1,1:2,c("9:00","21:00"))

for (j in 2:length(BX)) { lines(c(1,2),c(BX[j],AX[j1),col=j) }

3000 t.testOODO00O0OO0ODOOOODOOOOODOpP-value = 0.38520 0.05
000000000000000 5% 0000000000000000000

\

data: BX and AX

t = -0.9128, df = 9, p-value = 0.3852

alternative hypothesis: true difference in means is not equal to O
95 percent confidence interval:

-0.14609201 0.06209201

sample estimates:
mean of the differences

-0.042

- ,/

6.4 OO

2000 8000 ICROOD0OOOOOOO 10000 2000000000000
oooooo0ooOoOoOooOooooooOoooooooooooooooooooo
0000000 1000000000000 1000000000000D0 (g 00
000*0000000000000000000000000000000000
ooboooobobooobooboooboooooboobooOoboOoooboOoobboOooobooboooon

*9 http://phi.med.gunma-u.ac. jp/msb/data/p06.txt 1000 00000000000000
0000000 NDSOOODODDOO0O0 NDEOOOODODOO0O0 HFDSOODOOOODOOO HFDE
goooooo
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ooboooooooooooobooooooo

oo gggg
ooo ooo ooo ooo

30.3 31.6 29.5 31.2
28.7 29.4 31.1 34.1
30.2 31.1 30.1 31.7
30.5 31.4 31.3 32.8
30.7 31.4 31.8 34.2
30.4 31.2 30.5 32.3
29.4 30.9 29.9 31.7
29.4 31.0 28.4 30.8
30.0 31.7 29.3 30.3
29.0 29.6 30.4 32.6
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070

Juoogdootdood

71 O00O0O0OO0ODOOOO 20000

oooo0z20000000000000000300000000000000
ooooooooooo3boooooooOoooboOoOoobo 2000000000
oooo0o0ooOoUooOooo0oUdOnO0OOO0 200000000000 ,C200
ocoobolooooool1oooooooooOoOOOCOOCOOObOOOoOoooooo
000000000 000000 5% 000000000030000000000
goooooo110o000oo0o0oO0OoOobo0oooooooooooobo 100000
5% 00000000000000000000

000000000000 (l)D000000DLU00D0D0O0O0OODDOOODOD
oobooooboooboboooobooboooooobooboOoooOoobboooobooboooon
0000000000000 000O00000000000000 (Kruskal-Wallis)
ooooooooooo

00000000000 ooDD 5% 020000000000000000
gooooooooooooooop 10o0o000000O0O0OO0OOOOODOOOOOO
000000000 5%000000000000000000000000000O0

ooboooobooobooooboooboooboOoooboOoooboOoboOoOoOooboooo
000000000*0000000000000000000000000000

10pooooo00 (1997)00000000000000000000000000000000
g0000o0o0ooo0o0ooooooooooOoOoOOO0OOOOOCOOOOODOOOOOODOODOOO
go0ooo0oo0oOo0o0o0omoo0oonoo0,1970Mo00o00oo0ooooooo
goo0oooOoooO0oO0oo0O0C0OOO0OO0OO0O0O0O00DOOO0OOOOO0OOO0OO0DOOOOOOO
0000o000000o00O0D00o00O000O0 2000000000000000000000O
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oobooooboboooboboooobooooooobooOoboOoboboOoobboOooDboboooon
0000000000000 00000000D0O0O000000000 post hoc
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
oooooo0oo0oOoOooOoooooooooooooooooooooooooo
oooboooobooooboooboboooooooooooboooboboooon

72 O0OOOOOOO

oobooooboooboobooooooooboOoooboOoooOoboOobOoOoOobooOoo
ooboooobobooobooobooooooobooooooOooboboooobooOooon
goooooooooooOoooooUoOoOooooooooooooooooooo
goboooboboooooooooooooooooooooooooooooooo
oooomooboooooboooooboooooooobooboooooooobooon
oboooooooOoobooOoooboobOooboo@mooobooooooooogoon
ooboooobobooobobooooboooOoooobooOoboOobooOoOoobboOoobooboooon
ooboooobooooboobooooboobooooboobooo

O00O0O0O0O0O0OROOOOOODOOOO chickwtsOOOODODOOOODOOO
000000007 o0ooooo0oooo00oo0 6000000000000
0000000 [casein]0 0000 [horsebean|0 00000 [linseed|J00000
[meatmeal]0 0 0 [soybean]0 000000 [sunflower] 0000060000000
0000000000000 U00O0OR Console ?chickwts 0000000000
0000000 Anonymous (1948) Biometrika, 35: 214. 000 M O0000000O
oooood

O (0000000 6000000000 (g)

casein 368, 390, 379, 260, 404, 318, 352, 359, 216, 222, 283, 332
horsebean | 179, 160, 136, 227, 217, 168, 108, 124, 143, 140

linseed 309, 229, 181, 141, 260, 203, 148, 169, 213, 257, 244, 271

meatmeal | 325, 257, 303, 315, 380, 153, 263, 242, 206, 344, 258
soybean | 243, 230, 248, 327, 329, 250, 193, 271, 316, 267, 199, 171, 158, 248
sunflower | 423, 340, 392, 339, 341, 226, 320, 295, 334, 322, 297, 318

chickwts D00 OOO0OO00OO0O0O0O0O0OO0O0OO0O0O0O00O0 weightOOOQOO
00000000 feedOOOOOOOOOOOOOOOOODO 20000000
000000 71000000000000000str(chickwts) 0000000
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oobooooboboooboboooobooooooobooOoboOoboboOoobboOooDboboooon
oobooooboooooooooooooo

400
L

351
351

Af(g)
250 00
o
oo e
o
aB
@&
{Ag)
250 00

150

=]
+
|
Hl

100
100

T T T T T T T T T T T
casein  horsebean linseed  meatmeal  soybean  sunflower casein horsebean linseed meatmeal soybean  sunflower

gboobobooobobboobobboboobOobbobOo0bweight OO
O00000000Dfeedd0 0000000 O0OOO0ODOOOOODOODOOOODO
OO000OOO0OO0OR Console 000000 OOODO O summary(aov(weight“feed))
000 anova(lm(weight™feed)) 000000 DOO0O0O0DOOOOOOOOOODOO
gbobooobooobooooobooooooooooobooboobobobobOoboDbo
gbobobobobobobo

Df Sum Sq Mean Sq F value Pr(>F)
feed 5 231129 46226 15.365 5.936e-10 *x*x*
Residuals 65 195556 3009

Signif. codes: 0 ‘**x’ 0.001 ‘**’ 0.01 ‘x’> 0.05 ‘.” 0.1 ¢ > 1

gobooooobooboooboboooouogxwoouoooono
Signif. codes U0 0000 0OOOOOOOOODOODOODO=+0 0000
goooloooooooOobOODO0moOooOoDOoOobOoDOoOobOooDOoDboOD
O00000PrCGRH OOODOODOODOOOOOODOOOO

Sum Sq 00000 (sum of squares) 00O OO Ofeed 0 Sum Sq OO 231129
gbobooooooooooooooooooobooboobOobobOobOobOoDbo
gboboooooooooooooooooobooboobobobobOoboDba
O0OfeedO00OO0O0OO0O0O0O0OOO0OO0O0DODOOResiduals O Sum Sq OO 195556 O
gbobooboboobooboooooooooboobobobobobobobobo
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gooooooobobbbooooooobobobboboogoooooooooo
gooboooooboooo

Mean SqUOO000O (meansquare) 000000000000 DO (Df)000O0O
00000000000 00000000OOfeedd Mean SqO 0O 462260000
O0000000000000O00000OResiduals 0 Mean SqO00 3009000
oo0oooooooooono
FvalueOOOOOOOOOOODDODOOODDODOOODDODOODODDOOOODDOOOOOO
00001000500 2000650 FOOODODDODODODOODOODDODDDDOOOOO
000o0000oUoogo F>»l1000000000OODOOOOODODOOOOOOO
000000000000 0000O0O0U00oO0U00O0O0OO1-p£(15.365,5,65)
O00000OprCGRH UO0ODOOUOODODOODOOOOODOOOUOODOODOOOO
5.936e-100*200000000000000000000feedD 000 5% 00
gob00o0oOoOoooOo0DooO00oDOoOO00obOoO0OooooOooobOe0UoDOOOD
gooooooobooooooono

goboboobbooooooooboobboooooooobgobboooogo
goodbooboobobobouoooboboobobUoobUoboboobo
oboobooboobooooboooooobobooobobooOobobboOobbooD
(Bartlett) 00D DOO0ODDOODOOOOORODO bartlett.test(DOO0D-O00O0O
00)0000000000000000000000O0O00o0ooooooooon 11
gdoboooooboooboooboboooboooobobooooboooobooo
00 1000000000000 OWelchOOOOOOOOOOoooooooooog
0*¥pooooooo*oooon

00000 Obartlett.test(weight™feed) 00 D000 OOO0OODO p-value
000000.6600005%0000000000000000000000000
0000000000000 0ooo0ooooooo0oooo0o0 ROOODOOO
0O0ooooooo*®g

*2005.936 x 107100000 1-p£(165.365,5,65) 00000 10712000 10000 F value
ooooooooo

*3oneway.test()DDD var.equal=FALSE 0 0000000000 OO0O0OO0O0O0O0OOOOO
OWelchOOOODOOOOO0OO0OO0OOO0O0O0D0OOD Uoneway.test() 000 Ovar.equal=TRUE
0000000000000 000000000000000

*4 http://aoki2.si.gunma-u.ac.jp/lecture/BF/sankouzu.html 0000000000000
goooooOoO0o0o0o0ooooOooOoO0oO0oO0oO0OoOooooooo

*00000000000000000000000000000000 WindowsJOOOOOD
gooooooooooobooobooooooon
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N

(CO’?-]..R ™
attach(chickwts)

mw <- tapply(weight,feed,mean)

sw <- tapply(weight,feed,sd)

ix <- 1:length(table(feed))+0.1

layout (t(1:2))

stripchart (weight~feed,vert=T,method="jitter",ylab="00 (g)")
points(ix,mw)

arrows (ix,mw-sw,ix,mw+sw,angle=90,code=3)

boxplot (weight~feed,ylab="00 (g)")

print(res.bt <- bartlett.test(weight~feed))
ifelse(res.bt$p.value<0.05,

cat("O0000O0O Bartlett OOOO p=",res.bt$p.value,"\n",
"WelchOOOOOGOOoOoOooooooooOo p=",

oneway.test (weight~feed,var.equal=F)$p.value),

summary (aov(weight~feed)))

detach(chickwts)

73 0000DOO0ODOOO0ODOOODOODOOO

ocooooooboooOooooboOoOoOoooOobobOOoOoOoOoOOoOoOoOoOooOOboOO

ooooooo0oOoooooooooooooooooooooooooooo

gooooooo2000000d

layout(t(1:2)) 000 win.metafile("./c07-1.emf",width=12,height=6,pointsize=12)
OO0Opar(family="sans") 00 000000000000 boxplot(...) DO0DODOO dev.off()
0000000000000 oo0n InfanView OO OOOAdobe 00D 0O DO0OODOOO
000000000 Acrobat Distiller JOOOODO0O0D00 12em000 6ecm0000000
00000000 EPSO0D0D0DO0ODODO Encapsulated Postscript 000000000
piTEX2e 00D ODODOO
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. c07-2.R N

attach(chickwts)
kf <- names(table(feed))
k <- length(kf)
for (i in 1:(k-1)) { for (j in (i+1):k) {
cat ("** Compare ",kf[i]," and ",kf[j]," **\n")
print (RV <- var.test(weight [feed==kf[i]],weight [feed==kf[j]]))
ifelse(RV$p.value<0.05,VRES<-FALSE, VRES<-TRUE)
print (t.test(weight [feed==kf [i]],weight [feed==kf [j]],var.equal=VRES))
1}
detach(chickwts)

J

0+¢+00000000000000000000000000000000000
000000000060 0000000000000 6000200000000
00000000000000000150000000000000000000
00000000 5% 000000000000 1000000000 5%0000
000000000000000000¢t0000000000000000000
000000000 LSDODO0DO0D000 Fishe 00000 LSDOOOOOOO
00000000000000000LSDO000000000000000000
00100000000000000000000000000 300000000
00000000000000000000000000000000000000
000¢t00000000LSDO0OO0ONO0NO00NO00000000
0000000000000000*00000000 (Bonferroni) 000000
00 (Scheffé) 00000000 (Duncan) 000000000 (Tukey) D HSDOD
000 (Dunnett) 0000000000 (Willlams) 0000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
0000000000000000000000000000000000 HSDO
0000000000000 0000000000000000000000000
00000000000000000000Y00000000000000000
0000000000000 00000000000000000000

000000000000 (2003)0RO0D0COON0O0O0N00D 100000000000000
oo

*O0oooooOo0O0o00000000000000000000000000000000000
goooooooOotoooooOoOooOooO0oooooobOO0000O0o0oo0o0
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gboboboobobobobobooboobooboooooooboboboboon
gbobobobooboobooobooooobooboobobobobobobOobobo
gbooboooboobooboobobobobobobooboboboobbobooobo
000000Db000O00O000000000O000o000DoO0oO0Do0Doooo
(Holm) OOOODOOOOODOOODOOOOOOOOOOOODOOOOODOOOO
0000000000000 000D0O0000000D00O0n (Peritz)000O
gbobooobooobooooobooooooooooobooboobobobobOoboDbo
ooooogob 1bo0obbo0ooboooobooOooooobooogoboooOoboooo

ooooO0o0O0OO0O0OOOO0000000000oomdooooooooooo
0000000000000 00o000Om =pe=p 0000000000000
O0000H{u,»3 000000000000 1000030000000 p1~pus
DDDDDDDDDDDDDDDDDDDDDDDDDDDH{LQ,;;}:ulzugzugD
Hp0y i1 = pe0 Hpy 3yt pn = ps0 Hpp 3yt e =p30 400000000000
Hp3 0000000000000000

oooO0 20000000000 DOU0ODO0ODDODOODODOODODGO
{H{ 9y, Husy, Hppsy}) 00000000000 0000000000 100
00o0o0o0ooo0oo0o 10000000000 oDoUo0o0ooooooo
obooooooobooo {H{Lz},H{l’g}}DDDDD]DDDDDDDDDDDDD
oboboooboooboooooooooooooooboobo0obobobobOoboobo
obobooobo
goodoooooooobobobobbboooooooooooooboobobboDbobo
0000000000000 5% 00000000000000000000000
0000000000000 0000000 5% 0000000000000000
00000000000 5% 000000000000000000DOO00O0O0O0O
gboboooooooooooooooooooboOoboobOobobOobOobOoDbo
000000000 5% 0000000000000000000000O0000O0
goooooobooboooobobbooobboooobooobobbooooboboo
goboobogoobooboobooboobobobobobooboobboobooobo
gbobobobo

O00o0000o0ooo00o0o0o0oo0o0o0o0oO0o0oO HSboOoooOO
000000000000 00000D0O0O0O0O0O0OD (199900000000



106 070 O0OO0OOOOOOOO0OO0Ogo

731 ODO0OOOODOOO

0000000000000000000000000000000000000
00000000000000000000000000000000000000
0000000000000 00000000000000000000000O
000 E; (i=1,2,..,k)000000000

k
Pr(Uf_, E;) <> Pr(E;)
i=1

0000000 k0000 E;000000000000000000000000
000 F;000000000000000000000000000000000
00000000000000000000000000000 @M
0000000000000000000000000000000000000
{Ho,Hpy,....Hy,} D000 E; 000000000 Hy, 0OOOOOODODOOOO
00000000000000000000000000000

Pr(0000000D000O000O00O0DO0O0O0OOOOOO)
<Yk Pr(0000DO00 H,0DODOODOOO)

bbb bObbOO0bO0bOO0obOoobooobooooooobboboboobooboooo
a/k000000000000D0OO0OO0OOOOOOOOOOOOOOOOOn
0000000000000 0O00000D0O0DO0ODOO /k000D00O0
00*¥000000000000000000000

1. 000000000000000000000000 k00000

2.00000000000000 a00000a=0.05000 a=20.0100
ooooo0o0o0

3.000000000000000000000000000000°7T; (i =
1,2,.,k)000000

4. 000000000000 7, 000000

*¥ 00000000000 00000000000000000000000000000000
000000000000000000000000000000000000O0O0O0O0O00OOO0
00000 kD00O000O0O0ODOO0OO00DOO0DODOO0O00DOOODO0OO00D 10000000
goooooooOooooooooo
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5. 000000 700000000 ¢/k00000000000000000
00 (1—a/k)x100% 000 ¢, 0000007, >¢ 000 Hy,,0OODOO
T,<¢ 00 Hy, 0OOOODODOOOOOMmM

OO0DRDO pairwise.t.test() O 00MOO0OO0OODO pairwise.prop.test()
00 Cpairwise.wilcox.test(O 0000 0O p.adjust.method="bonferroni"{
000000000000000 «/k000000D0000D000DODO0O0ODOOO0
00000000 k00000000 10000000 1000000000000
gboboooooooooooooooooooboobo0obOobobOobOoDbOoDbo
gobobobobobobobobooobooooog

732 0O0OO0ODOOO

00000000000 000000 HyOODODOOOOO o/k000000
goboooooooooooooooooooooooooooooooooooo
ooooooooo

1. 000000000000 00000D00OUO0O0 kOO0OOO

2.00000000000000 «00000a=00000 a=0.0100
goboooobooobobooooboobooooboobooooooooo

3. ap=a/kDay=af/(k—1)0..0a,=a000000

.00000000000000000D00D0O0OUDODDOOOT; (1=
1,2,..,k)000000

.0booo0oooooooo0 ;000000

000000 T7; 00000000 pOO00O0OOOOOOOOGCO0O0

p 0000000000 ;0 R,O00O00O0C0O0

. P> 0000000000000000000O00O0O0OOO0OODODOO
OoooooPR, <o, 00 Hy,OOOOOOOOOOO RO0O0OOOOOOO
i=k0000000000

>

00000000000O0OROOOO000 p.adjust.method="holn"0 0000
00*0007.0 B0 00000000000 P =P x(k—i+1)0000
000000000000000000000000

*O0O00D0000000000000p.adjust.method 100000000000 O000000
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733 0DO0OOOOO HSD

000000 HSDOOODOODOOUOOOOOoOooOooooooooooooo
oooooooooon
o0000 10000 ¢eDOO00OD0OOODOOO0O ;ODe=1,2,..,a000000
0000000000 i00 jo000000 »; 00000000000 i000
00 000 V,00
Tp = Z?;1x2]/nz

Vi >ty (@i — 73)? /(i — 1)

000000000 PEOOOOO VOO

P = N—a=ni+ns+..4+n,—a
Ve = i 2l (@ —%)?/Pe =30 (ni — 1)Vi/Pg
ooooono

0000000000000 HSDOOODODOOOOOOODOooDOooooooo
oo tpoobooobotooobbooboooooboobooboooooo
(Studentized range distribution) 00000000 (1 —a)x100% 00 v/2000
gbobobobobio «boboboboobobobobobobobobon

1. 00000000000000000 HSDOOOoOoooOoog
{H12y, Hi1 3y, Hiay, Hi2,3ys s Hia—1,a) }

2.0000 «00000a=0.0000a=0010000000000
3. 0000000000000000 z,V;00000Pg,VgOOOOOO
4. 0000 2000000000000000000 ¢;0

tij = (Ti — ;) /1/Ve(1/ni + 1/n;)

000000004,j=1,2,...,a;i < j1
5. |tij| > q(a,Pg;a)/v200 Hy; ;3 00000400 j00000000
0000000000D0000000000000000000000
Itij| < q(a,Pg;a)/v/200 Hy;, 000000000 g(a, Pp;e) 0000
0000 P,O0000O0OOOODOOOOO0O0000 (1-a)x100%00
0000000a=0.050000¢(a P,0.05) 0000 «0000 P00
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0000000000000 000 %% 00000ROD0OD0OD0O0O0ODO0ODOO
000000000 a0000 daf 000 0Oqtukey(0.95,a,df) 000000
000000000000 000000O0TukeyHSDO ODOOOOOOOOO
ooooooooooooo

000000000000 0000 ROODOOOOOOOOOO

attach(chickwts)
pairwise.t.test(weight,feed,p.adjust.method="bonferroni")
detach(chickwts)

0000000000000 0000000000000000000000
000D +0000000000000000000000000o0o0*og
0 p.adjust.method 0000000000 DOOOODOOOOOOODOOO
0 Op.adjust.method="holm"0 DD 0D D0O00DDOD0ODOOODODOOOOO
0 O TukeyHSD(aov(weight~feed)) 0000 O0DOO0OO HSDODOODOODOOD
TukeyHSDO) 00000000 DDaov) 00O0O0DODODODODDOO*MOD0DODOO
0020000000000000000000000000 HSDOODOOOOO
09%%00000000000000Wwr 0 wpr0000000000O0O0O0OO
0000000000 5% 00000000

OODDOCRANOO multcomp 0000000000000 ODOO0OOOODOOO
00ooooo*2g

*10DDDDtDDDDDDDDDpool.sd=FDDDDDDDDDDDDDDDDDtODDDDDDD
0jo000000000000000¢000000000000

1 0pp000000000000000000000000000000000000000000
gooooooooOoooooooOoOooon

*20 00000000 0install.packages("multcomp”,dep=T) OO DD 0D O0000ODO
library (multcomp) 0000000 simtest (weight“feed,type="Dunnett") 0000000
000000000000000000000000000000000000O00O0O0O00O0O0AO0
000000000 casein 0000000000000 D0000O0ODOO0O0ODOOOO0OODO
goooooooooo
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=

gbobooooooooboooobooooboooooo

gooooboboobooboooboooooboobobOooOobobOoboOooooOoon
gobooooobocooooooOooOobOboOoOobOboOobOOoOoOoDbOOoOooon
gooooooooomoooooooooo

Bartlett 00D 00000000000 O0O00OO0OODOOOOOOOO
goooO0o0oooO0ooOoo0OO0oOoO0O0OoO00OO0OO0O0OO0OO00O000000
00000 WelechOOOOOOOOOOOOOOOODOOOOOOOO
goooooo
goooooO0ooO0ooOooOoOobOOobOOobOOOOCbOcO0ObCcOObOODOOon
gooobodobooooboooooboboooobooobOobOooboooon
good
gjotboooooooooboboooooooooooooooooooo
oooooooo HSDOOOO

\

74 OO

http://phi.med.gunma-u.ac.jp/msb/data/p07.txt 00000000000
0o0odoo4000000000000DODOCOCOO 2000000000000
000o0o0oboo0oo0o0o0oO0oU0Oo0o0oooooDoUoOooooDooooO
oboboooobooooooooooviLODoooooooobooboboboobo
00 1300000000000000000DODOD00DOO0400000000OHB
000000000 (g/dL) 0000000000000 000O0000DOO0O
gooogo
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8.1 OODOODOOOO

ooooooooOoOo0O0 2000000000000000000000000O00
ooobooooboboooboboooobooooooOobooboOoboboOoobboOooDboboooon
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
00000000000020000000000000000000000000CO

oooooooooooooobooooOoOooooooooooboboobobooOg20
oooobooooobooooooooobobobooobOoooOoboooboboboooo
0000000000XO000o00o00ooo0ooo0oooooooooooooo
oobooooboboooboboooobooooooobooboOoobooOoobboooobooboooon
ooboooobobooooo

82 OO

Ooo0oooo0ooooO0OoOooooOoUooooOoOoOooopyY =nRTO0O0Q
00000000000000000 100%00000000000000000
gobobobobooboooboooooooooooooobobobobobobOoDO
gbooobooobooboobooboobooboomobooboobooobo
ooboOoobo0oooooo0ooboOooboboooob20000O00O0OOO0DOOD
000000000000 000000000D000000 (correlation) 0000
00000000 (positive correlation) 00 OO0 (negative correlation) 00 OO
ooooooobbooobobooooboboooooobooOoboOooboobbooDbbbooo
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oobooobobooobobooobobooooooboooooo

821 OOODODOOOOODO

oo0ooooo0ooo0oooo0o0oooooboo0oooooooooo0oon
oooooobooooboboooobooooooobooOoooobo0oobboooobboooD
oooooobooooboboooobooooooboobooOooOoooOooobbooobobooon
oobooooboboooboboooboooooboobooOoOoOoooOoobboOoOoDboboooon
oobooooboboooboobooooboooooboOobooOoboOoboboOoobboOoUoDboboOooon
ocoooooooooooooOoOooOoOoOOOOOOOOOOOOOmObOOoOon
oo0ooooo0booooooo0odooooooo0ooboo0ooooooooon
ooooooooboooooooodooooooooobooooooooooon

0000000D000000000D0DDO000 (spurious correalation) 000 O
oooooooboooobooboooobooooooboobooOoboOoooboOoobboooobobobooo
ooboooobobooobobooooboooOoooobooOoboOobooOoOoobboOoobooboooon
ooboooobooobooboooobooooooobooboOobooOoobboooobooboooon
1500000000000000000000000000000O0O00O0O00COO
oooooboo0oboooooooodoooOoooOo0o0oboOo0ooooo0oooon
oooooooooooooboobmooooooooobooboooooboooobogon
ooboooobooobobooobOooOooOoooboo0oOooboboOooDo

822 [QOUO0OOOODOUODOOOOOOO

oobooooboooboboooobooooboobooboOoooboOobOoOoOooboooo
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
oooooo0oo0oOoOooOoooooooooooooooooooooooooo
ooboooooboooobobooooboooooobooOooooobo0oobboooDbobboooD
0000000000000 0D0*r000000000000000000000
oobobooooooooootdr-robo0obob00ob0obo0ooo0oboo0oboo0oooboon
ocoooz20000C0C0000000O0OOOOOOOOOOOOOO

0000000000000000002000000000001000000
goooooooooooooo0o0oo0oooooooooO0 100000000

1 O0Do00Do0000000000000000000 (Pearson’s Product Moment Correlation
Coefficient) 0000000 r000000000
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00000000000000000000000000000000000000
000000000000000000000000000000 (Spearman) 00
00000 p0000000 (Kendall) DODODOOOO 70000
00000000000 000XO0YOOOOO X0000Yooooooo
00000000 000X 0O YODOOOO XO00O0O0OYOoooooooooo
0000000000 O0000000000000d r00X 00000 XOY
00000 Yooooo

YLK XY -Y)
VI (X = X230 (V- V)2
obobooboobooooboooooooOoOooOobOOobO0obOobOobOoDbOoDbOoDbo
oboboboboboboobo

rvn —2

i

00000 »-20t0000000000000000000*0
ROODODXOYODOOODODODOOOOODODOOOOODDODOOOOODODOO 40000

000*®01000 X0 YOOOO cov(X,Y)O X0 YODOOODODOOODOvar(X)

Ovar(Y)OOOOOOOOsqrt() 000000000000 O0OOOO0OODOOO

0 print(r <- cor(X,Y)) 0000000000 02000 length() OOODOO

goooOoOoOoOoOoOn0O0OOOOOOOOO30000OOOOO toOOOOO40O

oo:000o0oooooooooooooooooooo

to =

print(r <- cov(X,Y)/sqrt(var(X)*var(Y)))
n <- length(X)

t0 <- rxsqrt(n-2)/sqrt(1-r°2)
print (2% (1-pt (abs(t0) ,n-2)))

*200000000000000000000000000000000000000000000
0000000000000 00000000000000000000000000 0.0500
0010000000000C0O0O0OO0OCOOCOOOOOOCOOOOOOOOOOOOCOOOOO0O0
goo0ooboOo0ooO0o0oOoOo00O0O0O0DOOO0OO0OO0O0DOOO0OO0DOOOOOOO0OOOOO0ODOO
000000000000000000000000O0O0O0O0OO0O0O0O0O0OO0O0OOOO0OOA0
gooooOo0ooo0ooooboOoO0o0 1000000000000000000O000COO0O0OOO0
00oo0O0b0O0020000000000000000000D00DOODO

*O0O0000Ocor.test(X,Y) 000000000000 OOOOODOOOOOO
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oooooooooooooOooooooboooooooOobOoboboboOoo 20000
goboooobobooobobooobooboooo

1 147 1
=-lh—— - ——Z(a)2
a=gln— — (a/2)
’ 1. 1+r 1
b=-1 Z(a/2
Qg+ e

D00000000*0000000 100x (1-a)% 00000000 (exp(2a) —
1)/(exp(2a) + )OO OO (exp(2b) — 1)/(exp(2b) + 1) 0O O *0

gbobobobobobobooboobooboobooboobooobooboboobon
gboobgooboobobobobooboboboobooboobooboon pD*GD
goooooobobooobobooooboooooOobooOooOooboOooDbbooDbobobooo
00X,0000 ROY;, 0000 ;00000

n

w2 = 1) D (Ri— Qi)

i=1
0000oo0O00oo00ooo0o0o0ooo0ooo0ooo0oooooooooon
o0100000000000000000O0
pvn —2
V1-—p?

oooon—-20¢t0000000O0O0O0O0O0OO0OOOOOOOOOOOO

T =

methods (cor.test)
# 0O000Ocor.test 00 default 0 formula OO0 S3O0O0000O000O0O
getS3method("cor.test","default")

0000000000000 0000ORDO cor.test() 000000 DO0ODOOOOO
12000 0000000000 exact=FO00O000O00O0OO0O0O0COOOODOCOOO
oooooooooooooo

1 Z(/2) 00000000 100 x (1 — /2) 0000000000« O alpha 000
0 gnorm(i-alpha/2,0,1) 0000000000 ODOO 5%00000 o = 005000
qnorm(0.975,0,1) 00 OO

*5DDD]HDDDDDDeXpDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
Jgodoo0ooo0oo00oD —-100000000000 100000ODODOO

*0pooo0000oD000ooO pO00000O0O0DOOOOOOOOOO 0000000008
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ooboooooooooo r0O0

(A-B)
n(n—1)/2

T =

000000000000 ADODDOOOUDOOODOOODOOODBOOOOOO
ogo

R OO cor.test(X, Y, method="pearson") 000000000 method=00
00000000000 00000000000 or.test(X, Y, method="spearman")
0000000000 D0DOO0O0OUOcor.test(X, Y, method="kendall") O0O0O
000000000000 0D0O0D000O0Oalternative000000O0OOMMO
00000000000000000000000000000 9%% 000000
O00O00O0000O00 cor.test(X, Y, alternative="greater") OO OO0
000o0o00o0oooboooboooobooooOooooboooobooooDooao
000o0o00o0ooooooboooobooooDoooooobooooooooooo
J0oooonoobobobexact=TOODOOODOOOOOOODODODODOOOOOOO
O00Oexact0OOOODOODOOODODOOODODOODOSOODODOODO
gdbobtooobobooobuooobboobobooobbuoouobboobboo
ooooood

oad

ToothGrowth 000 100000000000030000000000 COoOOOO
gooooooooooboooooOooooooooooooOo0ooo0oooooooo
000000000 lenO0O0OOsupp0000O0Odese00000O00O0O0OOOO
goooooooooooooooooooo

00 attach(ToothGrowth) OO ToothGrowth DO OO DD OO0OOOOOODO
obobooboobobobooodboobooboobooboboboOobOn desed O
O1len00000000000D0O0Oplot(dose,len) J0000O00DODO dosed
000000 len00000D00O0O0O0O0O0O0O0OO0OO0COOOOOOOOOOO
0000000000000 0car 000000 ellipse() 00 O0O0O0OOOOO
000000000 ellipse(center,shape,radius) DO 00O OO Ocenter O
oooooOoooOoOoOOOOOOOOODO 2000000shaped 2x 20000
O00radivs000000000D0DO0O0O02000000080% 0000000
000000 200000000 8% 00000000 sqrt(qchisq(.8,2)) O
000000000000 00000O0car0000000 data.ellipse() OO
ooboooooooooooooooooo0oobooboooobo
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require(car)
data.ellipse(dose,len,levels=0.8,col="black",1lty=2,1lwd=1,
x1im=c(0,2.5),ylim=c(0,40) ,main="0000 80%,0000™")

A - B0V BT
o
o
30 - °
Q .
e :
T g
5 9
- c e o
o o
8 8
o
]
10 4 8
i
7(0"’
o
T T T T T T
0.0 0.5 1.0 1.5 2.0 2.5

dose

0000000000 ooboo0o0oobo0o0oooDoooooD0oooDOoOoon
O0000ODOcor.test(dose,len) 00000000 OOODOOO

4 M

Pearson’s product-moment correlation

data: dose and len
t = 10.2501, df = 58, p-value = 1.243e-14
alternative hypothesis: true correlation is not equal to O
95 percent confidence interval:
0.6892521 0.8777169
sample estimates:
cor
0.8026913

/

0000000000000 000000000O0O0D 0.8009%% 00000
069,088 00000000000 DOO00OODDOOOODOOOODOODOO
000000000000 000DO (068,088 000000000O0O%% 00
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000000000000000000000000 5% 00000000000
UobodoboOoOobOOp-value=1.243e-14 0000000000000 0OOO
oo

oo

method="spearman"J 0 method="kendall"ODOOOOOOODO

83 OO

oooooooooooooo0oooooooooo 100000000000
gobooooooooooOoOoOoOoOoooooooooooooooooooooo
0000000000000 9% 000000000000 000DODO0O0ooooo
ooooobooboooooooboooboobooboomooboooboooobOoon
ooobooooboooboooooboooOoooOoboooOoooOooboboooobooboooon
ooboooobobooobobooooboooOoooobooOoboOobooOoOoobboOoobooboooon
000000000000 lnear 000000MOO0ODO0O0O0O000O0OO0OO0O0OO
000000000000 00000000 0A) 00000 DOoOoOoOoooO
0000000000000 0DO0O0000O(B)D000OODODOOODOOOOOO
ooboooobooooboooooboobooo

oobooboboooooooboobooobooooooooObbO z0000D000O
000000000000 000000Mo00oo0o00o00 yOOO y=bx+a
00000000000 «0bO0000000000000O0O0D0O0OO0OO0 yOO
z=(y—a)/b00000000000 x00000000DOOOOOOOOOO
goooooooooooOooooOoUooooooooooooooooooooo

0000000000000000O0C00O00 200 0980000000000
ooooooobboooboboooobooboooooooboobooobooobbooobbooo
ooooooboooobooboooobooboooooboOobooOoboOoooOoobboooobobobooon
oobooooboooboobooooboooOooboobooOoboOobooboOoobboOooobooboooon
0000000000000 000000000000000000000*00

*O0ooo0ooO0DO0oO0D0O00000000000000000000000000000000
000000000000000000000000O0O0OO0O0OO0OOOOOOOOOOOOO0O0
000000000000000000000000000000000000O00O0O0O00O0O0AO0
ooo

0000000000000 0000000000000000000000000000000
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Odo0oooooooboooboooooooooobooooooooobooooon
ogoooooooooooooooooobobobo b booooooooooooooo
goooobooooooooooooobobobobouoooooa

000 (z1,v1), (x2,92); -, (zn,y,) OO0O00OOO00O000D0O0 y=bz+aO0O
0000000000000 00oo0ooo0oo0n e0b0O00O0O00O0OOO
00000000o0oooooooo*®o0oog

fla;b) = Z{y = (ba +a)}?

n n n n n
= bQZw? — Qbeiyi +2ab2wi — QaZyi +na’® + ny
i=1 i=1 i=1 i=1 i=1

000000000 e0 0000000000 0OO0eO0 bOODOOOOOODOOO
00000000000 0DOOO00O0OO0OO000O0O000O

8féa, b) 2na + 2(b2xi — Zy,) =0
i=1 i=1

T oa
n n
i.e. na:Zyibexi
i=1 i=1
ie. a=(yDOO)—(xDD0D0)x*b

% = Qbix? —|—2(a2n:$z‘ - zn:xzyl) =0
i—1 i=1 =1

n n n
i.e. bszsziyifain
i=1 i=1 i=1
000000000 e¢O0 000000000 OOOOOOOO

”Z?ﬂ TiYi — Z?:l i Z?:l Yi

b= n n
ny i 7 — (Xim @i)?

oooo

*0000000000000000000000000000000000000000y=>bz0
00000D0000000000000b=Y " @wi/y ., ,z>0000000000000
0000000000 ROOOOO m(Y"X-1) 000 1m(Y"0+X) 0000
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00000 *%0p000000000000 0000000000 ODOOOOO
0000000 QOU0U000U000000oioooogddy=bx+ae00000
O000000b00000 (regression coefficient)0da 000 (intercept) 00 OO
0000000000 (slope)D000DODO

ROODOODODOOOOOOOOOCODD m(OOO0O0O0O0O0O0O0OIm(Y'X)OOOO
gooobooooobooooboboooobooobbooobobbooooboDbogo
OOplot(Y'X) DO00OO00OD0abline(Im(Y™X)) OO OO0ODOOOOOODOOOO
9%5% 00000000000000 9%%0000000000000000000
000000 9%% 000000000 9%%000000000000000000
O00000000000000Opredict() DO0OO0O0OO0OO0OOOOOOOO
oooooo*000000000000000000 400000000000
000000000000 rnorm() 000D DOOOO0O0O0ODOOOODDOOOOOO
runif() 00 0000000000000000000O0Omatlines() 00000
gboboboboboboboboobobooboobooboooooo
KCOS—l.R ~

RNGkind ("Mersenne-Twister")

set.seed (1)

X <- rnorm(100,10,1)

Y <- X + runif(100,0,1)

summary (res <- 1m(Y~X))

XX <- data.frame(X=seq(min(X) ,max(X),length=20))

plim <- predict(res, XX, interval="prediction")

clim <- predict(res, XX, interval="confidence")
plot(X,Y)

matlines (XX,plim,col=1,1ty=c(1,2,2))
matlines(XX,clim,col=1,1ty=c(1,3,3))

1000000 n2 0000060 2;; 00000 2; 0000 3 00000000002; 0000
0000 2; 00000000000000000000

11000 predict() 0000000 D00DO0DDO0OO0DO0OODO0OODODO0O0DONODOOOO0O0O
abline() 00 OO0OOO
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50000000000000D0D0 resd000O0O0OOOOOODOOOODOO
goooooooooooOoooooUoOoOooooooooooooooooooo
ooooo

\
Call:

Im(formula = Y ~ X)

Residuals:
Min 1Q Median 3Q Max
-0.39958 -0.24095 -0.04863 0.20490 0.57297

Coefficients:

Estimate Std. Error t value Pr(>|tl)
(Intercept) 0.17392 0.31703  0.549 0.585
X 1.02583 0.03124 32.837 <2e-16 **x

Signif. codes: O ’***’ 0.001 ’**’ 0.01 ’*’ 0.05 ’>.” 0.1’ ’ 1

Residual standard error: 0.2792 on 98 degrees of freedom
Multiple R-Squared: 0.9167, Adjusted R-squared: 0.9158
F-statistic: 1078 on 1 and 98 DF, p-value: < 2.2e-16

\_ )

Residuals: 0000000000000 COOCOOOOOOOOOOCODOO
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D0DO0000000D X00000 (Min)0O 1000 (1Q0O000 (Median)O
03000 (3QUU0D0 (Max)DODOOOOOODOOOOOODODOOOOOOO
gobobbbooooogoobbobobbobooooooooouoboobLbboooo o
goooo0o0oo0o0o0oOoOoOooooooooooooooooooo

00 Coefficients: 000D D000 0OOOOOOODDODDOOOOOOODODODOO
0000 (Intercept) 0O0OD0OOODO0ODOXOODOODOO XOOOOODOOOOO
O0Estimate 0000000000 OOO0OO0ODODOOStd. Erroxr 000000
0000000000t valueD MOOOODOODOOODOODOOODODOODO
godoodobodooooooooobbbobooootoooooooooooobobo
Pr(>t|) 00000000 DOODOOODOAdjusted R-squared DO OO O0DOOO
ogooooooooooobooooooobooooboooboooooboooboyYyoooD
0000000 ooooDoOoooDoOXoobhoooooooobooooboooooo
000000000 92% 00000000000000000000000000
KDDDDDD B

000000 Fe-Test Wako 0DDOD0O0D00O0000D0000O0O00O000 0, 0.5,
1,2 (mg/L)000000000000000000000000000000 562 nm
00000000000 00.012,0.058,0.104, 0.193000000000000000
0000000000000000000000060000000000000000
000000000000 00 0.107, 0.075, 0.077, 0.099, 0.096, 0.108 0000000
00 6000000000000

N J

000000 concOO0O0O0 absDOOOO0OOO0OOOconcOO00Oabs 00O
oooooooooo*2o
c08-2.R(1)

conc <- c(0, 0.5, 1, 2)
abs <- ¢(0.012, 0.058, 0.104, 0.193)
plot(abs~conc)

obobooooooooobboobooobooboobooooboooboooboobOooo
0000000000000 0 res00000000000000000O0O00O0O0AO
ooooog

*120000000000 plot(abs™conc) 00000 plot(conc,abs) 00D DOODDOIOD0
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c08-2.R(2)

res <- lm(abs~conc)
abline(res)

summary (res)

UO000000000Adjusted R-squared: 0.9999 000000000000
Udo0b00oo0obooOoooDbg o0.09045710 000 o.01260000 00000000
000000000000 res$coef [210res$coef[1]1 DD DO OO DO OO 3D
gbobooboooboooobooobooooooooOobOobO0obOobUobOobOoDbOoDbo
ooooooooog

c08-2.R(3)

dat <- ¢(0.107, 0.075, 0.077, 0.099, 0.096, 0.108)
print ((dat-res$coef [1]) /res$coef [2])
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00000000000 000000000e«0 b000000000%; =a+ bz
O000000e; =y;—2 000 (residual) 00D 0D00O0O0y; 00000DDOOO
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IR SR

i=1

}n: } :y z?:1 TilYi — z?:1 Li ZL vi)® /n
1
i1 ny g wp = (i, w)?

000000000 QODO0O00DC00000000000000000QoOOO
00000000000 0000 Q/n00000 var(e)00000000 var(e)
OYOOOvar(Y)ODOODO r00000var(e) =var(Y)(1—-72) 000000
00000000072 =1—var(e)/var(Y)OODOODOODOOOO 2010000
00000000000000000000000000-200000000000

*13 res$coef 000D coef(res) D0 O0DOODOODOO
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ubobooooooboooboobooobUoooboobOoOOoboOobOOobOoobooon
summary(Im()) 0000000
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ooboooobobooobooobooooobooboobooooOooboOooobooOooon
goooooooooooOoooooUooOooooooooooooooooooo
000000000000000*0000000000000000000000
ooobooooboboooboboooobobooooboooobooobooobboobbbooon
ooobooooooooooooooobooooooooobOoboobooOoOoooboboooo

834 UOOOOOODDOOOOOOOO

gobooobooobboooobobooooboooobooooboobooOoOooobooOoo
goboboooooooooOoOoOooOooOoooooooooooooooooooo
goboooboboooOoooOoooooooooooooooooooooooooo
00yO0000D0000D00O00000D0D0D0D000000D0OO (saturate) O
ooooobooooooooooooooOoOoOooOooooOoboobooOoOoOoOobOoboOomo
ooobooooboboooboboooobooooooOobooboOoboboOoobboOooDboboooon
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
ooooooooooooobooOoooooboOoOoOoooOoboboOoooomoboOonon
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distribution 0 0 0 0000000000000 O00O0OO00O00OO0OO0OOOOOOOO
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o N
airquality 0019730 50 1000 90 30000 154 0000000000000
0000000000000 00000O0Ozonedppb 00000 OOOO Solar.R
go0ooOoOopoOoooo 80000 1200000 400000 77000 0D0O0OO0OOOOOOO
00000000000 Langley 0000000 MWindd LaGuardia 00 00O 7:00 O
010:0000000000000000Temp0 00000000 OOIOMonthd O I Day
goooooo
goooooobooboboooooobooooobooooboboooboooooboobooobooboooo
00000000000 1000000000000 0000OODOODOOOOOOO 25
000000000000000000000000000 9%% 0000000000
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0000000 airqualityd attach 000000000 O00DOOOOOOOO
0000 Shapiro-Wilkk 00O ODOO0O0O0O0O0OOOOOOOOOOOOOOODOO
oooog

~ c08-3.R(1) ~

attach(airquality)
shapiro.test (Wind)
shapiro.test (0zone)
layout (t(1:2))
hist(Wind)

hist (Ozone)

Histogram of Wind Histogram of Ozone

30
30

Frequency
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I
Frequency
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I

r T T T 1 r T T 1
0 5 10 15 20 0 50 100 150

Wind Ozone
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00O
c08-3.R(2)

c0zone <- log(0zone+10)

000000 o0* 0000000000000 00N0D0o00Nonooonooon
0oo0Oo0ooooono

0000000000000 000000000000000000000000
O0000000D000000 WindDOOODO c0zone J0DDOOO0DOO00O0O
009%% 000000000 9% 0000000000000000000000
0000000000000 0000000000000000000000000
0000000000000 0000000000000000000000000
0000000000000 0000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000%*%g

15 0000000000000 0000000000000000000000000000000
gooooooOooooooOooOoOoOoOoO0OOOobO 10000O0bOODOOODOOOODOBODO
000000000000000000000000O0OO0OOOOO0OOO0OOO0DO0ODOOO
goooooooo0oOooOoOooooooooOOoOoOOoO0DOoO0ObOO0OO0OOoOoOOOoDOODO
0000000000000000001og(0zone+10) D0 D0OO0O0OOO0OO0OOMMIOOO
0000000000000000000000000O0O0O0OOOOO0OOOOOOOOO0O0O0
gooooooooOoooooOoOoooOooOooooo

160000000000 fitted.values(res) 0000 0000000000000
gooobopooooooO0oOoO0ooDoOooOOoO0oOoDOoDOOOOOO0DODODODODODOODOBODOO
exp(fitted.values(res))-10 U0 O U000 res$model$X U DO OO OO0OOODDODOODO
J00000000000000D0 residuals(res) 000000000000 DOOOOODOO
0000000000000000000000000O00O0O0O0O0OO0OOOOO0OOOO0O0OO0
gooooooooOoOoooOooOoO0OoOOoO0oOoOooOOoO0OoboooOooooDoooo
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~ c03-3.R(3)

layout (t(1:2))

cOzone <- log(0zone+10)

shapiro.test (c0zone)
plot(cOzone~Wind,yaxt="n",ylab="0zone",ylim=c(0,log(210)),
main="1973 00 NYOOOOOOOOUO (0zone) OO0 (Wind) OO OO™)
yi <- 0:4x50

axis(2,log(yi+10),yi)

res <- lm(cOzone~Wind)

X <- data.frame(Wind=seq(min(Wind) ,max(Wind) ,length=20))

Y <- predict(res,X,interval="predict")
matlines(X,Y,col=1,1ty=c(1,2,2))
plot(exp(fitted.values(res))-10,residuals(res) ,main="000000",
xlab="0zone (expected)")

exp(predict(res,list(Wind=15) ,interval="confidence"))-10
exp(predict(res,list(Wind=25),interval="confidence"))-10
summary (res)

detach(airquality)

197345 ONY 51354V v RE(Ozone )L A& (Wind)L @ BI & BE7Ovk

L
o f

50 100 200

Ozone
residuals(res)
o

5 10 15 20 20 40 60

Wind Ozone (expected)

odoooooooooooooOoOoooOooooooooooooooooooo

oooooooooo

log(Ozone + 10) = 4.74 — 0.0985 - Wind

000MO00000000000000000000000000 6.8x107'20
ooo0ooooO0oO0DoOoooooOooo o0330noooooooooooooo
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33% 00000000000000000000000000000000000
0000D0000000000 wind0 150000000000000000000
000000 9%%00000000000016.2[12.3,20.7] (ppb) 00000
000 Wind0 2500000000 95% 00000 —0.2[-3.4,4.5] (ppb) 0O
0000000000000000000000000000000 (1)0000
0000000000000000 (2)00000000000000000000
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0000000o0oOooobooooobo0ooDoOooooDboooDoobOoooDoDOoo
0000o00o0oooooobooooobooooooooobooooooooooo
0doboooooboooboooobooobooooboboooboboooobooa
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0000000 ¢000000000000000000000
40/(40 + z) = 2/(2+ 18)

ooooooOoob0 00000000 =36000000000000O 360000
0000000000 ROOOODOOODOODO40/(2/(2+18))-400000000
oooo3eooooooo
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0000000000000000000000000000000000000
00000000000000 pO0000000 2000000000000000
000000 2000000000000000 20000000

0000000000000000 p0000 2000200000000 180
000 (1-p) 00000000000000000000000000002000
00200000000000000000000000000000 2C,000
000000000000000

ROODOOOOOO0O0O000 pO00000Ochoose(20,2)%p~2%(1-p)~18 00
00 dbinom(2,20,p) 000000

0000000000000 p0000 20000000 20000000000
0000000 pO00O000D0000O0O00000000000000.01000
0000000000 pO0000000000000000001000 x000
O00O0Oseq) 000000000 1000.010000000000000020
000x00000000000000000 20000000 200000000
20000000000 dbinom() 0000yO0O0O0OO0OO0OO0OOOOODDOD03000
plotO) 00D type="1"000D00x0000yO0000000000D00000
0000000000000040000000000000000000000
curve) 0000000000050000y00000000000000000
which.max() 00000000000 x0000000000000000000
0000000000000000 01000000

1000000000000 000000 20000000000000000000000000
o0o0oo0oooOooooooD
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c09-1.R
x<-seq(0,1,by=0.01)

y<-dbinom(2,20,x)

plot(x,y,type="1")

# 00000000000 3000000 curve(dbinom(2,20,x),0,1) O OK
x[which.max (y)]

400000000 0100000000 0O040/0.1=4000 0000 O 0400-40=360
gooooOoOoOoOoQoOoOoOOOOOOO0UOODODUODOoOoOoOoOgp=0.09000
Op=011000000000000200000000000000000000
360000000000040400p=0.09000000 32400p=0.110000
ooboooobooooboooooooo
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gobobooobobodoobooobobooobboobbbooobbuooobo
ooooooooOoOoOOODOO0Op=0100000200000000000000
00 200000000dbinom(2,20,0.1) 0000 285% 0000000000
o0oD0O0D0o0p=070000 2000000000000000O0D 20000
000000 3.6x10782000000000MM00000009%% 000000
gdobooobobooobooobobooobbooobObuoooboboooboo
009%%00000000000000000

oO0oooO0o0oOoooDOottoo0o0oooOoOoUoooOo 20000000
ooooooO0oooOo0oOooOoO0oo0o NODOODODOOOOOOOOOODOOD X
000000000 0D pO0OO0O0O0OO0 p=X/NOOODDODODODDDOODOO
00000000009%% 00000000 gbinom(0.025,N,p)/NO D000
gbinom(0.975,N,p)/NO0000OOOOOOOOOOOOOOOOOp#0.50
000 2000000000000000000000000000000%000
0000000000000 9%% 000000000 9%% 00000000000
ooooooooooooooooooooo

R OO O Clopper CJ, Pearson ES: The use of confidence or fiducial limits illus-
trated in the case of the binomial. Biometrika, 26: 404-413, 1934. 000000

*2 dbinom(2,20,0.7) DO0O0OODOO
*O0DOoOONODOOOODODOOOOO0OO0OD00000000000000000 2000000
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gboboooboobooobooboooooooooboobobobobobobOobobo
0*00000000000000000000000000 9% 0000000
0000000000 binom.test(X,N,p) OO O0MNOOD XOOOOOOO
00000000 p00O00000O0OOOODOOODOOOOOOODOOOPO X/N
000000 p-valued 1000000000 Clopper and Pearson 0 00000
9%5% 00000000000

931 0O0O0O0O

0000000 p0 2000 Bn,p) UOnODOOODOOOODO np0O0O
np(l—p) 00000 N(np,np(l —p)) 00000000000 D0OO0O0OON =
100,p=020000000000000000DO00DO0O0ODOOODOOODODOODO
001000 barplot() 0000 20000000000 dbinom() OODOOOO
0002000 1linesOODOU0DDOOO0OOO0ODOOODO dnorm() OOODOOODO
gboboboboboboboboobog

ii <- barplot(dbinom(0:40,100,0.2))
lines(ii,dnorm(0:40,20,4),col="red")

00000000000009%% 000000000 +0000x%x 1.900000
qnorm(0.975) 00O 1.9599..00000000000000O00O0O0OO0OOOOO

Pr[-1.96 < (X — Np)/+/Np(1 — p) <1.96] = 0.95
0000 p*=X/NOODOODODOOOD
Pr[p* — 1.96+/p*(1 — p*)/N < p < p* + 1.96+/p*(1 — p*)/N] = 0.95

000000000 p0 9% 000000 p* — 1.96¢/p*(1 —p*)/NO 00 p* +
1.96,/p*(1—p*)/NOODDOOOOODOOOODOODOOOOOOOD p0 95% 0000
0ooo

oQ

2500000000 AD00D00O0O0DOOOUOOOOODODOUODOODOOSOODOO
000000000 000000000000000000 %% 000000000

*ROODODODDOOOO binom.test 0000000000000 DDO0OD0D0OOONODOOOD
oooo
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0000005/2500 20% 0000000000000 D0O0ODO0OO0OO
9%5% 0000000000000 gbinom(0.025,25,5/25)/25 00 0.0400 0O
0 qbinom(0.975,25,5/25)/25 0 O 0.36 O O O Obinom.test(5,25,0.2)
O0OO0OD0 [0068,0407) OO ODOODODODDODODODDODODODODODODOODOO
O0000D000DO0OD0O0.2-gnorm(0.975)*sqrt(0.2%0.8/25) 0O O 0.0430
0.2+qnorm(0.975)*sqrt (0.2%0.8/25) 0 0 0.357 0 0 0O 0 O O [0.043,0.357] O
95% 000000000000000000000000U00DO binom.test()
ogboooobooobooboooon

94 0O0O0O0O2000000D0O0DO
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ooooooooooboooooOooboOooboOoOooOoOooOoboOoooboOoooOoon
goooooo 2000000000000000 200000000000000
obobobomooooNpoOoOXxooooooooboooobo pobOOooOOO
0000000000000 0Obinom.test(X,N,p) 0000000000 0OOO
O0000OD0O0O0000000O0U pvinom.test() OODODODOODODODOO
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000000000000 900000000 4800000000000000O0(1)O
000000000000 DO0O00DOO0O0(2)oOO0O0 1060000000 1.060
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00 48000000000 dbinom(480,900,0.5) 0000004800
000000000 Odbinom(480,900,0.5) + dbinom(481,900,0.5)
+ ... 4+ dbinom(900,900,0.5) 00O O OOOOODOOODOOOO
1-pbinom(479,900,0.5) 00000004200 000000000000
0000000000 Opbinom(420,900,0.5) 00 0000O00O0O0OOOO
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[(1—pbinom(479 ,900,0.5))+pbinom(420,900,0.5) ]

00000000000 0.04916. 0000000000 5% 0000000
0ooooooo™®o
(2) 0DDOOOOOOOO

1-pbinom(479,900,1.06/(1.06+1))+pbinom(446,900,1.06/(1.06+1))

O0000000mM44600000000000000000 900%1.06/(1+1.
004630000480 00000000000000000O0DOODOOODIO
0271 000*0000000 5% 0000000000000000000
ooboooobboooobooooo
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000000 10000000000000000000000000000000
00000000000000000000000000000000000000
000000D00000000000000000000000000000000
00000000000000000000000000000000000000
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0000000000000000000000000
000000000000000»00000¢0000000000000 0,0
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00000000000 000000000000000000000000000
0000000000000 0000000000000E; 0100000000
0000000000000 0000000000o00000ooooooon
00x?00000000000000000000000000000 00000
x?000000000000000000000000000000000000
0000000000000 00000000x?0000»-100000000

*5 binom.test(480,900,0.5) 0000000 p-value DOOOODO

*6 pinom.test (480,900,1.06/(1.06+1)) 0000 ODOOO0O

*x0000O00O00D0000000 chi-square J00000000000000000000O0
gooooooooooooooo
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9%5% 00000000000000000O0D0DO0D0O0ODOOUDOODOD
ooboooobooooboooooboobooooboobooo
ROOOO10000000000000000000000

[curve (dchisq(x,1),0,5) )

O000000x?200 10000000000 1-pchisq(1,1) 0000000
03170000 O0OO0O0OO0OO00DO0O0 n00000C0O0O0C0O00O0COOCORODO
dchisq(x,n) 000000002z >000000

Fal@) =1/ 272 (n/2))e"/27) exp(~2/2)

0000000000 20,0000000000 (degrees of freedom; d.f.) O
ooobooooboooboooooboooOoooOoboooOoooOooboboooobooboooon
0000000000000000000 B, 000000000 n—-1000
0Y. F, 0000000000 F,00E, ;0000 E, 000000000000
000000000000 »-1000000000YE;00>.0,000000
ooooooom

Oo0oOooooOoOoOo0O0O 2000000000000000O0O0O0O0O0O0O0OO
00000000(1)0000x200X <- (480-450) ~2/450+(420-450) ~2/450 00
00000000000000010000000000000RO 1-pchisq(X,1)
0000000000000 0000000000 900000 480000000
boboobooobooobooooooobooboboooboooobOooboobooooooon
0.0455..0 0000000000000 5% 00000000000000000
000000000000 0000(2)00000

c09-2.R(1)

EM <- 900%1.06/2.06

EF <- 900%1/2.06

X <- (480-EM) "2/EM+(420-EF) "2/EF
1- pchisq(X,1)

000000000 0260000000000000000000 90000 4800
000000000 26%0000000000000000000000
ooooo0oOooovooo0n48000000000000000000000O
95%000000000000R Console0000DOO0OO0OOONONO[1.0005,1.3059]
O000000D00O0Obinom.test() D000 O0D0O00 res00000000OO
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000 conf.int 0000000000000 0000000000000000

00000000000000000000000000000000000000

oooo
c09-2.R(2)

res <- binom.test(480,900,480/900)
res$conf.int/(1-res$conf.int)

951 0O0O00O0ODO

ot N
1000000000 1hh00ooooooooooboboooooo 790010 0Oo
00610020000 130030000 10040000 100000000
00000100 0000000000bL0b0b 000000 oOoOooooboobDbD
0000000000 Ooob00000000o0o0ooo0oo0mooobDDbDb’20
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¢0J000000000o000o00o00o00oo0ooD0oo0oo0ooooooooooono
goobooooo0o0ooooOoO0oO0oO0O0ooOoO0oO0oO0OobooOoOOO0000bOOOO00000
go0o0ooO0o0O000O0000000O00O00DO00O0O0COO0OO0OO0COOOOOCOODOOO0
ooooooo

N J
ROODOODO0OOOOOO0OOO00000000000000000000000
000000000000 0dpeis(000000)000000000000000
00000000000000000000000000000000000000
(0X79+1x6l+2x134+3x1+4x1)

155
0000000000 EMOOOOOOO0000000000000000000

000000000
09-3.R(1)

cc <- 0:4

hh <- c¢(79,61,13,1,1)

names (hh) <- cc

print (Ehh <- sum(cc*hh)/sum(hh))
barplot (hh)
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ooboolo0oooo0ooo0oOooOoO Enh000OOO0O0OOOOODODOObOODOOO
0000000400000 eppUUepp <- dpois(cc,Ehh)*sum(hh) 000000

000000X <- sum((hh-epp)~2/epp) 00D O0O0O00O0O00O0OOO0O0
030000000 s0000000D0O0OODOOOOOOOOOOOOOOOOO
005-1-1=300000000000000000 1-pchisq(X,3) 0 0.050
gboboboboobooboobooooooooooboobooobooboboon

epp(5]10000000epplce==4]l OOODODOOO0O0OOOOOOOOODOOODOO
0000000 10000000000000000000000000000*0
000 DOeppls] O eppla]l DODOOD

ooo

c09-3.R(2)

ep <- epplcc<4]
ep[4] <- ep[4]+eppl[5]

0000000000 ep000
09-3.R(3)

h <- hh[cc<4]
h[4] <- h[4]+hh[5]

0000000000 w0000

00 D0XX <- sum((h-ep)~2/ep) 000000000000 1-pchisq(XX,2) O
00000000000 10000000000 1000200000 0.18700
0000000D0000000000000000000D00000D0000000
00000000000000000000000000 19% 000000000
000000000000000000000000000000
RODOOODDO0OO0O0DO00O0O0D00O0O0O0000O000000000000
0O0o0oo0oo

[chisq. test(as.table(h) ,,p=ep/sum(ep),correct=F) ]
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ooooooooooooooOoobooo20000000O0O0O0C0ODOOOO0O0O0O
O0oo0o0o0oUooooo0ooUooooO0oooOoooKSOoOooooooooo
O0000O0Oks.test(h,ep) DO00OO0OOO0OO0O0O0OOOOOOOOOOOOOO
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gdobooobobooobbooobobooobboobobbooobobuooooo
0000000oooooooooooo9ooDOo0ooooooooooooon
000000000000 00o00oU0o0o0o0oo0o0oUoo0ooDooooUooo
ooo

0 1 2 3 4 5 6

oo 137 163 137 138 168 157

goobooobooooo

c09-4.R
h <- c(137,163,137,138,168,157)
X <- sum((h-150)"2/150)
1-pchisq(X,4)

0000000000000 000O0000O000000Y0 000000000
OOo00oO0oO0O 1oOoOoOoOOOO0000000000000000 0.145...000
0000000 5% 000000000000000000000D0O0DO0OOO
ooboooooo

907 20000000

coooooooooOoOO10000O0O0DODOOOOOOOOOOOOOOOOO0
ogobooooooooooOoOooOooooooooooooooooooooooo
ooooomOoboood npoooooooooooooooboboboon r 0o
ro000000000DOO0O0DOOODODOOODOODODOODOOOOOOOOO0OOO0O
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0000020000000 0000000000000

200000 p1,p, 000000000 §y = r1/n,pe = ra/n, 000000
DD00000D0O0O000000 (61 —4>) 00000000 0ER — ) =
p1—p2, V(P1 —p2) =pi(1—p1)/mi+p2(l—p2)/ne 0 0002000000000
00000p =p,=p0000000000V(H —p2) = p(l — p)(1/n1 + 1/ns)
000000 p00000000p= (r1+7)/(n1+ny)0000§=1-p000
OOnipr 0 nep 0000 500000000 DOCO0OODOOOOOOODOO

Z:ﬁl—ﬁQ—E(ﬁl—pé) _ P1— P2 ~ N(0,1)
V(pr — p2) pa(1/n1 + 1/n2)

0ooo*o000000

0000000000 00000000 10000000 100000000 DOOO0O
040002000000000 0000 2000000000000000000
oooono

09-5.R(1)

p <- (40+20)/(100+100)

q < 1-p

Z <- (abs(40/100-20/100)-(1/100+1/100)/2)/sqrt (p*q*(1/100+1/100))
print (2% (1-pnorm(Z)))

000000000 0.00340000000000 5% 000000000000
oooooooo 2000000000O0OOOO

009%%0000000000000000000000000000DOOO0
00000000000000000000019600000000000000
oooooooooooooooo

00 Z00OOOO0OOOO0O0OOO0O0O000000000000000000000000000
000000o00o000D0oo0ood p1r>p2 0000000 Z>000000 p1 <p200
0(0D00Z<00OOOOOODOOOOOODDOOOODOODOOOODODODOOOOOO Z>0
00000000000 200000000000000

-l = (/m +1/n2)/2
VA /m + 1/n2)

000000 Zz0o0ODOOOOODOODO 975%00R0O00 gnorm(0.975,0, 100000000
0000 5% 00000000000

Z
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09-5.R(2)

dif <- 40/100-20/100

vardif <- 40/100%(1-40/100)/100+20/100%(1-20/100)/100

difL <- dif - gnorm(0.975)*sqrt(vardif)

difU <- dif + gnorm(0.975)*sqrt(vardif)
cat("OOODODODODODOO=",dif," 954 0000= [",difL,",",difU,"]\n")

0000.076,0.324) 0000000000 cat 000000000000 00D0O0
00000000000000000000000000000 (1/n1+ 1/n9)/2 =
(1/100 +1/100)/2 = 0.01 000000000000 00009%% 00000
[0.066,0.334) 0000

ROODODODOOOOOODOOO0OO0O000O00O prop.test() 000000000
000000ooooooooooooo*og

c09-5.R(3)

smoker <- c(40,20)
pop <- c(100,100)
print (prop.test (smoker,pop))

000000000000000000000*000 9% 000000000
ogoooooooooooOooOooOoooooooooooooooooooo

908 3000000DOO

prop.test() 0000300000000 000O0OO0OODOOOODOOOOODO
oooooooboooobooboooobooooooboobooOoboOoobooOoOoobboooobobobooon
gooooooooooooooooooobooooooOooOoOOOOOOObObOD 1O
ooboooobobooobobooooboobooOoooobooboOobooOoobboOooobooboooon
O000ORDOOODO pairwise.prop.test() 0O OO0ODOOODOOODOOOOOOO
ogobooooooooooOoOooOooooooooooooooooooooooo
0000000000000 0000000O000O0O0O0O0O00000O0O00 2

*10 prop.test() 00D DO0O0ODDDO0OODODDNO0ODODOOOOsource() 000D ODOOODO
O000000000printO 000000000 Osource() 0000000 echo=TOOO
O00print() ODO0OO0O0OOO0DOOODOODODOO

1 Opooo000000000000000000000000000000000000000
0000000000000 D0 200000000000000000000D000O0ODO
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obooooboooooooobooooboooobooboOooobo
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oooboooobooobobodooobobooooboobooboobooOoobobooooboboooon

000000000 300000000000000000000O000000

O A B C
oood 120 143 160
oooood 7 19 24

gooooooogoo 1 2 3
ooboooobooooboooooboobooooboobooo

disease <- c(7,19,24)

total <- c(120,143,160)
prop.test(disease,total)
pairwise.prop.test(disease,total)
score <- c(1,2,3)

prop.trend.test(disease,total,score)

000000000 prop.test() 00 30000000000000000O0
00000000 5% 000000000000000000000000000
O00MO0000000000000000000000 5% 00000000
0000000000000 000000000000000000000000
000000000000 00D00000000000000000000000
000000000000 00000000000000000000000
000000000000 0100000000000000000D00O00D00
?prop.trend.test I 0000000000000 D0O0O00OOOOO 20

oo

00 ITODO0OOO0O0O0DO0O000000000000000DO0DO0O0O000000
21400 42000000 65800 242000000 32700 122000000000
goooooooooobooooooOooooo

*20p0000000000000000000000000000000000000000000
goooooOoooO0oO0oo000OO0O0O000O0O000DOOO0OOO0OO0OO0O0DOOO0OOOO
000000000000000000000000O0O0O0OOOOOOOOOOOODOOOOO
gooooo0oooooOo0oOoO0oO0oO00OOO0OO0O0O0O0OOO0O0O0DOOOOO0OO0OmOoOoOn
goooooobooOoO0ooOoO0o0ObOOO0O0O0O00O0O000DOOO0OO0DOOOO0OOO0OOOO0ODOO
goooooo
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vobooboooboooboobooobooboobooboooobooobooboooboo
0000000000 75x107°0000000 5% 0000000000000
gooooooooooobobobLObLbLLLLLLbODOOOOOO 100000
oooooo0oo0oOoOooOoooooooooooooooooooooooooo
00000 5% 00000000000000000000000D00000000
oooooobooooboboooobooooooboobooOooOooobooobboooobbooon
ooboooobobooobobooooboooooboobooOoboOoboboOoobboOooobooboooon
gooooooooOo0oO0oO0oOoOoOOoOUOoUoLoOoOooOoooooooooooOo@m
(009—6‘1:{ B

smoker <- c(42,242,122)

names (smoker) <- c("OO","CO","00™")

pop <- c(214,658,327)

crosstab <- rbind(smoker,pop-smoker)

rownames (crosstab) <- c("OOO","0000O")

print (crosstab)

layout (t(1:2))

barplot(crosstab,legend=T,main="0000000")

barplot (crosstab/rbind(pop,pop),legend=T,main="0000000")

print (prop.test (smoker,pop))

print(pairwise.prop.test (smoker,pop))
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10,1 O0OO0OOOOO0ODbObObOOboOoooDo

00000000000 0000000000000000% 000000000
Ubobo0obo0ob0ob0ob0ob0ob0obOdveddDODODO epitoolsOODOODOO
000000000000 0000000000000000000000000
000 1library(ved) OO OO require(ved) 0000000 O0OO0OOOOOOOO
ooboooobobooobooooooobobooobb0oDoOooboOo00bveaOnn
0000 goodfit() OO0 ODODODDOOODOOOODODDDOODODOOOOODODODOOO
0000000000000 0000000000*0

10000000000 000000000000000 2000000000000000000
go0ooooOoboOoO0oOO0bOoOoon

*2000000000000000000000000 RO vedOOOODOD0OOOOOO0OOO
[install.packages("vcd",dep=T)jEIDDDDDDDDDDDDDDDDDDDDDDDD
00000 Japan(Tsukuba) 000 Japan(Tokyo) 00 000000000000000O00OO
00 100000000000

*O0oDo0000000 MLODO MinChisq OO OOOOOOOOO0OO0O0O0O0OOOOOMLOOOO
goooob0ooooo0o0oooOo0o00oo0000O0000OO0o0O0000000000000
000000000 000000000000000000000 geedfitd 00 OOOOOOO
00000000000 mo0oo@oooo0ooOn getS3method("summary", "goodfit")
O0000000OUseMethod 00D O0O0000O00OOgeneric.class0000000000000
00000 generic.class 000000000 OgetS3method("generic","class") 0000
goooo
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library(vcd)

hh <- as.table(c(79,61,13,2))

names (hh) <- 0:3

print(res <- goodfit(hh,"poisson","ML"))
summary (res)

plot(res)

10,2 200000000000000O00O

000 20000000000000000D00O0ODODO0ODODODODO
gbobooooooooooooono
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000000000000000 (case control study)**0 00000000000
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0000ooooooooo*o
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* 00000000000

*00000000000000000000000000O0OO0O0000000000000
gooooo0oooO0oobo00oOoO0O0oOb00OOOO0O0OOO0OOOOO0OOOOOODOOOOO
cross-sectional study 0 (D 0000000000000 000O0O0O00O0O0OODOOOOOOO
0000000000000 oooooooooooooooooooooooooooooon
0000000000000000000000O00O0OOOOOOOODOOO0OOO0ODOOOOO
010000000000000000000000D0000O00000O0O0O0O00 (cohort study)
goooooooOoOo0ooooooOoOoOoUoOoOoOoOooOOOoOOoOoOoOoOoOODOOoOoOOO ...
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oboobooooobooooooboooooboobOobooboobOoobooboooDooOoo
oooooooooooooooooObObobOOoOoOo wBoooooooobooooo
000000000000000*0
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oo o o o o oo o o o o o o o

000000000000 00 ROOODODOODOO0OOO0OO0OO00O0Dooooog
0000000001000 000b000o002000000000 60000DO0O
O070000000010600000 rep(1,6) 0020 700000 rep(2,7)
O00000000O0Oas.factor() DO00OOOO0OOOOUODOOOOMmM300O0
levelsO OO000D0OO0ODOOOO0DMOOOOOOOOOOOO40000000
00000 1000200000000 as.factor() JOO0O0OOOOO5000
O00000000000006000 table() DOODOOOODOOOOOOOO
0000000000000 000000000000000000 mosaicplot()
000bO0obOOobOOoDOOobOOoboOoboOooooag
(ClO-l.R N
pid <- 1:13
sex <- as.factor(c(rep(1,6),rep(2,7)))
levels(sex) <- c("O","O™)
disease <- as.factor(c(1,1,1,2,2,2,1,1,1,1,2,2,2))
levels(disease) <- c("O","O™")
print(ctab <- table(sex,disease))
mosaicplot(ctab,main="2x 20 0000000000000O0O")

ooboooooooooooooooooooooo

disease
sex 0O 0O
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0o 4 3

oooo2000000000000000C0CCO0O0O 200000000000
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0000000000000 0000000000000000000000000
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00000000000000000000*0
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B Nm1 N
B N7I'21 N7T22

oooooo

X2 _ (CL*Nﬂ'll)Q + (b*Nﬂ'12)2 + (C*Nﬂ'zl)Q + (d*Nﬂ'QQ)Q
Ny Nmio Nmay Nrag

ooooooo3ooooooooo0ooboOooboooOooOoboOoDOooOooOOn0 0O

0000000 Do0OPr(4) =1-Pr(A) 00000 200000000000

*0OO N=a+b+c+dO00O0O
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000 Pr(ANB) = Pr(A)Pr(B) 00000000000 00PK(A) O Pr(B) O
000000000020 000000000000000000000000
0000000000000 300 2000000000 1000000000
DOPr(A)00D00000BODODO ADDODOOODD (a+¢)/NOODOO
00000000000 0P(B) 0000000 (a+b)/NOOOOOODOOODO
m1 =Pr(ANB) =Pr(4)Pr(B) = (a+c)(a+b)/(N?))ODDOOD
oobooooboobooobooboooobobooooboooobooooooo

mio = (b+d)(a +b)/(N?)
To1 = (a +c)(c+d)/(N?)
Too = (b+d)(c+d)/(N?)

oobooooooog

o _fa—(a+o)(at+b)/NY  {b—(b+d)(a+b)/N}

{(a+c)(a+0b)/N} {(b+d)(a+0b)/N}
. {c—(a+c)c+d)/NY {d—(b+d)(c+d)/N}
{(a+¢)(c+d)/N} {(b+d)(c+d)/N}

_ (ad —bc)2{(b+d)(c+d)+ (a+c)(c+d)+(b+d)(a+b)+ (a+c)(a+b)}

(a+c)(b+d)(a+bd)(c+d)N
000000000 N2OO0Oooooo

9 N(ad — bc)?
X T latob+d(atb)(ctad

O0000000YatesODOODOOOOOOOOOOODOOOOOOOOOOOOO
ooo0o500000000000000000000000O0O0O0DOOOOOOO

oooono
2 N(lad —bc| — N/2)?
X T @t obrd)(atb)ictd

0000 10000000000000000000
0000D0OROODOOOODOOOO0OODOO0ODO0ODOO0ODOOO0DOODOOOO a=12,
b=8, c=9,d=10000000*0

*BPI(X)DDDDD XOoO0ooooooooooooo
*OOD000000000000002000 chisq.test(x,correct=F) 00000000000
oooo
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cl0-2.R

x <- matrix(c(12,9,8,10),nr=2)
chisqg.test(x)

000000 ADBOOODOOOOOODOODOOODOODOODOODOO
OD0Otable(A,B) J0DDO0DOO0DOODDOOC chisq.test(table(A,B)) O
000000000000000000*0
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0000000000000 00D000000000000000000

‘J000000000000000O00O000O00O0DO0O0OO0DOO0O0DOOOO0ODO
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oo

ooooo ooooo
o000 135x100/200 =67.5 135 x 100/200 = 67.5
oooo 65 x 100/200 = 32.5 65 x 100/200 = 32.5

O000O0000O0O0YatesOOOOOOOOOOOOODOOODODOOO

*100Qg chisq.test(A,B) 0000000000000 DOOOOODOOOOOODOOOOODOOO
OOORUO chisq.test() D000 Osimulate.p.value=sTRUEO O OO OO0O0OOO0OOOOOO
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X2 = (80—68)2/67.5+(55—67)2/67.54(20—32)% /32.54(45—33)%/32.5 = 13.128...

0000000 10000000000000 1-pchisq(13.128,1) DO0O0O0OO
0 0.00029..00000000 5% 00000000000O0OO0ODOODOODO
0000000000000 00000Ochisq.test() DOODOOOO

X <- matrix(c(80,20,55,45),nr=2)
chisqg.test (X)

oooooooooooooooooooa

Pearson’s Chi-squared test with Yates’ continuity correction

data: X
X-squared = 13.1282, df = 1, p-value = 0.0002909

0000000000000 prop.test() D0DO0O00O0OODOODOODODOO
ooboooooboooobobooooboooooobooOooooobo0oobboooDbobboooD
ooboooobooooboooooboooooboooobooboooooboo

smoker <- c(80,55)
pop <- c(100,100)
prop.test (smoker,pop)

oooooooooobooooooobooooboOoOoOooOoOooOoOoOoOoooOoo
goooooooooOoOoOoOoOoOo0oU0UUUDUoUULUooooo 50000
00000000000000000 20%0000000*'0000000000
ooooooo
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00000000000 00O0RODOfisher.test(table(A,B)) 00O OO
000000000000 20000000000000000000000000
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0000000000000000000000000000

*12. 0000 Fisher’s exact probability test 00 0O
*BOooooooooo0ooo000000000 E(e)000 V(e)DO
E(a) =nim1 /N
V(@) = {(N = ) /(N = D)}ns (ma/N)(ma/N) = (mimaning) /{N*(N — 1)}
gooooooooOoOoOoOO0OoOoOoOoOoOoDOoOOoDOO0ODOO0O0OO0O0ODOOODOOODOODO
gooooooooooOoOoOoOoOoOoOooooboOoooOooDoO 2x 20000000000OO
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oo
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O00X00O0O0O0DO0O0O0O0O0O0O0O0O0O0OUOUOOfisher.test(X) DO OOOOOO
OO000 0.0002590 000000000 5% 0000000000000000O00O0O
000000000000 0000000000000 2x 20000000000
OOfisher.test() 000000000 OOODOOOODO 9% 000000000
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15000000000000000000O00O00000O000O0O0O0OOO
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KC10-3.R \

calc <- as.factor(c(1,1,2,1,2,2,1,1,2,2,2,2,2,2,2))
levels(calc) <- c("OOOO","O0OO"™)

bf <- as.factor(c(1,1,1,2,2,2,1,1,2,2,2,1,2,1,2))
levels(bf) <- c("OOOO","0O0O")

print (X <- table(bf,calc))

fisher.test(X)

J

0000000000000 00000 as.factor() O levels() DOOO 20
O00000000OOfactor() 0000 1000000000000 O00OODOO
oooooooo 200

calc <- factor(c(1,1,2,1,2,2,1,1,2,2,2,2,2,2,2),
levels=c(1,2),labels=c("OO0O","000"))
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00000c10-3.R 00000 fisher.test() OO0 Op-value O 0.1189 00O
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gooooooooooooOoOoOoOoooboOoOOOO0OOO0OO0OO0OOO0O0OO0OOOObOOoOO
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0 O O International Epidemiological Association O Last JM [Ed.]“A Dictionary
of Epidemiology, 4th Ed.”(Oxford Univ. Press, 2001) DO 00000000 0OO
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goooooooooooooOoOoobooOooooOobo0ooooOooOoobooooobooboooo
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goooooboboobbooobooboobboOoobooboOooobbooOoobbOooboooOoo
0000000 (Randomized Controlled Trial; RCT)0 00000 OOOOOOO

¢000000000000000 20000000000000000000000000
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(exposure-odds) 0 0 00O
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156 0100 00000
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( 00 00 O Relative RiskO N
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10.3.3 ODOODOOODOOOOoOoOOoOoon

odooooo0oo0oOoo0oooooooooooooooo

a/my;  amsy

c/ma cmq

oobooooooooo

a/b _ ad

c/d  be
00000000000

aje _ ad

b/d ~ be

00000000000000000000MO00000 (ad)/(be)D00000
O00O0ORDO fisher.test() 000000000000 (ad)/(be) 000000
00000D0D000D000D00000Ofisher.test() 000000000000
00000000000000000000000000000000000000
0000000000000000000000000

ved 0O DOD000O oddsratio() 000 log=F0000000000O000000O
(ad)/(be) 0000000000000 D0d00D00 000000

(a+0.5)(d +0.5)
(b+0.5)(c+0.5)

O000000legsFO0OOOOOOOOCOOOOOOOOODOOOOOOOO
0000000000000 summary(oddsratio()) D00MMOO0000 1000
00000000000000000000009%%0000001eg=FOO0OOO
000000000000 confint(oddsratio()) D0 O0O00O0OOOlog=F0O
0000000000000 9%%0000000000000000 9%% 0000
O0000MOOOepitools00000O000O0O0DO oddsratio() DOOODOO
ooboooobobooobobooooboooooboooo
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oobooooboooobooboooobooooooboobooboOobooOoboOoboOoOoOooboooo
oobooooboboooboboooobooooooobooboOoobooOoobboooobooboooon
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ooooooooooooOoooooooOooboOoOoooOooOoboOooOoboOoOooOon
ooboooobobooobooooboooooboooo

1034 00O0O0OO0OODOOOO %% 0000

0000000000000 9% 000000000000000000000
ooboooooooooooooooboobo mOOme OO0OO0ODOOODOOODO
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od oooo dog
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oooo Y mQ*Y mo
oo X+Y N-X-Y N

00000000000000000000000000000000 7 =X/m0
000000000 m=Y/m O00000000000000 RR =my/m =
(Xm2)/(Ym;)ODOODO

00000000 NODODOOOOOODOOOOOOoDoooooooooooo
gbobooooooooooooooooooobooboobobobobOoboDba
O0000Bailley DO0OD0000DO000O0O0OO0DOOODOOOOO%9%% 0000
gboooboooobooobooon

RR - exp(—qnorm(0.975)\/1/X — 1/my + 1/Y —1/m,) 0000
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OO0pOO0000O0 RR=1000000000000O
10-4.
[ clo-4R B\

riskratio2 <- function(X,Y,m1,m2) {

data <- matrix(c(X,Y,m1-X,m2-Y,m1,m2) ,nr=2)
colnames(data) <- c("OOOO","ODOOCO","0O™")
rownames (data) <- c("OOO","000™")

print(data)

RR <- (X/m1)/(Y/m2)

nl <- X+Y; T <- mi1+m2; n2 <- T-nl

p.v <- 2*(1-pnorm(abs((X-n1*m1/T)/sqrt(nl*n2*mi*m2/T/T/(T-1)))))
RRL <- RR#¥exp(-qnorm(0.975)*sqrt(1/X-1/m1+1/Y-1/m2))
RRU <- RR*exp(qnorm(0.975)*sqrt(1/X-1/m1+1/Y-1/m2))
cat("000000000:",RR," (p=",p.v,

") 95, 000C0=[",RRL,",",RRU,"]\n")

}
riskratio2(4,2,100000,100000)

ooboooooboood

oooo oooo oo
oo 4 99996 1e+05
oo 2 99998 1e+05
000000000 : 2 (p= 0.4142103) 95%,0000=[ 0.3663344 , 10.91899 ]

0000 epitools 000000 riskratio() 0000000000 OOOO
oobooooboooobooooboooooooooobog

library(epitools)
riskratio(c(99998,2,99996,4))

0000000 2(Exposed2) 0O000DDOO 20 95% 0000 (0.37,109) 000
ooo

000000000000 rateratio() 0000000000000 O0OOOO
ubboboobooboooobOoooobObO0bO0b0bUd0d methodOOOODO
O0"midp”000"wald’000”boot”0 30 0000000000000 0O0O0OOO
ooooooooOoOoOooOooooooOoooooooooooooooooooo
0000000000 Omethod="wald"O0O0OOO0ODOOCOODOOOOODOOOODO
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0 median-unbiased 00 0000000000000 O0O00OOOOOOOOOOO
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
oooo

library(epitools)
rateratio(c(2,4,5%100000,5%100000) ,method="wald")

000000000000 2095% 00000 (0.37,109)00000000000
0000000000 median-unbiased 0000 000000000000000
00m

0000000000000000000 a,b,e,d00000000000000
00000 OROOOR=(ad)/(bc) 000000000000 000000000
000000000 Cornfield (1956) 000 000000000000000000
000 9% 00000000000000000000009% 000000

OR - exp(—qnorm(0.975)\/1/a+ 1/b+1/c+1/d) 0000
OR - exp(qnorm(0.975)/1/a + 1/b+1/c+1/d) 0OOO

O0O00Comfield 0000000000000 O0O0OOOOOOOOOOOOOO
0000000000000 000000000 ExactDO000OO0OOOOOOOO
0000000000 fisher.test() D000 O00O0OO0O0OO0OOROOOOODOO
O000pO00000O0OR=1000000000000

~ cl0-5.R ~

oddsratio2 <- function(a,b,c,d) {

data <- matrix(c(a,b,a+b,c,d,c+d,a+c,b+d,a+b+c+d) ,nr=3)
colnames(data) <- c("ODOQOQO","00CO","0Qd™")

rownames (data) <- c("OOO","0oo","0od")

print(data)

OR <- (axd)/(b*c)

N1 <- a+c; M1l <- a+b; NO <- b+d; MO <- c+d; T <- atb+c+d
p.v <- 2*(1-pnorm(abs((a-N1#M1/T)/sqrt (N1xNO*M1*MO/T/T/(T-1)))))
ORL <- OR*exp(-qnorm(0.975)*sqrt(1/a+1/b+1/c+1/d))

ORU <- OR*exp(qnorm(0.975)*sqrt(1/a+1/b+1/c+1/d))
cat("000000000:",0R," (p=",p.v,

") 95,0000 = [",0RL,",",0RU,"]\n")

}
oddsratio2(4,2,99996,99998)
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0000000000000 00000ORDO fisher.test() 00000 OOO
00000000 epitools 000000 oddsratio.fisher() 00 *2200 Out
of workspace 10 0000000000000 0OO0U0O0OOOOOvedOOOOO
0 oddsratio() 00000000000 ODOOOOODOOOODOOfisher.test()
000 Out of workspace 0000000000 2000000000000000
00000000000 000000000000D0000000 workspace 00O
goboooobooooboooooUoUobooOoOoOoogbobooUbbooUDbobOoOoo
/CIO—G.R N
X <- matrix(c(4,2,99996,99998) ,nr=2)
fisher.test (X, workspace=10000000)
require (epitools)
oddsratio(c(4,99996,2,99998) ,method="fisher")
detach(package:epitools)

require(vcd)

OR <- oddsratio(X,log=F)

ORL <- summary(oddsratio(X))

ORCI <- confint(OR)

M<- c("OOQooOoooogr," (p=",") 9540000 =1",", "," 1\n")
cat(M[1],0R,M[2],0RL[1,4],M[3],0RCI[1],M[4],0RCI[2],M[5])

J
gooooooooooooo

95% 0000
oo gooo gooo go oo
000000 oddsratio2()  2.00004 0.4142 0.366 10.9
fisher.test() 2.000022 0.6875 0.2866 22.11
epitools [ 2.000022 0.6875 0.2866 22.11
oddsratio.fisher() (midp 0.453)
ved 0 oddsratio() 2.00004 0.1898 0.4262  9.386

*22 oddsratio(. .. ,method="fisher") 000 OO0 0D O Oepitools 0000 DO oddsratio()
0000 midpOfisherOwalddsmall 000 4000 method D0 0000000000000
J0000000000S3method 0000000 M riskratio() 0000 rateratio() OO
0000000000000 0000000000000ODepitools00000OO0DOODOO
gooooooa
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1035 OOODOOO

200000000000000C000000O0O0000O0C0O0O0O0O0O0GCOO0OO0

00000000000 0000002000000000000000000O0O0
00000000000 0000000 (Yule)D QUOODOOODOODOODOOO
O000ooo0o0ooOooooooo vooooooooo

0000 Q 00000 -10010000000000000000000Q =
(OR-1)/(OR+1)0000000 00000

00000 (¢) 000D0OD0OO0O0O0O0O0 1,00000000000000000
0000006, 00000000000000000000000000
000¢=+/(m —m)(61 —62)000000x 000000000 kxmO
000000000000000000000000 30000 2000
00+X3/n0000000k0mOODOD0O0O0O00O0O00¢t000000
000000000 vt—10000000

00000000000000000 C 0000000000000000000
0000000000000000000000000C =+/¢2/(1+¢2%)0
00000000000000000000 +/(t—1)/t0000

000000V 0000000000V =¢/yt—10000000000000
0000 10000000000000000000000000

0000000000 00000000000000000000000 VOOooo
0000000000000 0000000000 vedOOODODO assocstats()
ooooooooOoooooobooooooOoboOoO0omooboOooooooboooo
oooooo0oo0oOoOooOoooooooooooooooooooooooooo
oooooobobooobobooooboboooooboooboobooobooobboobbbooo
oooooooboooobooboooobooooooboobooOoboOoooboOoobboooobobobooo
oobooooboboooboobooooboooOoooOobooOoOoOobooOoOoobboOooobooboooon
ooboooobooobooboooobooooooobooboOobooOoobboooobooboooon
000000000000 00000000000000000000 0.002000
gooooooooOooooooooooooooooo

require (vcd)
assocstats(matrix(c(4,2,99996,99998) ,nr=2))




166 0100 00000

1036 DOOOOODOkKkOO

2000000000000000000 200000000000000000
ooooooooooooOoooOooboOooboOoOooOoOooooOoboOooOoboOoOooboOoon
ooo0o0ooOoooopooo0ooo0o@moopoooooooooooDooooo
OO00O00O00o000O00O000D000020000000000 00 test-retest
reliability0 0 000 0000000000000 O0OOO 20000000000
000 inter-rater agreement 0000000000 OCOOOOOOODOOOODO
ocoooooooooooooooo kOODOOOOOOOOOOOOOOOOOO
O00000000ved0OO0O0ODO0ODO0OOOD agreementplot() 00DO0DOO
ooooo

2000 200x OO

1000 a b mi
100x c d mo
oo ny N3 N

000000000000000000000000000000001000
2000000000000000000000000000O0000OO000
P, = (ny-m1/N+ny-my/N)/NOOOOOOOOOD1000 20000001000 2
000x 00000000 P,=(a+d)/NOOODOOOOOOk = (P,—P.)/(1-P.)
0000000x<000000000 100000000 000000000000
000000

k000 V(k)DOV(k)=P/(N-(1-P,))000000k//V(k)ODDODOD
000000000000000000x=000000000x0 95% 00000
000000000000 00000002x 20000000000000040
00000 9% 00000000000000 ROOO kappa.test() D000
00000 x 00000000000 20000000000000001000 2
00000000000 1000100000 2000x0000000 20010
O00x020000000000030010002000x0000000 190
000000000000000000000000
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. cl0-7.R N

kappa.test <- function(x) {

x <- as.matrix(x)

a <- x[1,1]1; b <- x[1,2]; c <- x[2,1]; d <- x[2,2]

ml <- a+b; m2 <- c+d; nl <- a+c; n2 <- b+d; N <- sum(x)
Pe <- (nl*ml1/N+n2*m2/N)/N

Po <- (a+d)/N

kappa <- (Po-Pe)/(1-Pe)

seKO <- sqrt(Pe/(N*(1-Pe)))

seK <- sqrt(Pox(1-Po)/(N*(1-Pe)"2))

p.value <- 1-pnorm(kappa/seKO)
kappal<-kappa-qnorm(0.975) *seK
kappaU<-kappa+qnorm(0.975) *seK

list (kappa=kappa,conf.int=c (kappal,kappal) ,p.value=p.value)
}
kappa.test(matrix(c(10,3,2,19) ,nr=2))

J

ved0ODODOO KappaO) D00 mxmOO00000000000000O00O

0000 «0000000000*0000 confint() 00000DOOODONO
0000000000000 0000000000000000000000000
0Oo00O0oooO*o

require(ved)
print (myKappa <- Kappa(matrix(c(10,3,2,19),nr=2)))
confint (myKappa)

*220000P0c O Pe 0DOODODODO weights=0 O 0 0 000 O000O0O000O00O
0000 weights="Equal-Spacing"0 0 0 0D 00000 DOO0ODODOOODODO
0 Oweights="Fleiss-Cohen" 0 0 0 0 0D 0O O OOO0ODOODOO nec OO0
1-(abs(outer(l:nc,1:nc,"-"))/(nc-1))"2 00 0 U weights="Equal-Spacing"0 0000
000 1-abs(outer(l:nc,1:nc,"-"))/(nc-1) U000 00O000DOOoxO00O0OOODOOO
000000 2000000000000000 matrix(c(1,0,0,1),nc=2) 0000

*24 0000000000« 000000000000000009000000000000000
0000000000000 00 poor00000-0.20 slight 00000.21-040 fair00 00
0.41-0.6 O moderate 0 0 0 00.61-0.8 O substantial 0 0 0 00.81-0.99 O almost perfect O
00010 perfect 0000000 Landis and Koch, 1977, Biometrics, 33: 159-174 0000
gooooo0ooOo0oO0oo0ooooooooDOoO0DOvedOOO0ODOOO0ODOOODODODODOO
00000000000000000000000000D0D k=00000000000000
gooooooooooooo
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104 0ODO0ODOOODOOOOO ROCOO

1041 ROCOOOO

ROC OO0 O O Receiver Operating Characteristic 00000000000
oooooooboboooboboooobooooooooOooOooboooDbbooDboboooD
gboboooooooooooooooooooboobo0obobobobOoboDbo
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~

roc <- function(values,iscase) {
cutoffs <- unique(sort(values))
cutoffs <- c(cutoffs,max(values)+1)
ns <- length(cutoffs)
sensitivity <- rep(O,ns)
falsepositive <- rep(0,ns)
dist <- rep(0,ns)
aucp <- rep(0,ns)
D <- sum(iscase==1)
H <- sum(iscase==0)
for (i in 1:ns) {
cutoff <- cutoffs[i]
positives <- ifelse(values >= cutoff,1,0)
PinD <- sum(positives==1 & iscase==1)
NinH <- sum(positives==0 & iscase==0)
sensitivity[i] <- PinD/D
falsepositive[i] <- 1-NinH/H
dist[i] <- sqrt((PinD/D) ~2+(NinH/H)"2)
aucp[i] <- ifelse(i==1,(1-falsepositive[i])*sensitivityl[i],
(falsepositive[i-1]-falsepositive[i])*sensitivity[il)
}
list(cutoffs,sensitivity,falsepositive,dist,aucp)
}
N J
0000000000000000 ROCOODOOO00O0O0O00O0O0O0OO0O0OOO
gooooOoboOooOoOoooOooooUooboooboboooobo

2T 0000000000000 0000000000000000000000000000000
gooooooooOoooOooOOoOO0O0obOO0OoOOoOOoOUOOOODOOO0OODOOODODbOOO
00000000000000000000Zhou XH (2003) Evaluation of diagnostic test’s
accuracy in the presence of verification bias. In: Lu Y and Fang JQ [Ed.] Advanced
Medical Statistics, World Scientific Publishing Co. Pte. Ltd. 0000000000
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rocc <- function(...) {

res <- roc(...)

cat("cutoff\tsensitivity\tl-specificity\tdistance\n",

sprintf ("%5.3£\t%5.3£\t%5.3£\t%5.3f\n",
res[[1]],res[[2]],res[[3]],res[[4]1]))

mlcs <- "OOO0OOOOOOOO:%56.3t000:%5.3f0 "

mlcs <- paste(mlcs,"0 00 %5.3f\nAUC=%5.3f\n",sep="")

mlcc <- which.max(res[[4]])

cat (sprintf (mlcs,res[[1]] [mlccl,res[[2]] [mlcc],1-res[[3]] [mlcc],
sum(res[[511)))

plot(res[[3]],res[[2]],type="1",1wd=2,x1lab="1-000 (specificity)",
ylab="00 (sensitivity)")

lines(c(0,1),c(0,1),1lwd=1,1ty=2)

C /
gooOooOo0oooOo0oDOOoO00oDOoO0OobDOoOoUooDoOoOoUoooOo 2000000

000000000000 0000D0D0O0OD000Ox <= scan("clipboard") OO

000000000000000000000000000000 roce(x,y) OO

gooooQoQoQoQoQoQOQoOOoO 200CCoCoboooOoO010DoOoOOo0M400OO

OoQ0o087T00000O

x <- ¢(20,22,28,13,19,21,11,25,16,19)
y <- c(zrep(1,3),rep(0,7))

rocc(x,y)
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O0ODU0DUOODUODODOCRANODUDUOOOUOEpi O0ODDOOOOUDOOOOOOOO
0000000000000 0ooU0oU0ooOooDooDoO0 ROOODODOOO
install.packages("Epi",dep=T) 0000000000000 O0O0O0O0OOODO
0000000000000000000Japan(Tsukuba) 000 Japan(Tokyo) O
oooooo

1043 EpiD0O0OO0OOOOODODO

Epi 000000000000000D00000O00D Bendix Carstensen O O
0000 CRANOODOOODOODOODOODOOO0D0O00000000000*20
ROC 0O 0 O age-period-cohort 0 0 00O Lexis diagram 0000000000000

Epi0 0000000000000 000O0OO0ODOOOOOOOOODOOOOOOO

*28 0000 http://staff.pubhealth.ku.dk/ bxc/Epi/00 00
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require (Epi)
ROC(x,y,plot="ROC")

x =20.000

1.0

Sensitivity

04

02

Variable et (z2)
(Intercept) -7.820 (5.203
x 0.338 (0.241)

Model v~ x

- Area under the curve: 0.857

0.0

T T T T T T
0.0 0.2 04 06 08 1.0

1-Specificity
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Rothman(2002)*°0 0000000000 300000
l. J0000ooooooooooooooooog

2. 0000000000D0OO0O0O0OOO0OoDoO

3. 000000000000000000O
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O300o00O0O0O0000000000000000000000O0O0O0O00O000
ogooooooooo l1oobooOoO0OUOoLoOoLooUooooooo

(ClO—&R N
# 000 Simpson EH (1951) The interpretation of interaction in
# contingency tables. J. Royal Stat. Soc. Ser. B, 13: 238-241.
males <- matrix(c(4,3,8,5),nr=2)
dimnames (males) <- list(c("OO","0O"),c("OOODO","O0000O"))
females <- matrix(c(2,3,12,15),nr=2)
dimnames(females) <- list(c("OO","OO"),c("OOOO","0000O™)

total <- males+females

require (ved)
prop.table(males,2)

summary (oddsratio(males))
prop.table(females,2)
summary (oddsratio(females))
prop.table(total,2)

summary (oddsratio(total))

J

000000 Simpson 0000000000 O0OOO0OOOOOOOOOOOOO
obobooooboooooooooooboooobooobobooOoobOoobooD

*29 Rothman, KJ (2002) Epidemiology: An Introduction. Oxford Univ. Press.0 000000
00000 (2004) OODOOO00O0ODODDOOO0OODODODODMODOOOOODDODOOOOODOO
oo
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goooooboooobooooboOoO0obooOoboOoOogboooObbUoUDbobooo
goooooobobooobooobooOoooOoboOooOoboboOooDbbOoUoDbobboOoo
gooooobobooobobooobboooboooo
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000000 p39000000000000000000000*0000000
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goboooobooooboOooboooUoooOoboOooOgboOooUbboOoUbobOooo
Op=027,p=1000004000000 4000000 IDDMOOOOOOOO
NIDDMOOOOOQOOOOOooo4000000 IDDMO 046 0000 NIDDM
004104000000 IDDM O 00080000 NIDDMO omooooOoooo
OIbbMOOCOO0OOCOCo0290000 NIDDMOOOOOOo400000OQ00OO0OO
go0ooo0boo0o0obo0o0DooO00oOoOO0OoOoOOOoOOo0DbDbOOoUODDOOD
00000040 00000000 IDDMOOOCOOOO 40000000000 40
goboooooooOoboOoobooooooooobooooooo
rclO—9.R(1) N

over40 <- matrix(c(311,218,124,104) ,nc=2)

under40 <- matrix(c(15,0,129,1),nc=2)

dimnames (over40) <- list(c("OO","00O"),c("NIDDM","IDDM"))

dimnames (under40) <- list(c("OO","00"),c("NIDDM","IDDM"))

print (over40)

fisher.test (over40)

print (under40)

fisher.test (under40)

total <- under40+over40

print(total)

fisher.test(total)
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00000200 2x 2000000 under40 0 over40 JOOOOOO0DOD
0000000 3000000000x0000000000
c10-9.R(2)

x <- array(c(over40,under40) ,dim=c(2,2,2))

dimnames(x) <- list(c("OO","00"),c("NIDDM","IDDM"),
c(m40O0 O ,"40000M")

print(x)

00000000000 array() ODO00O0O0O0O0O0O0O0O0OOOOOODOOOO
OOWoolf UODDOOODOOOOOODOOODOOOODOOOOOOOOOOOOOO
oooobogoooobooooboobooooboooboooboDbobobOobobOoD
00000000000 0000Ofourfold) 0 grid00000O0O0OOODOO
layout() D000 OOOOOOOOO

(‘ c10-10.R ™\

x <- array(c(311,218,124,104,15,0,129,1) ,dim=c(2,2,2))

dimnames(x) <- list(c("OO","00"),c("NIDDM","IDDM"),
c(a0Ogg","4a0000"))

require (ved)

woolf_test(x)

mantelhaen.test (x)

y <- array(c(x[1,1,]1,x[2,1,],x[1,2,],x[2,2,]),dim=c(2,2,2))

dimnames(y) <- list(c("40000","40000M"),c("O0O","00OM"),
¢ ("NIDDM", "IDDM"))

structable(y,split_vertical=T)

fourfold(x)

mosaic (y)
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11.1.2 WilcoxonO O OO OO
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O0Mann-Whitney 0 UODDOUOOOOD 200000000000KendallO SO
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02000000 y1,42, .9, 0000

2. 000000000000000000000000D000O0*™0000n
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E(R) :ZE(P%) =m(l+2+..+N)/N=m(N+1)/2

i=1
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var(R) = E(R?) — (E(R)?)

ooo
E(R*) = E((D>_R)*) =Y E(R})+2) E(RiR))
i=1 i=1 i<j
0oDooo*o
E(R})=(1>+2*+ ..+ N?)/N = (N +1)(2N +1)/6
O
1 N ) N
E(R;R;) = m{(; k)® — ;k}
_ 1 N2(N+1)2 N(N+1)(2N+1)
T N(N - 1)( 4 a 6 )
_ (N+1)(3N +2)
N 12
0000000000000 O0var(Rx) =m(N+1)(N—-m)/12=mn(N +
1)/120000
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9. 000000000002 = {|Rx — E(Rx)| — 1/2}/\/var(Rx) 00O
O00mOn2000000000000000000000000000
20>19600000000000005%0000000R0O0O0O0O00O0
00000z 0 2z0000002%(1-pnorm(z0,0,1)) 0000000
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000000000000000000000 X0 {2,6,3,5}000 YO
{4,7,3,1}00000000000X00 Y00 300000000000

uobooooboooooooooodooodooogoooooooooon
ooooo Y XX Y 'Y X X Y

0000 o 1 2 3 3 4 5 6 7

00 1 2 35 35 5 6 7 8
11.0000000000000000000000000000*'00000
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ood1
4 R
oooooooooooooooooooo 3ooooooooooboboobooboo

0o00oooooo®o
ud oO0oooooOooOoobobOobOobOOooOoOoboOoboboDbOo

ooo

Xooooo 32 —1000%), —93, —92, —91() —90, —85, —83, —8lI,
—80, —78, —46, —40, —34, 0, 29, 62, 75, 106, 147,
1321

Y:0O0OOoo 32 —1000), —93, —89, —80, —78, —75, —74, =72, 71,
—66, —59, —41, —30, —29, —26, —20, —15, 20, 25,
37, 55, 68, 73, 75, 145, 146, 220, 1044

0000000000000 ooboboooooooooooooooo

Wilcoxon 00000000000 O0O0OO

“000Doll R, Pygott F: Factors influencing the rate of healing of gastric ulcers:
admission to hospital, phenobarbitone, and ascorbic acid. Lancet, i: 171-175, 1952.
00 Armitage P, Berry G, Matthews JNS: Statistical Methods in Medical Research
4th ed. Blackwell Publishing, 2002, pp.281. 0000000000

N J

oopo20000000000000
(011-1.R(1) N
X <- c(rep(-100,12), -93, -92, rep(-91,2), -90, -85, -83, -81,
-80, -78, -46, -40, -34, 0, 29, 62, 75, 106, 147, 1321)
Y <- c(rep(-100,5), -93, -89, -80, -78, -75, -74, -72, -T1,
-66, -59, -41, -30, -29, -26, -20, -15, 20, 25, 37, 55, 68,
73, 75, 145, 146, 220, 1044)
d <- data.frame(gr=factor(c(rep(’X’,length(X)),rep(’Y’,length(Y)))),
val=c(X,Y))
rnk <- rank(d$val)
dd <- data.frame(d,rk=rnk)
RX <- dd$rk[dd$gr=="X’]
RY <- dd$rk[dd$gr=="Y’]

J

0000000000000 D0000000D Microsoft Excel 0 OpenOffice.org
O CalcODOOO0O0OOOOOOOOOODOOOOOODOD 1DOD0O00O0O 32000
oooooooboOobooboooboOoobOoboboOooDOooboDoOobDoboobooooDoo
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ROODODO X <- scan("clipboard") 0000000000000 OODOOOODO
000000000D000D000000 ROODOO Y <- scan("clipboard")
000000000000000000000o0oo
20000000000000000000000000 rank() 0000000
000000 200000000000000000 [100000000000
O0000ORXO XOODOODOODOOOOORYD YOOOOOOOOOOODO-100
00009000001 000 170000 -100000000009000000
O0OOO00ORXORYODOOODDOODODOOOOOD 900000000
RXORYOOODODOODODOOsum(RX) 00 Ry = 8580 sum(RY) 00 Ry = 1222
O000ORYOOOOOO0O0O0O0OOOOOOOOOOOO00000000000000
000000000 0Ry 0000 E(Ry) DOE(Ry)=32x (32+32+1)/2 = 1040
000000 V(Ry) 0OV(Ry)=32x32x (32+32+1)/12-32 x 32/{12 x (32 +
32-1)x (32+32)} x {173 — 17+ (23 - 2) x5} = 5442413000000

Ry — E(Ry) —1/2
V(Ry)

= 2.460259

0 0 *13[2*(1-pnorm(2.460259,0,1))=0.01388366 0 0 00O *“ M 000 5% O
oooCoOoQoQoQoOoQo20000000000000000000000 ROOOO
oooooooooo

/(:11—1‘R(2) ~
print (sum(RX))

print (sum(RY))

N <- 32+32+1

print (ERY <- 32x%N/2)

print (VRY <- 32%32+N/12-32%32/(12% (N-2)*(N-1)) *(17°3-17+(2°3-2) *5))
print(z0 <- (sum(RY)-ERY-0.5)/sqrt(VRY))

print (2% (1-pnorm(z0,0,1)))

*13 00000 200000000000000000000000RXORYOODNOOOODOOO
joo0o0oO0oo0o0o0oooOooO0O0o00U0ooOoOo0o0oO0oU0o00oOoOoDOOoOoOoooooooO

*14 wilcox.test(X,Y,exact=F) 0000 p-value 0000 Oexact=F 00000000000
00000000000000000000000O0OO00OO0OOOOOOOO0O0DOOOO0OO
0s00000000000000000000000DODODOOOOO



186 0110 000000000000000000

(I:II:IZ ™
ROOOOOOOO sleepd 02000000 10000 2000000000
goboooobooboooobooboooooobooobooboooOobooOooboobooon
OO0 extra0000000000O0Ogroup 00000000 2000000
0000000020 00000000000000000WilcoxonOOOO
oooooo

J
oobooooboooboooobobooooobooooobod

~
attach(sleep)
boxplot (extra~group)
wilcox.test(extra~group,exact=F)
detach(sleep)

/

D000 exact=FO00O00000COOO0O0O0OOOCOCOOOOODOO poOQOO
Oo0o00000O00000000O0OO00000OOOOO0OO0O0O0S000000O0
ooooooobboooboboooobooboooooooboobooobooobbooobbooo
00000000000 0000000000W =25.5,p=0.0690002000
0000000000000 00D0O00DO00D0O0D S%0000000O0000
ooooooooog

1113 0oO0O0000

0000000000000000000000000000000000000
000000000000000040000000000000000 s(R;)00
0000000000000000¢>[(N+1)/2/000 104i<[(N+1)/2]00
000000000000000000000000000000000000

mO00000000 X02000000000Y0OOO0OO0OO N=m+n00
0000000000000000000000000000000000000 2
x 2000000000000

X Y oo
0oo0oo0oo H (m+n/2)—H (m+mn)/2
0000000 m—H H+(®m-m)/2 (m+n)/2
oo m n m+n

00000000 HOm/2000000000000000000
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Pr(H = 1) = 2Chr - nClminyja—nfminClminy2 000 Pr(H > ) 00000
obod2000000000000D0ODODODODODODODODODODO
0000000 0Omedian.test(rnorm(100) ,rnorm(100)) OO OO 200000
gboboooboooooobooooooooooobo0obO0obOobOobOobOoDbOoDbo
00000000000 WileoxonDOOOOOODODODOOODODOOOOODOOOODO
ooooooooooono

~
median.test <- function(X,Y) {
M <- median(c(X,Y))
fisher.test(cbind(table (X>=M),table(Y>=M))) }

)
oo 3 B
002000000000 sleepOOCCCDODOOOOOOOOO )

ogobooooooboooxcooooooooooooooooooboooboobooo
median.test (sleep$extralsleep$group==1],sleep$extralsleep$group==2])
OO0O0Oo0O0O000000o00O0Oo0o0ooo0o0n0n0 p-valueO O 018000000
00 5% 000000000000000
Kcll—Q.R ~N

attach(sleep)

X <- subset(extra,group==1,drop=T)

Y <- subset(extra,group==2,drop=T)

M <- median(extra)
fisher.test(cbind(table(X>=M),table(Y>=M)))
detach(sleep)

1114 ODOOOOQOOOO

0000000000000000000000000000000000000
00000000000000000000000000000000000000
0000 +¢0000000000000000000

00 X0O00O0i000¢i0100 2000000000000 z; =¢,46;000
0000006 00000 6;0000000000000X0Y0O00000O00
00000000000 X-YOOO XO0YOO0OoOoOOoOoOoooooooooao
0000U; =a2;,—yi=e;—e;, D000000000000000¢;0 e, 0000
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000000D0000DU;0000000000000000000000OU;000
000000000000 R,O00D000000O0¢; =1(U; > 0),¢; =—1(U; < 0)
000000000000 Pr(e;=1)=Pr(e;=-1)=1/20000000

R = i 61‘Ri
=1

O0000OR*0000O00O0DOOOOOOOO0

0000000 00000000 200000002"0000000000
0000000000000*0,0000000000000000n>1500
0000o0o0ooo0o0oO0oO0ooo0oR*O0O0OD0OO

E(R*) = iRzE(El) = iRz(l X 1/2+ (*1) X 1/2) =0
i=1 i=1
ogo
var(R*) = ZRizvar(si)
i=1

n

=Y R2(1? x 1/2+ (-1)? x 1/2)

= ZRﬁ =n(n+1)(2n+1)/6

oobooooboooobooooooo

|R*|—1/2
var(R*)
goooooQoQoQoQOQOQOOO0OO0OOO00O00O00D0OUOROUODOOODO 2000

D000 X0 YOOOODODODOOwilcox.test(X,Y,paired=T) 00D OOOO0
O0ooo*eg

*150000000000000R. A. Fishee 0000000000000 (permutation test) 00
000000ROOO0OO0OO0O exactRankTests U0 U000 perm.test() 000000
*16 00000 exactRankTests 000000 wilcox.exact() D00 Dpaired=T00O0O0D0

0000000000000000000
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(IZIIZI4 ™
pgoooooooooo9oooO0o0oO0O0oOoOoOoOOOO0OO0O0DODOODOOOOOO
000oo00o0o0oo0ooo0oo0oooo*00000oo0o0ooooooOoooo
0000Wilcoxon JOOOOO0OD0O0D0O0O00O000OO

ooo 1.83 0.50 1.62 248 1.68 188 155 3.06 1.30

ooo 0878 0.647 0.598 2.05 1.06 1.29 1.06 3.14 1.29

%00 : Hollander M, Wolfe DA (1973) Nonparametric statistical inference, New York:
John Wiley & Sons, pp.27-33.

N J
0do0o0bOobOOobO0obOobOOooOoboOobOOobOOobOooOobOoooOooOoobOobOoon
0000000000000 ooooDoooXOoYOoooooooooooooo
gbobooooooooobOobOobOobOobD+oboboooobobOobOoDbo
goobooboobooooooooooooobooboOoboobobOoboDbo
cl1-3.R
X <- c(1.83, 0.50, 1.62, 2.48, 1.68, 1.88, 1.55, 3.06, 1.30)
Y <- ¢(0.878, 0.647, 0.598, 2.05, 1.06, 1.29, 1.06, 3.14, 1.29)
wilcox.test(X, Y, paired=T, alt="greater")
# wilcox.test(X-Y, alt="greater") 00O

112 O0O0OOOOO0ODOOOOOOO

1121 0O0O0DOO0ODO0OOO0OO (Kruskal-Wallis) 00O O

oobobobooboboobooboobooboooobooooooobooboboboo
goobo0ooobO0ooOoOobOoboOoOobUObOU0OoDbO 20000100D00O0OD
goboboooooboobobbooobbooobobbooobbbooooboboo
oooool1oo0p2p00000bO0ob00O0DbODOOObOOObODbDOoDObDbOOD
Wilcoxon 0 0000000000000 0OOO

0000000000000 00000000D0 (Kruskal-Wallis) 0000000
00000 X000O0O0O0O cO00000000000D0DDO0OOkruskal.test(X™C)
goooooooooooboooobooooooboooooboboobobobooa
gooooooobboboboooooooooooodooobboboboobooo
Fligner-Killeen 0 O O (fligner.test(X"C))0000000000000OOO
O00000000000000000Kruskal-WallisOOOOOOOOOQOoooQ
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0110 000000000000000000

ooood

1.00000000010000000000000000O0OC0OCOOOOODOO

5.

ogsb

obooooboooobooooboooooboobooobobooobo

.00200000000 WileoxonOOOOOOOOOOOOOOOOOODO

00000000000000000000000000000000000
00m

000000000000000000000 R(i=1,2,.,kk0000)
ooooo
0000000000000000000 n; 00000000000000
0 NOOOODODOOOOOOOOODO B; O By =ni{Ri/n — (N +1)/2}2
oooooDO00

000 BOOODOH=12-B/{N(N+1)} 000 HOOOOOOOOOO
000000D000000000000000000000 20001000
000000000000000000 ADDOO
H
H =
1—A/{N(N2-1)}

000 HOOOOOO HODOOoOOO

HOOOD H'OD0O0OD0O0O0OO0D00D00000000000000000000
00000oo0O0o0o0ooo00k>400000000000000000
0040000000 k=30000000000000000000 500
O0O0DHO H'OOOO £—-100000000000000000000O0O

ROODODOOD chickwts JODOODOOODODO (feed) DODOD6G6000O
0000000 (weight) 00D0O0OD0O0ODOODOODOODOODOOO
oo

ooboooobooooboooooboooooobooooboOooobooboOoOoOooboooo
000000000000 000000O0Oboxplot) DODODOOOOODODOOO
000000000000 0200000000
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cll-4.R

attach(chickwts)

boxplot (weight~feed)
fligner.test(weight~feed)
kruskal.test(weight“feed)
detach(chickwts)

1122 000000 (Friedman) 00O

gooobooooooooooooobobooooboboobooobooboDbOooDo
(Friedman) 0000000000000 DOODO0ODOOODOOODOOOOODOOOO
goooooobOoobooobooobooboobOoobobooobDboobooooDo
0002000000000 2010000000 20250000000000000O0
gboobooobooobooobooboboboobmoobobbooboboobobo
000000000000 000oo0ooooooo0oU0oooooooooDoOooO So
gooooobobooobooobooooobobooobooboobobooboDboo
goooooQoooOoooooooooOoOoOoOOOOOOO 1000000000
000000 @O SO 120000000000000 1000000000000
gboboooooooooooooooooobooboobobobobOoboDba
0000000000000 00000000000RO0O friedman.test() OO
0000000 O0DO example(friedman.test) 0O OOODODODO

gboboboboboboboboboobooboboobooboboboboboon
goooooobooboooboooboooooOooobooobOooDbboobobbooo
(Repeated Measures ANOVA) 000000000 OO0DOODOOOFriedman O
O00000000000000000000 Repeated Measures ANOVAO O OO
gboboooooboooboooooooooooooboobo0obobobobOoboobo
0000000000000 000000000D0D0DO0O000U0OD00 (mixed
mOdel)DDDDDDDDDD*17DDDDDDDDDDDDDDDDDDDDDDD
gbobobobooboobooooooobooboobobobobobobOobobo
ooooooooooooooooo

000000000000 0000000000nlme 000000 Ime() 0000000000
B.OO0OO0DDODODOO0O0OODDOODMMRO S-PLUSOOOO00O0DDOOOODDOOOOODODOO
2007000 90000000000
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1123 000OO

00000000 20000000000000000000000C0O0O00O0O
0000000000000 000000000000C000O000 1000000
0000000000 1000000000000 OHolm 0000 Bonferroni 00
00000000000 Tukey D HSDOOOOOOOOOODOODOOOODOOO
O00OROOOOOOO XOOOOOOO cOO00Opairwise.wilcox.test(X,C)
oobooooooogoxcoooox,cuobouoboooomoooooooooon
ooboooobobooobooobooooooOoboooooo0ooboboOooobooboOooon
ogoooooooooooOooooOoUooooooooooooooooooooo
OO0O00OO0O0O000O000O0Ob0exact=FOOOOOOOOOOOOO

ooge

OO0 50 chickwts OO O O0O0O0O0O0O0OOOOOCOOOOOOOOOOOOO
uobbooobooobooooo

0000000000000 00000000000DODOo00DoDoDoDoooooo
O0exact=F 0000000000000 0OOOOOOOOMO

cl1-5.R

attach(chickwts)

pairwise.wilcox.test (weight,feed,exact=F)
detach(chickwts)

113 OO0

http://phi.med.gunma-u.ac.jp/msb/data/pll.txt 00000000 300
00000 GrPUODOO0OO PODOODOOCOOO10000O0MOOOOHOO
0000000000000 3000000000000000000 PARITYODO
0000000000000 00M o000 300000000000000000
0000000000000 000000000000000000 5% 00000
gboboboboobobobooboobooboooooobooo
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121 OO0O0OO0ODOOOOOOO

gooooooboobooboobooboobooboobooooboooo
gbobooobooboooboobooooooobooboobobobobobobOoboobo
gbobobobooboobooobooooobooboobobobobobobOobobo
gboboboboobooboooboooooboobooboboboboboboOobobo
ooooooooooo

goboboboooboboobooobooooooboobooboooLooboboboboo
0000000000 (Generalized Linear Model) 000000 OO

Y =B+ 08X +¢

000000000 0Y 000000 0XO0000O0O0O00000000000
OMp00000poO0000e0000000mMU00OoOoOooooUooog
goboooobobooobbooooooooooooooboooobooooboooon
oooooo0ooOoOoOooOooooooOoooooooooooooooooooo
ooooooobooooboboooobooooooobooooobooobbooDbobooon
oooooooboooobooboooobooooooboobooOoboOoobooOoOoobboooobobobooon
ooboooobobooobobooooboooooboOobooOoboOoobooboOoobboOooobooboooon
O0D00D00*MRODOgm() OODODOO0000D0D0O000000ODODOOOO0
oboooboobobooobobooobooobobOoOoobobOobOOooOOoboooan

*lopooo0oo0o0O0O0O0ooO
*200000000000000000000000000000000000000000000
oooooooo
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0000000000000 0OoCRANODOODOOODOODODOODOUOOUOOO
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
00o0000oO00o0o0o0o0oOo0oo0o0o@o0ooo0oo0o0o0og n1sO©
oooooooooooo

122 O0O0OOOOO
RO glm() 0000000D000000000000O00O0

(1) COOOODX10X20000000YOODODOYODOOOOOOOOOO

(2) (HOoOoooDOODOOOODOOOOOOODOODOOOOODODOOOO

(3) datOO0OO0O0ODOOOOOOOODYDDOOOOOODOOOOOOOODO
ooooooooooooyo 20000000O0O

(4 0O0O0OO0O0OO0OO0OOO0OO0O0OCi0C200000000000000O0O0O0ODOO
oobooobbooboyoooooo

oobooooboooooooooooooo

glm(Y ~ X1+X2)

glm(Y ~ X1+X2-1)

glm(Y ~ ., data=dat, family="binomial")
glm(Y ~ C1+C2+C1:C2)

family OO0 000O00O"gaussian"OO0O0O0 200000 familyOOO0O
ooooooooobOoOoO0oooodobooodoboUooooboooboDbDboOooon
00000000000 0000 (1)00000 1Im(Y ~X1+X2) 0000000
summary(Im()) 00 0000000000000 O0O0O0OO0OOOOOOO0OOO
0000000ooooooO0o00U0OooOooooOOo0o0oDOooOomMOOOOOO
000004 0000000000000 D0D00ImM(O 0000000000000
uoooooobooooobooobooboooooOooobOoOoboobOooboooDooOoo
+xJ 0000000000000 M@O0O0DOCc1xCc2000000M4)D0ODOOO
0000000000000 DOanova(lm(Y ~ C1xC2)) DODOODOODOO0DOOOO
gobooooooooooOooOoOoOooooOoooooooooooooooooo
oom
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(DDDDDDDDDDDDDDD N

goooooooOoooooUoOobOoOo0Oooo0obDooUOOoOoUoDoooooDooo
goooobooboooooobomoboooooboooooobooboOooboboobboOoooono
goooooobooboooooboooooboboooooooooOooOoooboooooboboonoo
0000o000oooooO Typel OOODOODOODODDOODOODODOOOODOOOODOO
0000000000000 00000000000Typell OO TypelllOOOOO
ooo

O TypellOODOOOU0ODOOOOOOOOOOODOOOOODOLDODOOOUOO
000000 1000000000000 0oooOoOU0DUDOooDoOoOUUUOoDO
0000000000000 0000000000D0O0000000O0Type IT SSOO
00000 2000000000000000000COC000O0DOOOO0O0OODOO
gooooobooobooooobooooDboo

O TypelIDO0O00O000O0O0OO0OOO0OOODOODOOUOOODODODODODODODO
gooooboobogoobobooboooboboooboboboobobobobobobobDoo
00000 TypelIDODO0ODO0ODODO0ODOODODOTypeIVO SASOODOODODODO
000000000O00O000oOoOooSASO0O0O00OOOOoOO0mMoOooooon
0000000 Iooooo0o00o0000o0oo0000 MANOVAOOOOOOOOOO
000 Type IDDO0O0OO0O0OO0O0DOOOOOODODOOOO TypelO TypellOOO
J000000o0000o0U0O00OUo 60000000 D IMLO Type IIIOO
gooooooooooooooo

OROOODOOOOOOODOOOOOO anova() 0 aov() OO TypelOOOOOODO
O000Oanova(lm()) 0 aov() D000 0O M car 000000 Anova() OO Type
11000 TypeIIDOOOOOOO type="III"OOOOOOOOOOOOOOOOCO
000000Olibrary(car) 0000 help(Anova) D00 OAnova() OODOODOOOO
Type I1 0 SAST Type 100000 Type HI00D00000000O000000
O0000Ocar 000000000 John FoxOOO “An R and S-PLUS companion
to applied regression.” (SAGE Publications) 0 p.140 0 Type III00 000000
00000 ADO0DOOOOOO BOOODOOOO AODOOD BOOODODODOOOOOO
0000000000000 0O0D00000O0O00OO0O0O000D ADOODO
gooooo TypelllOOOOOOOOOOOOOOO
J00o0o0ooOoROOOOODOO0DOO0OOOOOOODOOOOOOOOOOODOODOO
0000000000000 Llibrary(car) 000000 Anova(lm(Y~™C1xC2)) O OO
O TypellDO0OODOOOOOOOOOOODOOODDOOOOOOODOOOOOOODOO

0000000000000 0000000Ores <~ glm(Y ~ X1+X2) OO
ooooooDbOODbDOOODODODOOO0 resO00O0O0O0OODODOOOODDODOO
plot(residuals(res)) 00D D000 0O00D00OO0Osummary(res) 00000
OU000UO0O0ODO0OO0UODAIC(res) U0 AICOUODOODOOOUstep(res) DO OO
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123 000O0ODOODOOODOOODODOODOOOO

oobodoooboobooobodsooboobboooboobooooobooboooooo
oooooooo0ooooooooooooooo

ooo 00oo0 (Y) 0000 (X)

t0000 10 o0OoD010 200010

nfufalufslufsls 000010 00000010
000000000020 000010 00000000

0ooooooo 000010 000010

ooooo 000010 00000000 30

ooooo 000010 0040

00000000000 200010 200000000000000000
0oooooo 000000 000000

0010 WelchOOOOOOOOO

0020 0OOO0O0OoOoOoOoOooOOO0OO0OO000000000 20000000000
0o00030000000000000000000O0O0O0000O0O0COOO0
oobooooboooooooooooobooooboooboboobobooon
gboooooobooooboobooobooOo0obboobOooOoobbooD
TypeIOO TypeIVODO 40000000000000O0O0OOOOOO

oom

0030 000000ooooooooooooooOoooooooOOOOODO
doooo0o0o0o0ooOoooooooooooooooo

0040 20001000000 100000000M@Mm200000000000
ol1ooo0oooo0ooOoOoOobooo 10000000000O0OODOODODO

oobooooooobotooooooobobooobbooboobooobobooooobo
ooooooboooobooboooobooboooooboOobooOoboOoooOoobboooobobobooon

ooboooobooobooooo
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124 0O00O0OOO0ODOOOOOO

cooooooooo 1oooOoO0O0O0O0O0O0O0OO0OOOOOOOOOOOOOOO
oooboooobooobobodooobobooooboobooboobooOoobobooooboboooon
ooooooooooooooooogo

oooboooooboooooboooooboooooboobooooboooobooobooOoooobooOooo
oooooobooooboboooobooooooboobooOooOooobooobboooobbooon
ooboooobobooobobooooboooooboobooOoboOoboboOoobboOooobooboooon
oobooooboboooboobooooboooooboOobooOoboOoboboOoobboOooboboOooo
ooboooobobooobooobooooooobooooooOooboboooobooOooon
goooooooooooOoooooUoOoOooooooooooooooooooo
ogoooobooooooooooooooooooooooooooooooooo
oooooobobooobobooooboboooooboooboobooobooobboobbbooo
oooooooboooobooboooobooooooboobooOoboOoooboOoobboooobobobooo
ooboooooo

ooooooooobooOoooOooooooOoOoOOOOOOb0 2000000000
AlCoOooooo

bgoooooooooooooOooooOooooooooooooooooooo
oobooboboboooooooooooooooooooooooooooooooo
ooboooobooobobooooboooooooobooOooOoooOo0oobbOOooobobooon
ooboooooboooooooboobooooobobooobOotooooOoboOobooooon
oooooolooooooooooobooooooooooooooooooooo
ocooooooooooooooobooOoOooOboOOoOb0 2000000000000
0000000000000 000000000000000000000000

* 0000000000000 00000000000D00000000000D00000000nO
J000DRO0ODODDOOOO0OOO res <- Im(Y " X+Z) JO0O0OO0O0OOOOOOOOOO
00 coef (res)*c(0,sd(X),sd(2))/sd(Y) DO0OODOOO coef(res) 00D OOXOODDOOO
00zO00O0ODOOOO0OO0OO0OO0DO0O0O0O00000000000000000001mO) 000000
000000000o0oooddsda) D0000O0O0OOOO0OOOOOOOOOOOOOOOOOO
00000000000000 subset() O complete.cases() 0000000000 0O00OO0
00000000000 coef(res)*sd(res$model) /sd(res$model[1]) DD OO OO O OODO
J00000000000000000000O0O00ODO0O0ODDOTres$model[1] OO OOOODOO
0000000000000 00O0Ores$model[2] DO0ODO0OO0DOOOOOODOOODODOO
goooooooooo
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125 00000 (multicolinearity)

gojooooboobobbootbodoooooddgobbbobbboboodoUUoUoUo o
000000000000 00o000oO0o0o0ooO00oOoO0ooDoooooooo
000 ydooooooooo x1iodxdodoooooooooooooooooo
Im(Y ~ X1+X2) 0000000000000 0000000O0O0000O X110 X200
Jddddoooooooboboo x1 0o ogoooooooo
Xjoddoobooooobobooooboboox2ddobobbooooooooa
godbobbboooooooooobbobobbbboooooobbbboUooooUo
000000000000 00o00oU0o0o0o0ooOo0UoOo0ooooooUooo
0000000000000 0000D000000000 (multicolinearity) 00O
ogoo

0000000 DO00o0oODO00o0oODOo0O0oDODO0o0o0DOOo0ooODO 100000
0dobooooooboooboooboboooboboooboboooboboooooao
go0ooobo0o0ooO0o0ooObO0o0o0ObO0oO0oOobDOoOoobDOoOooDbOoOo 200 10
000000000 VIFO Variance Inflation Factor; 0000000000000
000000000 00OOoVIFOD 10000000 O0oo0o0oooooooooooo
0000000 Armitage et al., 200200 000000000000000000OO
O0o0oooDbDBPOOOOOOOOSBPOOOOOODOOOODOODODOODOODO
0000000000000 00DO00O000O0DOO020000000000000
gooooooboooodoogoooboboooooooooboooboobooooog
gobbbbooodooouooooobbboooooUoUgobbboooo o
O0O000O0O0OOecentring0 00000000000 OOOROO MASSOOOOO
0 Im.ridge(O000000000O00OOOOOODAAGOODOOOO Maindonald
and Braun, 200300 vif() 00 O0000000OO VIFOOOOOOOOOOO
00*o

*4 0000 Armitage et al. (2002) 00 000000000000000000000000000
oo
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(, oo1 ™
ROOOODDOOODOOODOOO0OO airquality0019730 50 1000 90 300
00 15400000000000000000000000000000DO00O0zone
Oppb 000000000 Selar.RODOOOODOOODO 80000 12:00000
400000 7700 0000000000000 000O000O00O0 LangleyOOODOOO
0 M wWind0 LaGuardiaO0 OO0 7:0000 10:000 000000000000 [0 Temp
oobooOo0O0o0000MMenthOD OMDayD OO O OO0

00000000000 000000000000000D0LaGuardia0 0000000
goooooooooooooooOoOoOOOOOOOOOOOO0OO0OO00O0

J
000000000000 030000000000000 Armitage et al. (2002)

oooo VIFOOOOOO ROOODOOUOOOOoOooooooooooooog VIF

0000000 VIFOOOOOOOODAAGODODOOODOODOO VIFOOOOOoOOo

O00m(O 0000 resO0000000Orequire(DAAG) 0000 vif(res) OO

0003000000000 VIFOODODOOO

KClZ-l.R ~N

attach(airquality)

res <- 1lm(Ozone ~ Solar.R+Wind+Temp)

VIF <- function(X) { 1/(1-summary(X)$r.squared) }
VIF(1m(Solar.R ~ Wind+Temp))

VIF(1m(Wind ~ Solar.R+Temp))

VIF(1lm(Temp ~ Solar.R+Wind))

summary (res)

coef (res) *sd(res$model) /sd (res$model [1])

AIC(res)

detach(airquality)

N J

30000000 VvVIFOoOOO 100oooooooooooooooooooo
O00O0O00Osummary(res) 0000000000000 0O0O0O00COOOOCODOO
05%00000000000003000000000000000000O000O
0000000000000000D0O00000C0O00000O0O0000O00001
obooboooooboooobooooOoooboooboOooobOoobobObOoobooD
0000000000000 0000oUoUooO0OSelar, RO Temp OO OOOQOO
00000000 WwWindOOOOOOOOOOOOOOO0OO0ooooooooooo
oobooooboobooobobooooboooOoooOobooboOoooOoobboooobooboooon
OMO00Adjusted R-squared0 0000000000000 20000000
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0000000000000 00 3000000000000 D0O0OD 60%000
oobooooobod

~
Call:
Im(formula = Ozone ~ Solar.R + Wind + Temp)
Residuals:

Min 1Q Median 3Q Max
-40.485 -14.219 -3.551 10.097 95.619
Coefficients:

Estimate Std. Error t value Pr(>|t|)
(Intercept) -64.34208 23.05472 -2.791 0.00623 *x*
Solar.R 0.05982 0.02319 2.580 0.01124 *
Wind -3.33359 0.65441 -5.094 1.52e-06 **x
Temp 1.65209 0.26353 6.516 2.42e-09 *x*x
Signif. codes: 0 ‘“**x’ 0.001 ‘*x*’ 0.01 ‘x’ 0.05 ‘.’ 0.1 ¢’ 1
Residual standard error: 21.18 on 107 degrees of freedom
Multiple R-Squared: 0.6059, Adjusted R-squared: 0.5948
F-statistic: 54.83 on 3 and 107 DF, p-value: < 2.2e-16
j

00 coef(res)*sd(res$model)/sd(res$model[1]) DD DD OOODOODOO
gdboboooboobooobuooobboobobbooobbuooobbooboboo
000000000000 00o00oU0o0o0o0oo0o0oUoo0ooDooooUooo
O00O0oo0oOoooooooo

(Intercept) Solar.R Wind Temp
-64.3420789 0.1638655 -0.3564122 0.4731461

ooooooboooobooooobooooooboobooboOoooboobooOobooobooOooo
0000000000000 ooAICOU0OOOoOooooo

U.goooooodooobooooooooooooooooan
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gooo 00000 O0O0ooOboooo t0 0000

oo —64.3 —  —=2.79 0.006
Solar.R 0.060 0.164 2.58 0.011
Wind —3.334 —-0.356 —=5.09 < 0.001
Temp 1.652 0.473 6.52 < 0.001

Adjusted R%: 0.59, FO 54.8 (000 3, 107)0 p < 0.0010 AIC: 998.7
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0000000000000 o0O0O()DooUDbOoOobDOOoUDDODOoOoDDDOoOD
000 (2)00000000000000D000000DO00O0000DOOooO
ooooooooooooooooo

0000000000000 000000000000000O0OO0O0 2000
ooooooboboooobobooooboooooboooboobooobooobboobbooo
oboboooboooobooooobooboboobOooOoOoobobOOobOOooOOobOooooon
O000000ooUoOooAICOOOO

126.1 OO0OOOOOOO

0000o000o0o00o00o0o0o00o0o0o0oooUo0ooooooooOo
00o00o00bO0o0oo0o0o0o0o0o0Oo0oO0ooooDo0DO0oOo0DooooO
gooboboboooooooooooooooooboobobobOobOobOoDOa
000000000 res000000D0OD00OO0O0OWiIndOODOODOOOOODO
O00000O0O0O0O0O0OD0OO0ODOOOOplot(residuals(res) “res$model$Wind) O
gboboboboooboobooboooooooboobobobobobobobobo
goboooboooooooboobooboobobob0o@oboobooDoOoDboboOoD
000000b00000O0000000o00O0o00o0oDo0oODoo0DooooO
gooooboooboobooboobooboobOooboOobooboobooobo
plot(residuals(res)) 00000 ODOOOO0OOO0OOOOOOOOODOOOOO
obooooooooooo

gbobobobobobobobooboobooboobooboooboobobooboon
0000000000000 0000 predict() JODOO0OO0O0OOOOOOOOOO
Owind0OOODODOOOOO 9%% 0000000000000000000000
0000000000000 000000000000000000WindOOOODO
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0zone 000000000000 O000O00OO0DOOO0OODNOOOOOOOOO
00000000 9% 000000000000000000000000000
0000 10000000000000000000000000

~c122R N

attach(airquality)

res <- 1lm(Ozone ~ Solar.R+Wind+Temp)
EW <- seq(min(Wind),max(Wind),1len=100)
ES <- rep(mean(Solar.R,na.rm=T),100)
ET <- rep(mean(Temp,na.rm=T),100)
Ozone.EWC <- predict(res,list(Wind=EW,Solar.R=ES,Temp=ET),
interval="conf")
plot (0zone~Wind)
lines(EW,0zone.EWC[,1],1ty=1)
lines(EW,0zone.EWC[,2],1ty=2)
lines(EW,0Ozone.EWC[,3],1ty=2)
detach(airquality)
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0000000000000000000C0O00000000C0000O0 3000
oooooo 100000 2000000000 30000 20000000000
goooooooooooooooooopOOoD 20000000 O0O0O0O0O0OO

oooo

0000 f(=6) 0000000000000 000O0OOO0 {x1,29,...,2,y 000
00060000000L() = f(21,0)f(22,0) - f(z,,0) 00000000000
00000000 00000000D000000L(0)00000DODO0000 00
0 é0000000000000000000000OO0 L(P)OOOOOOOOoOoo
0¢0000000000000000 (MLE; Maximum Likelihood Estimator*®)

*5 MLE O 0 Maximum Likelihood Estimationd 00 0000000000000 0000000
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oobooooboboooboboooobooooooobooOoboOoboboOoobboOooDboboooon
O00o0o0oooOoooooodUiOoUOOO0ODO0oUOUDOOOOOOoDAOOO
0OlmL(¢)D000D0O0O0O00OO0OO0O0ODO0O0O0ODOO0OOOOOOODOOOO
ocoooooooooooOoOoOoOoOOOOpOOOOOOOOOOOOOOO00O0
ooooooobooooboboooobooooooobooooobooobbooDbobooon
00 (199%) 00000000
obobooobooooobooobooooobOobOOoboOoOobOoOOobOOoOOobOooo
0000000000000 0000000000000-200000 A0000O
obobooooooooooobodoboooobOooOoobOooOoobOooOoooaonn
Ooo0o0O0O00000 2000000000 30000000000000000
1000000000000000C0O000O0O0OO0O0OCOOO0OO00GOO0O0O0ORO
O0loglikO OO ODODOOOOODODOOOODOOODOOOODODOOOODOODODOO
ooo
oo 2

oolooooOoO0OO0O0000O0O00OOOOOOOOOOOOOOOOOOOn
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00000000000000000000000000 10°°000000000
00005%00000000000000000000000200000 300
00000000000000
~c123R ™

attach(airquality)

res.3 <- 1m(Ozone ~ Solar.R+Wind+Temp)
res.2 <- 1m(Ozone ~ Solar.R+Wind)

lambda <- -2*(logLik(res.2)-logLik(res.3))
1-pchisq(lambda,1)

detach(airquality)

N J

00000000000 000 () 0000000000000 0O0O0000O
0002000000000000000000000000000 glm()O0O0OO
0000 nls()OO00O0O0O0OOOOOO
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1263 AIC: 00000000 OOODOOOO

O0oo0ooAlICOO0O0OO0O0OoUOo0oU0O0o0oOoooooUOoUOoOooOo
O00o0o0000oO0000o000oO0o00LO000000n0000O0000000

AIC=—-2InL +2n

O00U00oOooAICO0OO0OO0O000OO0OOOU00OO0OOO0U0ODOoOooOUOoOooooOn
ogo

ROOOAICO OODODOODO extractAICO OODD 200000000000
“Akaike’s An Information Criterion” 000000000 DO “The (generalized)
Akaike ¥ A*n *I*nformation *C*riterion for a fitted parametric model” O O O
0000000000000 00D0D0000QOextractAICO O MASSOOOOOO
00000000 S4000000000000000000O0O0OOOOOOOO
0000 stepO) 000000 DOOOOOODOODDOOOOOO

000000200000 2000000000 AICOOUDDOOUOUMOAIC(res.3)
gpoooo

-2*logLik(res.3)+2*attr(loglLik(res.3),"df")

0000 998700000000 0extractAIC(res.3) 0ODO0O 681.70000
res.2000000000OAIC(res.2) O 1033.80extractAIC(res.2) O 716.80
0000000000000 O0 300000000 AICOOO0DOoUooooooon
0000000 AICOO0OO0O0O0 AICOOO0OO0ODOOO0OOOOOOO0OO0OOOooon
0000000000000 0O00O00000D0 extractAICO) OO0 step() O
0oooooo*so

*6 http://www.is.titech.ac.jp/ shimo/class/gakubu200409.html0 00000000000
O00oROD0OO0OO0ODO0OOO0OODOO0O 8000000 D0DOUUO0OOD0OO0OODOOOODO
Oo0oo0OoAIcO U000 —2lnL+200L 0000000000000 O00O0OOO0OOO
gooooOoO0oooOo0o00o00O0O0000000 nO0000000 pO000D0 cOO0OOOOO
000000 n(l+41In(2r02)) +2(p+1)000000000000000 0 extractAIC()
EII]DDEII]DEII]DDDDDEII]DDDDnln(02)+2pDDDDDDDDDDDDDDDD
n(l+In(27))+20000000000000000000000000000000O00O0OO
goooooOoOo0oOooooooOoO0OO0oOoOoOoooooboooon
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gooooobbobobbbbooooooooooooooooboboboDbDoo
step(1lm(0zone~Wind+Solar.R+Temp)) DO OO Ostep() DI DD OOOOODO
0000D000D00000000*000000 (direction="forward")0O 0O
00 (direction="backward")0 OO OO0 (direction="both")O0 O OO OO0O
O00000Odirection="backward"U 00000000000 OOOOODOODOO
O000000000stepO 000000000 DOOOOODOOOOOOOOOO
O0000000 step(O 000000 OOdirection0000000OOOOOO
gogo

O0000000OOress <- step(lm(0zone~Solar.R+Wind+Temp)) 0O OO0
300000000000000 AICO0DO0 6200000000000000
O000000D0 ress0000000000DOOOODO AICO step() DOODO
0000 extractAICO 00000000000 OODODOO AICODDOOOOOO
000000000000 AIC(ress) 00000 OO0ODO0OO OODOOOO
000000000 11100000000zone O Solar ROODOODOOOOOMM
AIC(ress)-111x(1+log(2*pi))-20 0000000 681.71270 00000000
step() 00000000 OOOOOOOUOOOOOOOUOODOOOOOUOODOO
ooooooobboooboboooobooooooobooboooboobbooDbbbooo
obobooooooooooo

c12-4.R(1)

attach(airquality)

res <- 1lm(0Ozone~Solar.R+Wind+Temp)
ress <- step(res)

summary (ress)

AIC(ress)

ooboooobooobobooooboooooboobooboOooooobooOoOoooboooo
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
gobooooooooooOoOoOoOoOoooooooooooooooooooooo
ooooooobobooooboboooobooooobooooboooboobbooobbooon

*egn() DOODDODODDODODDOOD0DD0O0D000000D00000 AICO0DD000000O00n
0000000000000 D0000000R-25.0000000000000000
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ooobooooboboooboboooobooooooOobooboOobooOoobboOooDboboooon
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
oooooobooooboood
ooooobo0o0oOoOoooooooooOooooooooooooooooooo
ooboooooboooobobooooboooooobooOooooobo0oobboooDbobboooD
oooooobooooboboooobooooooboobooOooOooobooobboooobbooon
ooooooooooooooooooooOoOOOboboobobo 100000200
ooo3ooooon.... gbobooooooobooobooooboooooooooooo
ooboooobobooobooobooooooobooooooOooboboooobooOooon
O»00000nrn-1000000000000000000O00COO0O0COOO
ooooooOooboo0o0oooo0o0oo0o0or»—-100000000000000CO0O0
Oo0n0O0000»—-1000000000000000000000000000
oooboooobooooboooooboooOoooobooOooOoobooOooboboooobooboooon
00000000000 D AlICO0o0oU0oo0oo0oooooOooooUooo
OOoMG.OOO0O0OO0OOO0OU0OO0Oo0DO0mMOooooomoooo98iod
0000000000000 00RDO step) 000000000 OODO*O
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0000000000000 0000000000000O00O0DO0D0O0DO0Oo
0000000000000 00000000000000D0Opredict() 00O
obobooooobooobooobooooooooooobooboobobobobOobooDo
000000000res<-1m(0zone~Solar.R+Wind+Temp) 00O OO OO OO0
000000000000000000000000000000*0

* 000000000 O00O0CRANOOOODOOOOOOO leaps OO0 OOOOODOOOOOOO

goooooooo
00 Ohttp://aoki2.si.gunma-u.ac.jp/R/All_possible_subset_selection.html O OO

J0000000000ooo00oo00000o0 ROOODOOODOOooooOO

000000000000 00 mean(Solar.R) OO0 mean(res$model$Solar.R) OO DO OO
000000000000 000D0000000 Omean(Solar.R,na.rm=T) 000000000
gooodb0oOoboOoOoOO0OoOoO0bOOoO0bOO0OO0O00ObD0O0ObDU0DO0DODU0OO0DOO0ODOUObDUObODbDOO
0000000000000 o00o00o00o0o0oDoD 100000000 0oDoOo0O0oOOoOo0on
O0000D0O00DDO0OOres$model$Solar ROODODDOOODOOOODDOOOODDOOOODODOO
go0oooooooooo
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c12-4.R(2)

predict(res,list(Solar.R=mean(res$model$Solar.R),
Wind=mean (res$model$Wind) , Temp=mean(res$model$Temp)))

0000000000000000000000000000000000000
00000000000000

000000000000000000000000000000000000
0000000000000000000000Solar.R0O Temp 0000000
00000000000000000Wind=25 0000000000000000
0-8.100000000000000000009% 0000000000000
0MO000000 AICO00000000000000000000000000
0000000000000000000

000000000000000000WindO Ozone0OO0O0000000D0
000 Wind 0000000 Ozone 00000000000 0000000000
00000000 Wind0 Solar.R0 20000000000000000000
0000000000000 000000000000000000000000
nlsO) 000000000000000000000000000 start=list() O
00000000000000000000000000000000000000
00000000000000000000m

c12-4.R(3)

resmr.2 <- nls(Ozone ~ axexp(-b*Wind) + c*Solar.R,
start=1list (a=200,b=0.2,c=1))
summary (resmr. 2)

AIC(resmr.2)

AICOO00003000000000000000000 2000000000
0000000000000 D0DD0D0D00000 Temp00ODODODOOO0 3000
0000000000000000000O0O00O0D 0.14900000030000
0000000000 0000000000000000 200000000000
0oo*og

W Opoooooo AICO0D00000000000000000000000000000000
00o0o0o00o0DOo0o0o0oO0oOo0oo0ooooooo
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~ C124R() ~

resmr.3 <- nls(Ozone ~ a¥exp(-b*Wind) + c*Solar.R + d*Temp,
start=1list(a=200,b=0.2,c=1,d=1))

summary (resmr.3)

AIC(resmr.3)

lambda <- -2*(logLik(resmr.2)-logLik(resmr.3))

print (1-pchisq(lambda,1))

gooooOooooooooooooit
c12-4.R(5)

SRM <- mean(subset(Solar.R,complete.cases(0zone,Solar.R,Wind)))
predict(resmr.2,list(Wind=25,Solar.R=SRM))
detach(airquality)

0164000000LaGuardia 00000000 2000000000000
0000000000000 00000O00o0O0DoO0D0O 164ppb0000O0O0O
oooo

129 O0O00O0O0O
go0ooooooooonono
Y = B0+ 51 X1+ B2 Xo + f12X1 X2 + €

ooooOoOoOoOoOoO0O2000 X; 00000000 200000000Y 00O
000000000000000000Y 00000 X, 000000000 Xe0
YOOOoOoooooooooooooooo X, 0000000MX.0Y0OOOo
00000 (slope)0 X; 0 200000000000X,0000000000Y
O00000adjusted mean; 00000000000 X, 020000000000
ooooooo

*11 35lar . ROOODODOOOO0OO0O0O0OOO0O0OOOOOOOOOOOOO0O0OO0O000O0000L
000 subset() O complete.cases() 0 DD00D00D00DO000ONIsO 00 Im( O
gooooopoooOoOooooO0oOooOoOoOOoOOOO0O0oOOOo0OoDOOOOoDoOodg
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(DDDDDDDDDDDDDDD N

000000000 20000000000X,Y)0000000000Y = a1+6120
y=a:+ (20000000 200000000000
1. 000000000000000000000000H, : £1 = B0H; : B1 # P
oooo
2. 0000000000000 DD0y000000000000000O0O000
B1=300000H):a1=a0H] o1 #a2 000000
0000000X0OYOODOOO (ExOEy)000 (SSxOSSy)0000 (SSxy)00O
0000000 NIODO 100000 2,y 00000Ex1 =Y, x:/N10SSx1 =
S(@i — Ex1)?0 Ey1 = > yi/N10 SSy1 = > (ys — Ey1)’0 Exy1 = Y iy /N10O
SSxy1 =Y (zwi — Exy1)’00000 200000000000
00000000000000 H, 0000000000

di = SSy1 — (8Sxv1)*/SSx1 + SSya2 — (SSxv2)?/SSxs
00000 HoOOOOoOoooooo
dy = S$Sy1 + S8Syva — (SSxv1 + SSxv2)?/(SSx1 + SSx2)

00000F =(d2—d1)/(d1/(N—4))0 HoOOODOD 1000 100 2000 N—4
0O FOOODOOODOOOO0OO0O000000000000000000
HoO0OOODOOOOOORB = SSxy1/SSx1062 = SSxy2/SSx: 00000000
00000yOD «00000000000000000000000
H,0OOOODOOOOOOOOOO BO00B = (S9xv1 + SSxvy2)/(SSx1 + SSx2)
0ooooooo

00000000 yOOOOODOODOO0OOOO HYOOOOODOOOOO0O0O0OOO00
0000 dg =SSy — (SSxv)?/SSx 000000 F = (ds — d2)/(d2/(N —3)) 00
000FO0000000000010001002000 N-30 FOOOO0O0O0OO
0ooooooo
H,00OO00O0O000O0O000000000000000000000000000
0000000000000 200000000000000000020000000
000000000000ooooooO

J
ROOOOOODOOOOOOOOOOOOOOODODOOOOOODOOX;0000
000 cOoO0OcCO factorD00000O0O0O0O0O0O0ODODOOOOO0DMX,0000
000 XoooYOoooooooyoooo

l.20000000000000CO0OCODOOOOO0OODO 200000
000000 (slope) 00000000 DOODODOODOOOODOODO
oooooobooboooooooboooobooobobbOoOoOooooOoooOobOooOoo
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summary (Im(Y [C==1levels(C) [1]1] "X [C==levels(C) [1]]) DO DOOODO 1
O00000000000000M O summary(Im(Y[C==levels(C) [2]1] "X [C==1levels!
000020000000000000000*2000000000000
0000o000o0000o000oOo0oboOo0ooOooooon

2.2000000000000000summary(Im(Y"C+X+C:X))0 00O
summary (Im(Y"CxX)) 00 0000000000000 OOOOOOOOO
ooboocoXxoooobooooooyoboooooooooboooo
UO000000 Coefficients 0 C2:XOUOUOOOOOODOOOODOOOO
gboooobooodoboooooboooooobooooobooooooDo
dooooO0ooO0ooO0ooOO00O0OO0oOO0O0OOO0oOO0O0bOOoOOO0ObOOOO020
ooooo0oooO0oooooooon

3.0000000000000000000000 000 summary(1lm(Y™C+X))
ooboooxooboooboooooobocoboyooobooOoooooooo
booooobobooooooobOobOoooooboc2boO0boOoOoboOooOoOnn
obooobooooooooood

rl:ll:l?) ™
ROOOOO0OOO ToothGrowth 0000 100000000000 30000000
000 cooooboU0oOooOoooUoOooDOoUOoUOOooOOoDOOoDOOoDOoUDO
Ooooooooooo000000000000 len0000Osupp00000OOdose
godo0ooomoooooooOoOOOOOOO0OoooooooooooooOOOnn
goooooooooobooOoooOobO0oOooobOboOoO0oOooOoobOoOoOoooOoboOooooo
Oooo

N J
gboboboooboobooboobooboooobooooooooooobooboboo

gbobooobooobooobooboooooooooboobooboobobobobOobobo

O00000000O000000OCcoplot(len™dose | supp) DOOOO 200

gboboboboboboboboboobobooobo

*12 c==levels(C) [1] DD as.integer(C)==1 0000000000000 000O0OO00D0OOO0O
o0o0oo0oooOooooooD
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s cl12-5.R(1) ~N
attach(ToothGrowth)
plot(dose,len,pch=as.integer (supp),ylim=c(0,35))
legend (max(dose)-0.5,min(len)+1,levels (supp) ,pch=c(1,2))
abline(lml <- Ilm(len[supp==’VC’]~dose[supp=="VC’]))
abline(1lm2 <- 1lm(len[supp==’0J"]"dose[supp=="0J’]),1lty=2)
summary (1m1)
summary (1m2)
J

summary (1m1) O summary(1lm2) 000 000000000000000000O0
gooooooooooooooo 200000000000O0O0O0O0O0O0O0O0O0O
goboooboooboooboboooboboOooobobooooooooOooooonoon

c12-5.R(2)

1m3 <- 1m(len ~ supp*dose)
summary (1m3)
detach(ToothGrowth)

goood
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Call:

Im(formula = len ~ supp * dose)

Residuals:
Min 1Q Median 3Q Max
-8.22643 -2.84625 0.05036 2.28929 7.93857

Coefficients:

Estimate Std. Error t value Pr(>|tl)
(Intercept) 11.550 1.581  7.304 1.09e-09 *x**
suppVC -8.255 2.236 -3.691 0.000507 x*x*x*
dose 7.811 1.195 6.534 2.03e-08 *xx
suppVC:dose 3.904 1.691 2.309 0.024631 *

Signif. codes: 0 ‘**%x’ 0.001 ‘**’ 0.01 ‘x’> 0.05 ‘.’ 0.1 ¢ * 1

Residual standard error: 4.083 on 56 degrees of freedom
Multiple R-Squared: 0.7296, Adjusted R-squared: 0.7151
F-statistic: 50.36 on 3 and 56 DF, p-value: 6.521e-16

\ /
O000000D00D0OsuppVC:dose 00000 lenO0O0OOO0OODOODODOO
0000000000000 000D000 0.02463100000000 5% 0000
oobooooboboooboobooooboooooboOobooOoboOoboboOoobboOooboboOooo
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
odoooooo0oO0oOoO0oOoOoOooooooooooooooo
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(IZIIZI4 ™
http://phi.med.gunma-u.ac.jp/msb/data/pl2.txt 0000000000
gobooobooopbooOosb00ooObooboOoboOobDOoPREFOODOOOD
REGIONO OO OOUODOCOODOCARI9ODO 199000 1000 00000OO0OO
O0D000TA19890 19890000 1000000000000 0O0UDIDP1985
0198 0000000000000000O000OD00DO0oo0o0oo0D
0000000 datd0O00oOoOoOooOooon

c12-6.R(1)

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p12.txt")
attach(dat)

oboooooooooboooooooobobooobooooooooobooo
obooboooooooboooooooboboooboooobooooobooooOoon
gbobooooooboooooboooooooboooboooboooooooon
ooooooooo

J

obobOoboooboOocOb0OREGIONODDOODOODOOOOOOOOOOOOOO
00000000000 000000000000 p-valued 5.72e-0500000
0 0.0026700000 5% 000000000000000000000O0O0O0O

00 2000000000000 0000O0DO0O0O0O0OCOOOOO
REGIONWest:CAR1990 0 p-value O 0.990 DO O UO0ODODODOOOOOO
oooo

Uob0obOo0o0O00oo0oOCOCO0O00DOREGIONWest DO ODOOOOOOOOO 0.0319
00005%000000000000000000000000000D0O00O0OO
oboboooboooboobooboooboobobooobOobooobOoooOon
ooooooooooooooo
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~ C126R(2)

plot (CAR1990,TA1989,pch=as.integer (REGION))

legend (max (CAR1990)-10,min(TA1989)+1,1levels (REGION) ,pch=c(1,2))
abline(1lml <- 1m(TA1989[REGION==’East’]~“CAR1990[REGION=="East’]))
abline(1lm2 <- 1m(TA1989[REGION==’West’]~CAR1990 [REGION=="West’]),lty=2)
summary (1m1)

summary (1m2)

Im3 <- 1m(TA1989 ~ REGION*CAR1990)

summary (1m3)

Im4 <- 1m(TA1989 ~ REGION+CAR1990)

summary (1m4)

detach(dat)

= J

1210 DOODOOODOODOOO

0000000000000000000000000000000000000
00000000 2000000000000000000 glm(Q) 0000

000000000000000000000000000000000000
0000000000000 0000000000000000000000000
00000000000000000

00000000000000 PODOODOW(P/(1—P))=by+b Xy +..bx Xk
00000000X,000000000200000X,,..X,000000000
X,=00000 X,;=1000000000

bl = 1H(P1/(1 — Pl)) — ln(Po/(l — Po)) = ln(Pl * (]. — Po)/(Po * (1 — Pl)))

oooooo0on 00000000000 ODOooOoOoOOOoO0oOoODODOOOOoDOoOOO
0000000000000000000 9%% 00000

exp(b; £ 1.96 x SE(b1))

oooooooDo

000000000000000000 AIC OO0 0ONagelkerke 0 R2O0000
O Nagelkerke, 1991) 0000000000000 DO0ODO0OOOODOOODOODOOO
000000000000000000000000000000000Faraway
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(2006) D000 O

2 _ 1= (Lo/L*™ 1 —exp((D = Dyu)/m)

R -
1- EOQ/" 1 — exp(—Dpui /)

O000LO0O00L,0000000000000000D O Devianced OO 00
000000000000000 Dy 000000000 Deviance DD O 0On
00000000000000000000 000 100000000000000
000000000000000000000000000

00000 Orequire(MASS) 0 MASS OO OODOOODODOO*30birthwt O
0000000000000 00000000000000000000000
Springfield 0 Baystate D0 00000 18900 0000000000000OOO
00000000000000000000000000000000000000

4 N

low Jo0o00o0ooo0oo0 200000000000 25kg00O0O 10
age oo

lwt ooooooooooo®g

race 000O1=00,2=00,3=00000000

smoke OJO0OOOO1=000

ptl gooooooon

ht gooooool1=000

ui goooooooool=000

ftv gooooo 3o0oooooo

bwt D0OOO0OOO (g)

00 1b.0011b.0 0454 kg000O0
N /
ooboooobooooboooooboboooobooooboooboobooOobooobooo
gooooooooOoooOoooooooOoOoOoOOOoOoDOoOOOODOO 20000
oooooooomoooooo10oooooooooOoOooOObOObOOOOn
000000000 factor() 00 0O0DO0OU0OOOOOODOODOODOOOOOO
gobooooooooooOoOoOoOoOoooooooooooooooooooooo
oo0o0o0oO000ooO0o000ooO0000oooOO03000000000000
oooooooooOOOOODOODOOO 20000000000000000000

*13 require() 0 library() 0000000000000 0OO000O0OO000O00D0OOOOOOO
oooooooOoooooooo
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oobooooboboooboboooobooooooobooOoboOoboboOoobboOooDboboooon
000000000 0U0o00ooooo FALSEOOO TRUEDOUOOOOOOO
FALSEOOODOOOOOODOOOOOOO0O0OOO0OO0OO0oooooooooooog
0000000000000 000000000 levelsOOOOOOODmMOOOO
00000000000000Orelevel) 0000000000 00O0O00O0DOMM
oooooooooooooobobooooOooooooooobboobbboOooot
ooboooobobooobobooooboooooboobooOoboOoboboOoobboOooobooboooon
oobooooooooooooooo

~ c12TR(1) N

require (MASS)
attach(birthwt)
low <- factor(low)

race <- factor(race, labels=c("white","black","other"))

print(table(low,race))

smoke <- (smoke>0); print(table(low,smoke))
ht <- (ht>0); print(table(low,ht))

ui <- (ui>0); print(table(low,ui))

N J

000000000000 000000000000 data.frame() 0000
00000000000 b bwOOOOOO attach() OO0 birthwt O detach() O
O0glm() 00000000 DODOOO0O0OO0O00O0OOO0OO data=00000OO
ocooobooooooboOoooOooooobooOoooOoOoboOoOoOoOooDOObbooOOooo
00000000000 resb0000O0O0O0OCOOOOOOOOOO0OOOO
O0000 summary() 0000000000000 0OOOO Nagelkerke 0 R2 0O
oopoooooo0ooooooooOoOooobOOoOoooOooobooOoOoomon
exp(coef(res)) 00 0ODOO0OO0OOOOOOOOODOODOOOOOOOOOOOOO
000000000000000000000000 %% 00000000000
O000Ores2<-step(res) 00 UJ0O0O0O0O0O0O0O0O0OOOUOOODODO res20
000000000D0000000000*00000000000000000
goooooooooooopoo spooooOoO0O0O0O0O0O0O0O0OOOOOOOO
gooooo0o0oO0oO0oO0o0o0oooooUoooooooooooooooooooo

*4O0p000000000000000000000000000000000000000000
goo0obooOo0oooO0oo0ob0OoO0oO0O0OO00O0O0O00DOOO0O0OO0OO0OOO0OO0DOOO0OODOO
goooooooOooooooooo



218 0120 00000000

00000000000000000000000000000000000000
0000000000000 256000000000000000000000
~ C12TR(2)

N
bw <- data.frame(low,age,lwt,race,smoke,ptl,ht,ui,ftv)
detach(birthwt)
print (summary(res <- glm(low ~ ., family=binomial, data=bw)))
NagelkerkeR2 <- function(rr,n) {
(1-exp((rr$dev-rr$null) /n))/(1-exp(-rr$null/n)) }
print (NagelkerkeR2(res,nrow(bw)))
print (exp(coef (res)))
print (exp(confint (res)))
print (summary(res2 <- step(res)))
print (NagelkerkeR2(res2,nrow(bw)))
print (exp(coef (res2)))

print (exp(confint (res2)))

J

0. Baystate DOOOOOOOOOOOOOOOOOOOOOOOOOOOOO
oo

%% 0000
oooo -~ oooo oo oo pO
oooooo
oo 3.765 1.355 10.68 0.011
oooooo 2.452 1.062 5.878 0.039
oooooooo 2.557 1.185 5.710 0.019
ooooooooooo 6.392 1.693  27.3 0.008

goooooooooobo 2.194 0.888 5.388 0.085

Nagelkerke 0 R?: 0.2230 AIC: 217.990 D,p: 234.670 00 0 18810 D: 201.99
0oooog 181d
*0000000000000000000000000OOO0O00OooOoOO00On
oobooooboboooboboooboooOoooOobooboOoboboOooDo
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(DDDDDDDDDDDDDD N

birthwt 0000000 ftv 0000000000 300000000000000OO0
gooooooooooOO0OO0oO0O0000000000000000oooo0o00000
goo0o0oooO0o0ooOo0O0O0O0fev0OO0O000O0O0OOO0OO0OOOOOOOOO0OOO
10020000000 300000000000000000

o 1 2 3 4 6
100 47 30 7 4

ooooooooo
/

ftv <- factor(ftv)
levels(ftv) [3:6] <- "2+"

ODoooftvO0D0OO00D0O0OO0O0OO0 600000000000002000000000
po0o0ooOo3000000000oOO0ooOoooO”247000000000000O0O
gooooooooOo0O0O0O000000000OOOOO0O0O00000000B0O0O
oo

[ftv <- factor(ifelse(ftv>2,2,ftv),labels=c("0","1","2+")) )

car 000000 recode() 00000 DOO0OO0ODOOODOODODODOOODODOO
goooooooooooooo

require(car)
ftv <- recode(factor(ftv),"2:6="2+"")

ooooooooooo0oo ftvO 3000000000000000C00O0O0O00O0
gooooooooooOooooOooooOorroooo0o0o3ooo 1000000
0ooo020000000000717’0000000000000000D003000
1000000000000000O000O0 2000000000000000000CGCO0
000000000000 relevel() DO0O0O0OD0OOO0O0DOOOODODOOO

[ftv <- relevel (ftv,2) )

N J

ooboooobooobobooooboooooboOoooboOoooOoboOoboOoOoOobooOooo
000000000000 0000000000000gIn(O) D00O0OOOOOR
Oo0o0oo0oO0ooOooO0oobo0oob survival OOO000OO0OO0OCOOCOOOOO
0O coxph() 00000000 D0O0O0DO0O0OOOODOO0OODO clogitOOODOOO
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MASSOOOOOOOOO00O0O vacteria00O0000O0O0O00O00O0O0OOO
O00o0oooooooOoO00oooooooO0oOooOooooOobooOoOs0OoboOoOnon
Dr. Amanda Leach 00 0000000000000 0D00O0O0OO0OO0ODOOOOO
0000000000 20000000000000000000 (H. influenzael
O000000o0o0ooUoO0 RCTOODOUOOOOUDOOOOODOUOOODOO
oooooooooo0 200000000000000000000000O00O00
OO0OCOOO0O0OO0OO0OOOvacteriad0000000O0O0O0O0O0O0OOOOO

-

y goboooobobooobdnyoooooooooobyoooooo
gooooooboobooooo
ap 00000000 a0 pO0OOO0O0OOO0OODa0OO0ODOOOOOOOOpPpOO
ooo
hilo 00000000000 MO loO0OO0OO0OOOO0OOOKOOOOODOOOO
O000leO0OOOOOUODODOO
week 00000000000 ODOOOOOOOOOOOOOOO
ID Jooo IbOs0000OODOOODOOoOoOO
trt 00 O placebod drugldrug+ 0 3000000000000 0ap 0 hiloOO
0000000000 UOO0Oplacebo00000drug0 00000000 OODOO
00000000000 000drug+ 0000000000000 OO0OODOO
goooooo
N J
ggoooooobooooobobooooboooooboooboOoooOoboobooOoooobooo
gooooooooOoboooUoboOoO0 10b0bo00obOoO00UboOoUDobOoOo
000 o0,2,4,60000000000000000022000000000000
oo0o0OoO00ooOo0o0bOo0oO0oDboOobObOOo 22000000000 00DDOO0O0D
goooooobobooobooobooOobooOoboOooOoboboOooDbbOoUoDbobbooo
oooood
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oboboboobobooboooboobooobooboobooooooobooboobooboo
gbobooboboboobg

goooooooobooboobob0 1o0obooooo0oobOobUoDOoDbUooo
gboboboboobooboooboooooboobooboboboboboboOobobo
oooooooboboooboboooobooooooooOooOooboooDbbooDboboooD
gboboooooooooooooooooooboobo0obOobobOobOoDbOoDbo
000000000000000000000000000000000' 0000
gooobooooobbooobboooboobooobobooobobboooobooboo
gobobboooooboooooboooobbooooboobobbooooboooooDo
000000000000 0000000 (Survival Analysis 00 O Event History
Analysis) 0000000000 OOO

000000000000 000 Kaplan-Meier 00000000 O0O0OOOOO
gooboboobooboobobooooooboooDooDoboboboboboooo
0000000000000000000000*0000000000000000
goooogooobo 1obo0obo0oobo0oobbo0obboUoDbboUooDbobooo
000000000 050000 50%000000000000000000000
gbobobobooboobooobooooobooboobobobobobobobobo
goooooobobooobobooooboooooooboooooboobboobbobooo

*1'0000 censoring 0000
*2p0pu1ationatriSkDDDDDDDDDDDD (1995) 0000000
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ggoboooobooboooboboooobooooboooobooooooo
goooooood
4 A

gooooooooobooooOoooobooooboooOooOo0oooooooooboooo
gooooooooooOobooobooboOoOOOOOOOOOOOOOOObOOOObOObOO
goooooo0oooOo0oooOo0oooOoo0omooooooD oDOooooDOoOOo
go0oo0oO00oO00O0O00000000000080 ¢.0000000000 100000
gooooooooooOoO0oOoOoOooOoooboooooOoOoO0OO0OOoOOoOoOoOoOoboooo
oeg

00000000002 0000000000000 T,0x0000000 4,00
gooooO00ooO0O0000O0OO0000C0000 20000000 z4+1000000
000000000000 D00O00 [x,x+1)0000000 ¢, 0000000000
lz(1-¢,/2)0000 000 z+100000000 L,OODODOOOOOODODOOO
0000000000000 «000000O0DOOOCOODOO00000x000D0O
goooooooooooooooobooooo
ooooooooo0ooo0oDo0o0D me00000 200000000 d, 000
0020000000000000¢0¢=m:/1+m,/2)0000000000
0000000000 0000000000000000000000000000
00o0o00o0o0o0o000o000o000oD ¢, 0000000000000DO0O0DO000OO
0ooooooo0oooo0 ¢, 00000000000000D000O0O0O0OO0O0OO
go0oooooobooooooOoOoOO0OOOO0OO0OO0O000000000

{00
1 de,

e =

gooooooooboobob «c00000000ODOOD R, O0O0O0O0OO0DOOOOOODOO
gooooooooooobOoOoOOO0OO0OO0O0OO0O000000O0

*00000000000000000000000000000000
'500000000000000000000000000000000000000000
000 GrevilleOOODO
_ 5Myg
1/5 45 my [1/245/12 [sma — In(smats/5ma) /"] |

54z

oooo

N J
ogobooooboooboboooobooboooobooooboOoooboobooOoOoooboooo
ooboooobooobobooooooooboooo
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ooboooooooooooooooooo
oooboooobooboboooooobObOooooobobobOooooobooboo
0000000000000 00000000000000D exp(d.Biz;)0000O
0000000000000 000000000000000000000000
ooboooooboooobobooooboooooobooOooooobo0oobboooDbobboooD
00 survreg() 000000000000 OOOOOOOOOOOOO
ROODOOOOOOOODOOODOO0OO0O survival 0000000000 OOOO
library(survival) 000 require(survival) 00000000000 O*0

132 000000000 Osurvit()O 0O

0000000000000000000000000000000000000
00000000000000000000000000000000 #,4,, ... O
00+ 000000000000 ;04 000000000000 4000000
00000000000 ¢1,t2,..000000000000000 nq,ne,..0000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000 »n,0000
t,00000000000000000000000000 » 000000000
0000000000000050000000000000000000000
0100 10000000000 2001000000000000000000
000000 300 20000000005000000000000000 100
000000000000t 0100 ¢ 0300000d, =10d, =20n; =50
ne=30000

*survival 000 0000000000000 0000000000WindowsO0OO RO
oooooU0oUooU0oooUooooooooooooo0ooooROOODOODOOO
0000000000 0Obase, datasets, grDevices, graphics, grid, methods, splines,
stats, statsé4, tcltk, tools, utils 00000000000 OODOOODOOODODOO
O0000000Osurvival 00 00O OKernSmooth, MASS, boot, class, cluster, foreign,
lattice, mgcv, nlme, nnet, rpart, spatial D0 O 0Osearch() D0000000000000
.packages(all.avail=T) D0 D 000000000000 O00DOO0O00O0DOO0DOODOOOO
00000000 detach(package:survival) 000000
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0000000000000000000000000000000000000
00000000000000000000000000000000000000
000 S(t)00

>

S(t) = (1= dy/n)(1 = dz/na)... = [[(1 = di/ni)

i<t
ooboooboooobooooboooooboOoooboOooooo

di

Var(g) = 92 X m

i<t
0000o000000o000b000b0O0o0ooO0oo0ooO0o0ooO0ooOoo0oooo0oooo0ono
oooooooo
R OO 0Olibrary(survival) OO0 require(survival) OO0 survival 00
000000000swv(DO0O0O000000000) 0000000000000
gooooooooooolooooOoOOOoOOOOOOOOOOTRUEODOOO
O0OO0O0OFALSEOOOOOOOOOOO0100000000200000000000
000000000000000000*0000000Swv(000000000
000000O00o0oooooo)oO0oooooooooooooooooOoooo
10000000000002000000003000000000000000
oooobooooobooooboooooboOooobOoOooOobooooboooDooo
10000000 81000000 920000000000000000000O
oo20000000 2200000000003 0000000 290000000
do00o0000O00o00O0b0O00b000obOO0oO0O0OO0oO0O0oO0OO0O000O000O0
O0datO0O0O0DO00O0O

*O0ooooDoO0DO0OO0O0000000000000000000000000000000000
goooooooOo0oOoooOoboOoOoOoOooOoboOoO0bOoO0oOoOoooOobooOoOoOoooOoOoboOoOoooon
000000000000000000000000000000000000O0O0O0O0O0OOAO0
goobooOooO0oboOo0O0obDO0O000O00O00000O0O00COO0O0OO0OOOOODOOO00O00
goooooooOoooooo
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time <- ¢(81,22,29)
time2 <- ¢(92,22,NA)
event <- c(3,1,0)

dat <- Surv(time,time2,event,type="interval")

0000000000 dat0000000000Ores <= survfit(dat) OO0
0000000000000000000000O0Oplot(res) D0O00OO0OOO
O00000000000000000000000000 00 summary(res) OO0
oooo
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00000000000
e N

poooooooOoooO0oOoOooOOoO0OOO0OO0OO0OO0OO0OOO0OO0OO0OOO0DOO
00000000000000000000000difftime() 000 ISOdate() OO
0000000D0000000000000000 x0000000000000 names
000MMded] 0000000 dodd 000000000 DDOO0ODODO difftime() 00O
040000000000000000000000000000O[x$names=="Robert"]
O Robert0 000000000000 D00O0O0O0DOOO0OO0DOODODOODOOOO
00000000000 alivedays0OOODOO0O0O00O00O0O0O0DO 365.24000
000000000000O0as.numeric() 00000000000000O0difftime()
000000 difftime 000000000000D00O00DO0O00O0O0O0O0O00O0OO
t.test() 00DO0O difftime 0000000000000 DO00O0O0O0DOODOODOOO
0000000000000 difftime() 0000 as.numeric() 000000000
oooooooo
oooobobo0ooOoobOOoO0oOO0oO0DOO0DOO0O0DOO0OO0O0OO0ODODOO0OO0DOOO0
000obOO0oo0OO0o000obDOO0o00000b0O00OO0DOO0OOO0O0O0O00O0OROODOODO
Sys.getlocale("LC_ALL") 00 O0D0DD0OD0OD0O000000O0OOODODOOOO Win-
dowsO0O0OO0OOO0OO0O0OOOO0O"Japanese_Japan.932"0 000000000000
000000000 Sys.setlocale("LC_ALL","eng") 000 00000000000
000000 Sys.setlocale("LC_ALL","jpn") 000000000 DOO0DOOODOO
0oooooo00oo0oo00b00o000000000b000O00000000000000
po0o0o0oO0o0oO00o0O00000O00O00O000O0O000000000 as.Date()
O0000000as.character() 00 00000MMOOO0O0ODOO IS0Odate(O, O,
0)00000000000D0D00000Oread.delin() DO0O0OO0O0ODODOOOO
"1749-5-17"0 0000000000000 O0O0O0O0O0OOOOOOOOOOOO00OO0
000000 as.Date() 00 O0O0O0OO0OO0OO0OOOOOOOOOOOOOODOOOO
0oo0oo00000000000000000D00D00D00000 40000 20070 1
022000000000000000000000000000

K cl3-1.R B

x <- data.frame(

names = c("Edward","Shibasaburo","Robert","Hideyo"),

dob = c("1749-5-17","1853-1-29","1843-12-11","1876-11-9"),

dod = c("1823-1-26","1931-6-13","1910-5-27","1928-5-21"))
alivedays <- difftime(x$dod,x$dob) [x$names=="Robert"]
as.numeric(alivedays/365.24)
as.numeric(difftime (ISOdate(2007,1,22) ,x$dob)/365.24)
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(Ellill N
oooog (1995) 0O p60-61 00000000 Gehan OO O DOODOOODOODOA42
goooooOoode-MPOOOOODOODOOOOOOUOODOUODUODOOOO
0000000000000 0000DOU000DLOU0O0DmMROO MASSOOO
0000 gehan OOOOOOOOOCOOOOOOOODOOOOOOOOOOODOOO
http://data.princeton.edu/wws509/datasets/gehan.dat 0 0 00000000
O0webOOOOOOOOUODDOOOOOOOUOODOOOOOOODODOOOOOG-MP
gO00o0oo0ooooo 20000000000000000000

N J
ocooooooooooooo

e cl3-2.R N
require (MASS)
require(survival)

print (res<-survfit(Surv(time,cens) “treat,data=gehan))
par(family="sans",las=1)

plot(res,lty=c(1,2),main="Gehan 00 0000000000000 O0OODOOO™
legend(30,0.2,1ty=c(1,2),legend=levels(gehan$treat))

summary (res)

J

300000000000 000000000O0O020000000000000
0000000000000000 %% 000000000

Call: survfit(formula = Surv(time, cens) ~ treat, data = gehan)

n events median 0.95LCL 0.95UCL
treat=6-MP 21 9 23 16 Inf
treat=control 21 21 8 4 12

4-60000000000000000400000000000000”sans”0
OOlas=10000O0O0OOO0DOC S OCOOOOOOOOCOOODOOOOODOOG
000 legend() 000D O0DODODOODOODODOOOOODOO (30,02)00
goooooooOoOo@m™otoooOoOoboboOoOoooOooOooOoooooOoOooooo
ooboooooboooobobooooboooooobooOooooobo0oobboooDbobboooD
ogoo
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Gehan®7—3IC2VTOATZV=31¥7Ov+
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7000 summary(res) 00 0000000000000 0OOOOOODOOOOO
00000000000 %% 000000000000000000O00DOO0OO
oooooom™



13.2 DDDDDDDDDDsurVﬁt()DD 229
~
Call: survfit(formula = Surv(time, cens) ~ treat, data = gehan)
treat=6-MP
time n.risk n.event survival std.err lower 95}, CI upper 957, CI
6 21 3 0.857 0.0764 0.720 1.000
7 17 1 0.807 0.0869 0.653 0.996
10 15 1 0.753 0.0963 0.586 0.968
13 12 1 0.690 0.1068 0.510 0.935
16 11 1 0.627 0.1141 0.439 0.896
22 1 0.538 0.1282 0.337 0.858
23 1 0.448 0.1346 0.249 0.807
treat=control
time n.risk n.event survival std.err lower 95} CI upper 95% CI
1 21 2 0.9048 0.0641 0.78754 1.000
2 19 2 0.8095 0.0857 0.65785 0.996
3 17 1 0.7619 0.0929 0.59988 0.968
4 16 2 0.6667 0.1029 0.49268 0.902
5 14 2 0.5714 0.1080 0.39455 0.828
8 12 4 0.3810 0.1060 0.22085 0.657
11 8 2 0.2857 0.0986 0.14529 0.562
12 6 2 0.1905 0.0857 0.07887 0.460
15 4 1 0.1429 0.0764 0.05011 0.407
17 3 1 0.0952 0.0641 0.02549 0.356
22 2 1 0.0476 0.0465 0.00703 0.322
23 1 1 0.0000 NA NA NA
N /
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(EIEIQ ™

survival 0 0000000000000 am1 O0O0O0OO0O0ODODOO (acutemyeloge—

nous leukemia) 000 000000000000 O0OO0OOOO 2000000010

0000000000000 Uoo 10000000 UooUooooUoOomuoo

0000000000000 00000000000000000000000O*000

O30000o00ooooodg

time 00000O0OO0OOOO0OOOOOOOOOOOO

status J000000000000000100000000

X O00O0O0OO00O0OO0O0OO0OD0ODOOD0OMaintained O 0 O O O Nonmaintained 0 O
gooo

j0o0U00o0o0o0o0oOo00oOo0UOo0UOoOUOO0OLOO0UOOOUDLOOULOOOO

goooooooooooooo

¢ 00: Miller RG: Survival Analysis. John Wiley and Sons, 1981. 00 0O OEmbury SH,
Elias L, Heller PH, Hood CE, Greenberg PL, Schrier SL: Remission maintenance
therapy in acute myelogenous leukaemia. Western Journal of Medicine, 126, 267-
272,1977. 000000000000 GehanOOOGOQOO

N J
~cl33R ~

require(survival)

print(res <- survfit(Surv(time,status) x, data=aml))

summary (res)

par(family="sans",las=1)
plot(res,lty=c(1,2),main="0000000000000000D00DO00DOODOO
gooooom)

legend(100,0.8,1ty=c(1,2),legend=c("OCO","O000OO"))

J

00000000000002000 survfitQO 00000000 O0O0O0O0OO
ooboooobobooooo

n events median 0.95LCL 0.95UCL
x=Maintained 11 7 31 18 Inf
x=Nonmaintained 12 11 23 8 Inf

oooooO0o0oo0o11oo0oobooobob 1200000000000000000O
ooovr0O01o0000000000O0O0C0O000O0 3100000000000
00000 230009%% 000000000000 1800 8000000000
00000000004 0000000000000000O0Y00 11000000
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ooboooobbooobbooooboobooooboooobooooboobooOoooobooaoon
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jO000000d,;0000000 ;0000000400000 ;0000 u;;00
uij = wi(dij — €ij)
oo ooooobobobooooooooooooooo
odooO 10000000
U1:Z(di1—€1¢1)
i
Oo0oooooooo
Uy = (1—4/8)—|—(0—3/7)—I—(1—3/6)+(0—2/5)+(1—2/4)—|—(1—1/3)—|—(0—0/2)+(0—0/1)

000o0o0o0O0000000 1338oooooooooooooooooooo
ooboooooo

(ni — nij)niidi(n — d;)
V=V,=
3 zz: niz(nifl)
oboboooooobooooooooo
8—4)x4 (7T-3)x3 (6—-3)x3 (b—2)x2 (4-2)x2 (3—1)x1
82 + 72 + 62 * 52 + 42 * 32
0 O O 0 4x4/64+4%3/49+3%3/36+3x2/25+2%2/16+2%1/9 00000000 1.457
0000000000x*=1.3382/1457=12300000000000 10000
0000 9%% 0000 3.84000000000000000 5% 00000000
oboboobooooooobooooooooooobooboobobobobOoboDbo
gboboboboooboobooboooooooooooboooboobad
ROOODOCOUOU0OOOOOOUO0OOODODOOUOUOODOD timedO00O0OOO
00 eventO OO OO0 group 00000 survdiff (Surv(time,event) “group)
00o00o00bO0o0o0o0o0o0o0o0o0o0ooooDo0ooooooooo
000000000 survdiff (Surv(time,event) “group,rho=1) 0000000
c13-4.R

V=

require(survival)

time <- ¢(4,6,8,9,5,7,12,14)
event <- c(1,1,1,1,1,1,1,1)
group <- c¢(1,1,1,1,2,2,2,2)
survdiff (Surv(time,event) “group)

gooooooOoOoooooooonoo
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000000000x?2=120000 10p=02680000000000000
5%00200000000000000000000000000DO0OOOOOODO
oooboooobooobobooooboboooooobooboobooOoobobooooboboOooon
ooo
oo 3

00200000000000000000000000000000O00O0O0 5%0
oooooooooo

survdiff (Surv(time,status) “x,data=aml) 00 0000000000000
340000000 0.065300000000000000000 5% 0000000
000o0o00o0ooooooboooobooooDoooooobooooooooooo
0000000oo000oDooooDoOoU0oDoOoO0ooDoOoOoRODOOODOOOOO
0ob0bOobOobOobOobOobOobDOobDOobDOoboDOoboOOooOoom

134 0D00D000D—000000000Ocoxph()OO

0000000000000000000000000000000000000
00000000000000000000000000000000000000
ooooo0o0o0ooo

0000000000000000000000000000000000
zi = (211, 2i2,-,2ip) 00000 ¢0000 ¢+0000000000000 h(z,t)
000000000000000000

h(zi,t) = ho(t) - exp(Br2i1 + Poziz + ... + Bpzip)

00000000000 () 00000000000000000000000
0000000000000 00000000000 +0000000000000
000000p,06s,..,8,000000000000000000000 exp(B,2iz)
00000000000000000000000000000000000000
0000000Cx D000000000000000, 000000000000
0000000000000 0000000000000000000000000
000000000000000000000000000000000000O
0Oooooooo
0000000000000000000000000000000000000
0000 10002000+¢0000000000000000000 he(t)000
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ooboooooooooooboooooooooo

exp(f1z11 + faz12 + ... + Bpzip)
6XP(51221 +ﬁ2222+...+5p22p)
0d0o0o00oDo00Do0ooooooogooooooooooooooog
000000o00o00o0o0odoo0o00o0oOdooooooOoooooon
O0o00oO0o0oo0oooboO0oooo0ooooobooobOooo0ooooboOoooon
ooo

1341 ODOO0OOODOO

gooooo0o0o0oO0oO0oO0O00oO00o0oU0oUoUoUooooooogoroooo
0000000000000 000000D0O0O0000O0 SHoOoT>t0000
0o0o00S(0)=10000000000000000000000 A)DOOO
ob¢tooooouobobooobobooonn

ho) = i PIEST <t AT 2 1)
At—0 At
S-St +AY
= A T A ®
ds(t) 1 d(log(S(1))

dt  S(t) dt

00000000000000H(®) = fy h(u)du=—logS(t) 000000000

0000D0S(t) =exp(—H(t) DOODOO
000000000000 200000000000 S(24)0000000000
H(z,t)0O0DO00O

H(z,t) = /0 Bz, w)du = /0 ho(u) exp(B2)du = exp(B2) Ho(t)

S(z,t) = exp(—H(z,t)) = exp{—exp(Bz)Ho(t)}
O00o0oo0oo0oooooooooooooooon
log(—log S(z,t)) = Bz + log Ho(t)

oooooo0ooOoOoOooOoooooooooooooooooooooooooo
oooooooooOooo0ooOooOooOo0oooOoooOoooOoooooooboooo
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00 0000000000000 O000OO0OO0O0O0OODOOO0OODDOOOOO
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ooboooobobooobboooobooooboooobooooboOobooOoOooobooaoon
oooooo0oo0oOoOooOoooooooooooooooooooooooooo
oooooooo

1342 0OO0O0O0OOOOOOODOOO

00000 0000000000000 00000000000O0 to0oOoQ
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00 ¢t000000000000o00o0o0o0o0o0 000000000000
00000000 oO0o0oo00o0oDoO0o0oO00oOO0DoO0oooOO0o0oOoOOn
goooo0obooooo0o0oboOobooO0oU0obOoOoOobO0U0oDbDODUOOD ¢0OD00O0OD
gboboooooooooooooooooobooboobobobobOoboDba
000o00o0O LO0000L00000000000o0o0ooooooooooog
obobobobobooboooooooooboobo

goobbooooobboooboboboboooboooboooobobboooo
gooooOoOoOoO0oO0oO0oO0oO0oO0oO0oO0oO0oO0OO0oO0oO0oO0oOo@UoOoUooOoDOoOoDOOO
000 0000000 0O0OO0ODO0OO LOODODOOODODOOOOOOOOO0
0000000 CoxOOODODOO0OODDOOOODOODOODOOOODOOOOOn
0000000000000 0000000*0R0O0O00O0000000O0
coxph(Surv(time,cens) “grptcovar,data=dat) 00000000

oo 4
[DD2DDDDDDDDDDDDDDDDDDDDDDDEIDEIDI:IDEID ]

*00000000000000020000000000000000000Exact 0000
Breslow O0Efron 00000000000000000D Exact 0000000000000
goooooooooooOOoO0pDooO0OooOoOooOooOoOU0OOo0OO0oOooOOoOooOOoUoDoOoDo
J00000000000000000000000Breslow0000000000OOOUOORO
coxph() 00 O0O0DD0O0D Efron00000Breslow 0000 Efron 0000 Exact 000
gooooooo
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( cl3-5.R N
require(survival)
summary (res <- coxph(Surv(time,status) x,data=aml))
loglogplot <- function(X) {
S <- X$surv
T <- X$time
G <- X$ntimes.strata
GG <- names(X$strata)
GX <- rep(GG,G)
xr <- c(0,max(T)*1.5)
mas <- ifelse(max(S)==1,0.99,max(S))
mis <- ifelse(min(S)==0,0.01,min(S))
yr <- c(log(-log(mas)),log(-log(mis)))
plot (T[GX==GG[1]],1log(-1og(S[GX==GG[11]1)),type="1",1ty=1,
xlim=xr,ylim=yr,xlab="time",ylab="log(-log(S))",
main="000000C0O0O"
for (i in 2:length(GG)) {
lines(T[GX==GG[i]],log(-1og(S[GX==GG[i]11)),1ty=1)
}
legend (max(T),-2,legend=GG,1ty=1:1length(GG))
}
KM <- survfit(Surv(time,status)~x,data=aml)
par(family="sans",las=1,mfrow=c(1,2))
plot(KM,main="aml 000000000 OOOOOOO")
loglogplot (KM)
glog )

2000000000000000000000
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4 N

Call:

coxph(formula = Surv(time, status) ~ x, data = aml)

n= 23
coef exp(coef) se(coef) z )
xNonmaintained 0.916 2.5 0.512 1.79 0.074
exp(coef) exp(-coef) lower .95 upper .95
xNonmaintained 2.5 0.4 0.916 6.81

Rsquare= 0.137  (max possible= 0.976 )

Likelihood ratio test= 3.38 on 1 df, p=0.0658
Wald test = 3.2 on 1 df, p=0.0737
Score (logrank) test = 3.42 on 1 df, p=0.0645

/

0000 5% 000000000000000000000000DO000O0OO0O
0000000000 0000000000000000exp(coef) 00 2500
2000000000000000000000O0C0O00O000O00C0O0 250000
00000000000D0D0%% 00000 100000000000 5% 000
ooooog

30000000000 2000000000000000000000000*®0
ooboooobooobooooo

*TOO0 00O Score (logrank) test 0 D OO OO0O0DO Rao O Score DD ODOOOODOD
survdiff() 00 0000000000000 O0O0O0O0O0OOOOOOO0
000000000000 O0OO0OO0DOOOO0DOOOO0OO0OOOOO0OO0O0O0 10000
goooooo0ooo0ooOO0oDOo0O0OO0 20000000000000DO0O0DOO
0000000000000 00000000 9%% 00000000000000
plot (survfit (coxph(Surv(time,cens) “treat+pair,data=gehan))) 0000000000
000000000000000 plot(survfit(Surv(time,cens),data=gehan)) 000000
gooodbO0o0obO0oO0oO0OoO0OO0DO0OO0ObOO0O0ODOO0OD0O0ODU0OO0ODOD0OO0ODOO0DOUODOODOO
0000 2000000000000coxph() 000000 subset=(treat=="6-MP") 0000
gooooOopo0oooobooooOoO0oOooOoO0O0O0O0bOOO0O000OCOOOOOOOOOODOO
00000000o00o0oo0o20000000000000000000 par(new=T) 00000
gooodboobOoobOooOooboO0o0obDOoOO00obDOoO0obDOoOobOUOoOobOO0DbOUObDUoOoDOoO
0000000000000000000000000000O000O0O0O0OOOOOOOOO0OO0
goood
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ogsb

0010000 GehanOOOOOOODOOOUODOOOOOO 6-MPOODOODOOO
ooooood

oobooooooooooooooo
cl3-6.R

require (MASS)

require(survival)

res <- coxph(Surv(time,cens) “treat,data=gehan)
summary (res)

plot (survfit(res))

summary(res) 00 0000000000000 0OOOplot(surviit(res)) O
00000000000000000000000000 9%% 000000000
ooo

\
Call:
coxph(formula = Surv(time, cens) ~ treat, data = gehan)
n= 42
coef exp(coef) se(coef) z P
treatcontrol 1.57 4.82 0.412 3.81 0.00014
exp(coef) exp(-coef) lower .95 upper .95
treatcontrol 4.82 0.208 2.15 10.8
Rsquare= 0.322  (max possible= 0.988 )
Likelihood ratio test= 16.4 on 1 df, p=5.26e-05
Wald test = 14.5 on 1 d4df, p=0.000138
Score (logrank) test = 17.3 on 1 df, p=3.28e-05
%

0000000000000 0 5% 006-MPOODOOUODOODOOODDOOODO
0000000000000 D000OOexp(coef) 00 4820020000000
00000D0000D006-MPOOOOODOODDOOO 482009%% 00000
[2.15,108|0 0000000000000 DODOGMPOODOOOOOOODOOOO
oooooo
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1343 0O00000O0ODOODOOOOOOOO

ooboooobbooobbooooboobooooboooobooooboOobooOoOooobooaoo
oooooo0oo0oOoOooOoooooooooooooooooooooooooo
oooboooobooooboooboboooooooooooboooboboooon

1. 000000000000000

2.00000000000000000O0000C0O0O0O0OCOOOOOO00OO0
oooo

. 0000000000o0ooooooooo

300ooo0o0o00oooOo0o0obooOo0o0o0booOoO0o0O0oooOoO000oboOo0OO0
oboboooboooobooooboooooooboooobobOooOobboboobbooD
obooboboooooooobooooobooboooOOobobOoobooooboboooobooon
obobooooboobooboobocoobOobOoob0oOobOobOOoOoOobOobOOobOOon
oooooooooomo2000000000000O00O0O0OCOOOOOOOO
00000000000 000RO coxph() DODOO0OOOOODOOOODOOO
00000000000 000O0O0strataQ 000000000 DOOOOOOO
o000o0o0O0000o0oo000ob00O00o00O00b0000000 timeOO0OO0OD
0000 eventO O ODOO0O0O0O00O000D treat00000000O000OODO
stage DU 0OO0O0O0OO0OO0OODOOOOOOOODOODOOOOCOOOOOOOOOD
uoooooboobooobooobooooobobooOobOoOobDOoOoboUOobOobObooDoOoon
coxph(Surv(time,event) “treat+strata(stage)) 0000000

ooooooooooOoooOoOooooOooooooooooooooooooo
O0000O00000000000000O0 200000000000000000
ooooooboboooboboooobooooooboooboobooobooobbooobbooo
OO0 AlICOO0OOoooooo
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(DDG ™
survival 00 0000000000000 colon0O0O0O00O0O0O0OO0OOO0OOOO
0000000000 100000Levamisole 0000000000000000O00OO
00o000O0o0O0o0O0o0o00os-FUD0O0o00Db0o00obo0o0oooo0ooo0oo01o
ooooooooo20000000000000000000000000O00

g R

id goodidoo

study OO0 1

rx 0003000000000000bsO00O0O000OOLev O Levamisole
O0000Lev+5FUDOOOOOO

sex Joo0o00oooooooloooooooon

age goooooboooooo

obstruct D000 0D00D0D0OOODOOOOOOOO1IOOOOOOOOOOOOO

perfor 000000 0D0O0O0OO0OO1000000OOOOOOO

adhere JO00OO0O0O0OOOOOODOOOOOOOOOIDOOOOOOOODOOOOO

nodes OO00O0O0O0O0COO0OO0OOOOOOO

status 0000000000 0OOO0DOO1I0O000O0OOO0O0oOOoDoOOOd

differ 0000000000000l 000002000003000000

extent 000000000000 ODOOOOO1000002000300004
oooooo

surg OOOOOOOOOOOOOOOOODODOl1OODODOO

node4 400000000000000O000OC00OOOCOOOO1IOOOOODO
ooo

time 0O0000OO00OO0OOOOOOOOOOOOOOOO

etype 000000000000 COCOOODO100O00200000000O0

Levamisole 00000000 5-FUODUDDOOOOOOOOOOOOOOOOOOOOO
goboooooooooooboooOoOoO0OOoOOOOOoOOoOoOoOoOooooobooooo

OO0O00O0O0O0O000000000000d colon20000

[colon2 <- subset(colon,etype==2) ]

00000000000000000000000000000000000000
00 01loglogplot) 0 ¢13-5.RO0000000 M
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colon2$sex <- factor(colon2$sex)

KM <- survfit(Surv(time,status) rx,data=colon2)

layout (1:2)

plot (KM)

loglogplot (KM)

res <- coxph(Surv(time,status) “rx+age+sex,data=colon2)

summary (res)

J

Levamisole 0 5-FUODODO0O0O0O0OO0O0O0O0O0O0O000O0O0O0000O0000O0O

0000000000000D000000 0.688009% 00000 [0.545,0.869]0
00bO000O0 100000000D00ooDO0ooOO o017TODODODODOODOOD
gboboooooboooobooooooooooobOobO0bOobobOobOobOoDbo
O00000R?=0.01300000000000 x?=12.50d.f. =4,p=0.0140
0000o00o0oooooobooooobooooooooobooooooooooo
gooooooog
0000000000000 0000000000000O00O0O000 9%%00
00000000000 000000000000O0O0O0o0o0on*®o
4 ™
attach(colon2)
x1ls <- c(0,max(time))
plot (survfit (coxph(Surv(time,status) “age+sex,subset=(rx=="0bs"))),
col=1,xlim=x1s)
par (new=T)
plot (survfit(coxph(Surv(time,status) “age+sex,subset=(rx=="Lev"))),
col=2,x1lim=x1s)
par (new=T)
plot (survfit (coxph(Surv(time,status) “age+sex,subset=(rx=="Lev+5FU"))),
col=3,x1im=x1s)
detach(colon2)
\_ J

0000000000000 0000000000000000000000000000000
000o0000000o00O000O0o0O000O000000000D0000O0D
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0130 000000

(DEI 7 ™
00000 (1995) 000 A00D0D0O0D0O0O00D0O00OO0O0OOOOOOoOOoOn
00o00D000o0oDooooU0oo0ooU0DOo0 ROoODODOoDOOOOOoooOoOo
000b0bO0bO0bO0b00b00oU0o0o0ooUooOOooOOoOODO pads-150000
00000 SASO00O0O00 RO coxph() DOOOOOOOOOOOOOO
(pcancer.R N

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p13.txt")
dat$CENSOR <- 1-dat$CENSOR
dat$SEX <- factor(dat$SEX, labels=c("OO","0O0O"))
dat$TREAT <- factor(dat$TREAT, labels=c("OOOO","00O00O"))
dat$CH <- ordered(dat$CH,labels=c("CHO","CH1i","CH2","CH3"))
dat$STAGE <- ordered(dat$STAGE,labels=c("III","IV"))
dat$PS <- ordered(dat$PS,labels=c("0,1","2","3", "4"))
# data from 00000 (1995) 00000000 sASOO0OOOOOOOOOO
00000 A.3
# 00000O000ONishimura et al. 1988. 0000
# 000000000000 O0000OO00OO0O0O0DOOULOOOODOOOO
# 000 Minato Nakazawa 20/1/2007 00 ROOUOO 1000 CENSOR OO
ooooooo
#oxkx JOOO0O *%x
# CASENOO O DOOO
# TIME O00000O0O0OO0O0OO
# CENSOROOODU0O0O0O00O0DO0O0D0000O0D0O0D0O00 1000000
ROOOOD 100000
# AGE DUUOOUOOODO
# SEX D00 o00UODO1000
# TREAT 0000 0000000001 0000000
# BUI DUOO0OOo00OO100000
# CH UOOODOOUOOOOOOOO 10CHOO 2:CH10 3:CH20 4:CH3
# PO0O0O0OOOOOOOOOO1IOOO
# STAGE TNMUO O OUOUODDOOODDODO 3:I11004:1v0
K# PS Performance StatusO OO 0OOO0OO0OOOO 1:0,102:203:304:4
N J

pcancer . RODODODO*0D00DO00O0O0DOOOOOOODOOOOODOOOOO
000000000000 SASO0O0000O BreslowOOOOoOoooooooQ

*10

source("http://phi.med.gunma-u.ac.jp/msb/pcancer.R") D000 OO0
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000000000000 method="breslow"OOOODOOOOOOO EfronO00
Exact DOOOO0OOOO

e cl13-7.R N

require(survival)

summary (coxph (Surv (TIME, CENSOR) “AGE+SEX+TREAT, data=dat,
method="breslow"))

summary (coxph (Surv (TIME,CENSOR) “AGE+SEX+TREAT, data=dat,
method="efron"))

summary (coxph (Surv (TIME, CENSOR) “AGE+SEX+TREAT, data=dat,
method="exact"))

res <- step(coxph(Surv(TIME,CENSOR) ~AGE+SEX+TREAT+BUI+CH+P+STAGE+PS,
data=dat, method="breslow"))

summary (res)

J

0000000000000 O0OBreslow0 0000 SASOOOODOOODOOO

0000000000000 0000000MO00000000 sASOO0o0ooo

000 TREATOBUIOSTAGEOOOOOOOOOODOODOOOOO0O00000O
ooo*ig

135 OO0

survival 00 000000000000 ovarian O OO0OOOODOODO 2000
O0000000O00000000O000O0O0O0O0Eastern Cooperative Oncology
Group 0O OO0OOOODOOOODOOOOOOOOOOOOO

1 0ppoo0000 STACGEODOODODDOODODODOOOONONONOONONONOOON0NONOONONONooonon
00 SASO00000000O0O0O0O0O0O0OO000O0O0 100000000000000000O0
goo0obooo0oooO0ooO0o0bOOO0O0DO0OO0O00DOO0OO0OOO0OO0OOO0O0COOO0ODOO
gooooooOo0oooooooonoo
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a4 N

futime 00000000 0DOOOOOODOOO

fustat 0OOOOO0OO

age oo

residdds 000000001000020000

rx ooooooooooooooo

ecog.ps ECOGUOOODOODODODOOODOODOUOOUOUOODODODODOO
g0l000000C0O000O000O000O0O0OO0OOO0O0O0O00G0O0200
000oo0o0oo0o0oo0o0oo0ooO0300b0o0oo0oo0o0oo040
oooooooos000000000

J
ooboooobooooboooooboboooobooooboooboobooOobooobooo
oobooooooooooooooooboooooo
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[0 14 [

HRN

141 RODOOODODOOO

0000 (2003)0ROD00000000000000D000O0DO00O.
0000000 (2004)0 The R BookO OO O .

0000 (2004)0 The R TipsD OO 0.
U.0000000000(2000)0R0000000000000000000
ooooooo.

Peter Dalgaard0 0000000 (2007)0R00000000000

e B.0000DDD0OOOOOOOO(2007)0RO S-PLUSOOOOOOOOO
000000000000,

000 (2007 0ROD00000000D0000D0O0OODOOODOOO
oooooo

142 ROODOOODOODOO

e Faraway JJ (2006) Extending the linear models with R: Generalized linear,
mixed effects and nonparametric regression models. Chapman and Hall.

e Maindonald J, Braun J (2003) Data analysis and graphics using R, Cam-
bridge Univ. Press.
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143 0O00OO0O0OO0DOOOOOO

0000000000 (199%)00000000 SASO000O0O0O0oooo
gooo.

00000 (1995) 00000000000 D,00000000000O0.
00000000 (1989) SASOOOODODOOOODOOOOOOO.

e M.G.OOOODDOODOOOODDODOOOO(1981)00DDODOOOO.
Armitage P, Berry G, Matthews JNS (2002) Statistical Methods in Medical
Research, 4th ed., Blackwell Publishing.

Nagelkerke N (1991) A note on a general definition of the coefficient of
determination. Biometrika, 78: 691-692.

144 RODODOOODODOO

http://phi.med.gunma-u.ac.jp/swtips/R.htnl 0000000000
ROOOOO TipsOOOOO

http://aocki2.si.gunma-u.ac.jp/R/ ROODO0OOOOO0O0OO0OOOO
goobobooboogo

http://www.okada.jp.org/RWiki/ RjpWikil 0O 0000000000
http://www.r-project.org/ R Project

http://cran.r-project.org/ CRAN
http://cran.md.tsukuba.ac.jp/ CRANOOOOOOOO
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0150

ooy

010

http://phi.med.gunma-u.ac.jp/msb/data/p01.x1s 00000000000
000000 pOltxt 00O0O0O0OORDO p01 <- read.delim("pO1l.txt") OO
O000Ostr(po1) 000000000000 O0OOOOO0O0DOOOOODOOODOO
0100000000000pidD intODO000MsexO”F’O0”M’000 20000
0 FactorOOOOMht O wtO numO0 0000000000 O0OOO

‘data.frame’: 100 obs. of 4 variables:

$ pid: int 12345678910 ...

$ sex: Factor w/ 2 levels "F","M": 1 211212211 ...

$ ht : num 165 169 160 163 172 ...

$ wt : num 61.3 65.7 57.6 62.9 58.3 55.2 70.2 60.6 60.3 58.9 ...

000 summary(p01) 0000000000000 OONAODOOOOOOOO
O000000000pid0O sexO 1000ht 0 99000 1MwtO 98000 2000
ooboooooo
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4 I
pid sex ht wt

Min. : 1.00 F:50 Min. :150.6  Min. :45.60
1st Qu.: 25.75 M:50 1st Qu.:160.2 1st Qu.:58.08
Median : 50.50 Median :165.0 Median :61.95
Mean : 50.50 Mean :165.1  Mean :61.93
3rd Qu.: 75.25 3rd Qu.:169.7 3rd Qu.:66.40
Max. :100.00 Max. :181.3 Max. :76.60
NA’s : 1.0 NA’s : 2.00

- /

goboooobooobbooobobooooboOoooboOooooobooOoOoOoobooOoo
ooooooooooooooooo

CpOls <- subset(p01,complete.cases(p01)) ]

oobobooboodooooobooobod polsbO0oboooooooooonn
str(pOis) 000 summary(pOls) 000000000000 DOOOOOOOO
oooo9rooooooooooooOoooooooooooooobooooOooo
oooooooooomooooobooooboobooooboooooooboooooooboo

020

ooboooobooobooboooobooobooboobooboOobooboobooOoOoooboooo
ooboooobobooobooobooooooobooooooOooboboooobooOooon
ocooooooooooOooO0oOooboOoOooOooOoOoOboOoOOoOoOoObOODOboOOObOOO
goboooboboooooooooooooooooooooooooooooooo
oooooooo
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dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p0lb.txt")
dat2 <- subset(dat,complete.cases(dat))

rm(dat)

attach(dat2)

mwt <- tapply(wt,sex,mean)

swt <- tapply(wt,sex,sd)

IS <- c(1,2)+0.15

layout (matrix(c(1,2,5,5,1,2,5,5,3,3,6,6,4,4,6,6),4,4))

hist(wt[sex=="F"],main="000000000\OOOO™",
xlab="00 (kg)",xlim=c(45,80))

hist(wt[sex=="M"],main="00000000O0\nOOOO",
xlab="00 (kg)",x1lim=c(45,80))

qqnorm(wt [sex=="F"] ,main="00000000\O0O000O0OO",
ylab="00 (kg)",ylim=c(45,80))

qqline (wt [sex=="F"],1ty=2)

qgnorm(wt [sex=="M"] ,main="00000000\O0OO0O0OOO",
ylab="00 (kg)",ylim=c(45,80))

qqline(wt [sex=="M"],1ty=2)

levels(sex) <- c("OO","00™)

boxplot (wt™sex,main="00000000000",ylab="00 (kg)",
ylim=c(45,80))

stripchart (wt~sex,method="jitter",vert=T,main="00000000O",
ylab="00 (kg)",ylim=c(45,80))

points(IS,mwt,pch=18)

arrows (IS, mwt-swt,IS,mwt+swt,code=3,angle=90,length=.1)

detach(dat2)
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HEDOERNTS L EREERTO Y b
g7 K OHE)

80

Frequency
0 5 10 15
[

75

70

45 50 55 60 65 70 75 80
R E (kg)

65

KE (kg
K E (ke)

WEDEZ%ﬁEA

Frequency
0 510
[
i
G
45 50
)
45 50
| )

—T—T—T— — T
45 50 55 60 65 70 75 80 2-10 1 2 210 1 2
R E (kg) Theoretical Quantiles Theoretical Quantiles

BXAOKENEVITR BEANDKESH
2 2
o ‘ 2 &;?
e 8 e 8 o ® %
ﬁ ﬁ u,l: A
oy e q
® 8 ‘ ® 3 ng;g ot
8 E— 8] o ar
2%
8 8 "o
2 — 2
EY Bt EY Bt

sleepU00000O00O0O00OO0COOOOOOOOODOOOOOOOODOOOO
gobooooboooboboooobooooboobooboobooooboooobooOoon
oooooooooo

attach(sleep)
layout(c(1,2))
hist (extralgroup=="1"])
hist (extralgroup=="2"1)
detach(sleep)

ooboooobbooobbooooboobooooboooobooooboOobooOoOooobooaoo
oooooo0ooOoOoOo+000ooooooooooooo+x 0000000000
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Histogram of extra[group == "1"]

Frequency
0.0 1.0 2.0 3.0

-2 -1 0 1 2 3 4
extra[group == "1"]

Histogram of extra[group == "2"]

all=

-1 0 1 2 3 4 5 6
extra[group == "2"]

Frequency
0.0 1.0 20 3.0

SIQR <- function(x) { (fivenum(x) [4]-fivenum(x)[2])/2 }
attach(sleep)

tapply(extra,group,median)

tapply (extra,group,SIQR)

detach(sleep)

UO00tapply0ddobooooooooooobooooooboooobooboon
oobooooboooobooooboobooboobdbgrowpd0oooooooon
000000000000 000000000000+000000 035+ 1.10
0000000000000 000UUO+x000Oogg s+ 1800000

040

oobooooboooobooboooobooooobooboOobooboOoooboOoboOoOoOooboooo
oobobodoobboooboooboooobboOoOobbUOObotsddboooooOoon
ooooooboboooboobooooboooooboOobooboobooOooboboOooobooboOooon
odooooooooooooooooooo
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( c04a.R

X <- rep(50:99,1000)

tsd <- function(XX) { sqrt(var(XX)*(length(XX)-1)/length(XX)) }
RNGkind ("Mersenne-Twister")

set.seed(1)

layout(1:3)

hist (X,x1im=c(50,100) ,freq=F,main="0000")

Z5 <- rep(0,100)

for (i in 1:100) { Z5[i] <- mean(sample(X,5)) }
hist(Z5,x1im=c(50,100) ,freq=F,main="000 5000000000™")
curve (dnorm(x,mean(X) ,tsd(X)/sqrt(5)),add=T,col="red",1ty=2)
725 <- rep(0,100)

for (i in 1:100) { Z25[i] <- mean(sample(X,25)) }
hist(Z25,x1im=c(50,100),freq=F,main="000 26 000000000™")
curve (dnorm(x,mean(X) ,tsd(X)/sqrt(25)),add=T,col="red",1ty=2)
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library (MASS)

attach(birthwt)

layout (t(1:2))
hist(bwt,main="00000000000",x1ab="0000 (g)")
ggnorm(bwt,main="0000000000000O",ylab="0000 (g)")
qqline (bwt,1lty=2)

shapiro.test (bwt)

source ("http://phi.med.gunma-u.ac.jp/msb/msb-funcs.R")
geary.test (bwt)

detach(birthwt)

J
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Shapiro-Wilk normality test
data: bwt
W = 0.9924, p-value = 0.4354

Geary’s test for normality:
G= 0.8126568 / p= 0.1693836

0000000000000000000000000000 Shapiro-WilkO OO
0O Geary0ODDDOOOOOOD 5% 000000000000 (pO)0o0.0500
0000000000000 5% 0000000000000000DODOO0O0O0OO
goooo0o0o0o0ooooooooogo
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( c06a.R N

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p06.txt")
attach(dat)

layout (matrix(c(1,3,2,4),2,2))

matplot (rbind(rep(1,10) ,rep(2,10)),rbind (NDS,NDE) , type="1",
ylim=c(20,35) ,ylab="00 (g)",main="0000",xaxt="n",xlab="")
axis(1,1:2,c("OOO","0O00O"))

matplot (rbind(rep(1,10),rep(2,10)) ,rbind (HFDS,HFDE) ,type="1",
ylim=c(20,35),ylab="00 (g)",main="00000",xaxt="n",xlab="")
axis(1,1:2,c("OOO","0O00O"))

NDD <- NDE-NDS

HFDD <- HFDE-HFDS

WeightGain <- c(NDD,HFDD)

Diet <- as.factor(c(rep("OOO",10),rep("0 O 0O0O",10)))

IX <- c(1.1,2.1)

MWG <- tapply(WeightGain,Diet,mean)

SDWG <- tapply(WeightGain,Diet,sd)
stripchart(WeightGain~Diet,method="jitter",vert=T,ylim=c(0,3),
ylab="00D00O0DO0 (g)")

points(IX,MWG,pch=18)

arrows (IX,MWG-SDWG, IX,MWG+SDWG,angle=90, code=3)

boxplot (WeightGain~Diet,ylim=c(0,3),ylab="00000000 (g")
print (res<-var.test (NDD,HFDD))

VAREQ <- ifelse(res$p.value < 0.05, FALSE, TRUE)

t.test (NDD,HFDD, var.equal=VAREQ)

detach(dat)

g r7d

0000000000000 0000000100attach 0000020000
OviILOOOoOoOoooooOo3o0o000ooo0o0oo0oooo0ooo

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p07.txt")
attach(dat)
VIL <- as.factor(VIL)

ooooooooobobooosOOObOObObOOOOoObOObObOOOOODOObOOn
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ooooogo

layout (matrix(c(1,1,1,1,2,4,3,5),nr=2))
boxplot(HB ~ VIL, ylab="0O00O0OO0DO00O (g/dL)", xlab="0000")
tapply (HB,VIL,qgnorm)

Normal Q-Q Plot Normal Q-Q Plot

El o 1 2 El 0 1

= - H Theoretical Quanties Theoretical Quanties

Normal Q-Q Plot Nermal Q-Q Plot

AEOE Y R gL
1

",
Sample Quaniies

1 7 3 2 1 1

HEEs Theoreical Quantles

O000000000000000 Shapiro-WilkkOOOOOOO

(itapply(HB,VIL,shapiro.test) :)

gobooobooobboooboobooooboooobooooooobooooobooan
ooooooooOoOoOoOoO0OOoOoOoOoOoooooooom

$1¢ W = 0.9274, p-value = 0.2492
$7° W = 0.9597, p-value = 0.6255
$9° W = 0.975, p-value = 0.5104
$13° W = 0.9637, p-value = 0.6463

000 bartlett.test(HB,VIL) OO0 O 0OBartlett 0 00 00D MM OO
ooooooO0ooO0oO0obO0o0ooooo0oO0OoOO0oOooOO0OoOoO0ObOOoOO0OOOoDoOoO0oOan
Bartlett’s K-squared = 3.7251, df = 3, p-value = 0.29027 0 OO0 00O
000000 5% 0000000000000

summary(aov(HB"VIL)) 00 000000000000 O0OO0COOOOOOOO
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Df Sum Sq Mean Sq F value
VIL 3 122.820 40.940 43.478
Residuals 87 81.920

0.942

Pr(>F)
< 2.2e-16 ***

000000000000000000000O00TukeyHSD(aov(HBVIL)) OO
0 Tukey O HSDOOOOOOOOODOO

~

N

~
diff lwr upr p adj

7-1 -0.1282353 -1.028646 0.7721758 0.9821751

9-1 -1.4425000 -2.212059 -0.6729415 0.0000248

13-1 -3.2663158 -4.144232 -2.3883998 0.0000000

9-7 -1.3142647 -2.050165 -0.5783645 0.0000616

13-7 -3.1380805 -3.986647 -2.2895139 0.0000000

13-9 -1.8238158 -2.532015 -1.1156170 0.0000000 )

00*0100700000000000000000000000000000

oobooooooooooooooooooo

080

(1) BMIO FATOODOOOO*

2 00000000000000000000000000000000000000000000
gooooooooooo
* 000000000 00000000000000 BMIO FATOOOOO 5%00000000
goo0obooOo0oooO0ooO0o0ObDOO0O0O0O00O0O000DOOO0OO0DOOOO0OOO0OOOOOOO
go0oooooOoopooooooo
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dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/p08.txt")
attach(dat)

plot (BMI,FAT,xlab="Body Mass Index",ylab="00000 (%)",xlim=c(15,35),
ylim=c(10,45),main="0000 00000 BMI 0000000000 80% 000
o

require (car)

ellipse(c(mean(BMI) ,mean(FAT)),cov(cbind (BMI,FAT)),sqrt(qchisq(.8,2)),
1ty=2,1lwd=1,col="blue")

cor.test (BMI,FAT)

cor.test (BMI,FAT,method="spearman")

cor.test (BMI,FAT,method="kendall")
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000000 5% 0000000000000000000000D0000000O0
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(2) 00000000 0OODOODOObDOOOO

~
layout (t(1:2))
plot(WT ~ HT,xlab="00 (cm)",ylab="00 (kg)",
main="0000000000000000O0O00O0O™")
res <- 1m(WT ~ HT)
LHT <- seq(min(HT) ,max(HT),length=20)
matlines(LHT,predict(res,list (HT=LHT),interval="confidence"),
1ty=c(1,2,2),col=0)
plot(residuals(res) ~ fitted.values(res),xlab="0O0O0O0O0O",
ylab="00")
summary (res)
predict(res,list (HT=155) ,interval="confidence")
detach(dat)
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dat2 <- subset(dat,WT<70,drop=T) )
attach(dat2)
res2 <- 1m(WT ~ HT)
layout (t(1:2))
plot(WT ~ HT,xlab="00 (cm)",ylab="00 (kg)",
min="000000000000000Nn0000OO0OOOOO"
LHT <- seq(min(HT) ,max(HT),length=20)
matlines(LHT,predict (res2,list (HT=LHT),interval="confidence"),
1ty=c(1,2,2),co0l=0)
plot(residuals(res2) ~ fitted.values(res2),xlab="0O0000O",
ylab="00")
summary (res2)
predict(res2,list (HT=155) ,interval="confidence")
detach(dat2)
_/
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00000000000 155em00000000D0O00ODO5B1.2[48.6,53.8 kgOO
000000 9%%00000000000000000000000000O0O0O
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0000000000 000000000000000 malaria0000000O0O
Opopl00D0000OO0OMMOODODOOOODODOOODODODOODOODO
oooboobooo
(COQa.R ~

malaria <- c(6,10,18)

pop <- ¢(180,220,80)

names (malaria) <- c("OO","0OQO","0OoO")

positive <- malaria/pop

negative <- 1-positive

tab <- rbind(positive,negative)

rownames (tab) <- c("OO","O00O™")

print(tab)

op <- par(mar=c(5,4,4,6.5)+0.1,xpd=NA)

ip <- barplot(tab,main="00000000000",col=c("red","white"))
legend(ip[3]+0.7,0.7,legend=rownames(tab) ,fill=c("red","white"))
text (ip-0.05,positive+0.05,paste(malaria,"d /" ,pop,"0 "))

par (op)

prop.test(malaria,pop)

pairwise.prop.test(malaria,pop)

mosquito <- c(1,2,4)

prop.trend.test(malaria,pop,mosquito)
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00Oo00O0ooO0oo0ooooOOooOooOo0oo0o00o00o0obO0obOOobO0oDbOoDbDOoDOoDOo
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0000000000 9%%0000000005500000 8.96 (4.43, 18.7)0
500000 3.39 (2.07,563) 00005 000000000000000000
0000000000 9Y0o0DO0oDOoooOoos0O00Dn 3n0o0oooooa
O000OFourfold00 0000000 O0D0000O0O0O0O0O0O0O0O0O0O0OOOO
0000b00O0DbO0DO0oDO0ooOOoDOoDO0ooOO0oDOO0oOO0oDOooOoOoooOoooOooOoo
KclOa.R ~N

under55 <- matrix(c(30,16,64,308),nc=2)

fisher.test (underb55)

overb55 <- matrix(c(66,68,45,158) ,nc=2)

fisher.test(over55)

allbyage <- array(c(under55,over55),dim=c(2,2,2))

dimnames (allbyage) <- list(c("OOOO","000OM"),

c("0O","00"),c("s5000","55000"))

allbyage

library(vcd)
woolf_test(allbyage)
mantelhaen.test(allbyage)
fourfold(allbyage)
detach(package:vcd)

* 0000000000000 0Onantelhaen.test(allbyage) 10000000000 4.60
95% 00000 (3.13,6.76) 0000
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N

dat <- read.delim("http://phi.med.gunma-u.ac.jp/msb/data/pll.txt")

attach(dat)

X <- table(GRP,PARITY)

HF <- X[1,]

MF <- X[2,]

PF <- X[3,]

N J
O0000000000000 varplot(HF) DOO0O0OOOO0OOOOOOOODO

O Oboxplot(PARITY"GRP) 000 OO UIO0OODODOUODOODOOODODOOODODOO

oboboooooooboboobdooboobooooOobOooOooboboobOoDbOoboOon
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Fligner-Killeen 000 0000%2=0.75,p=0.6900000000000000
0000000000000 0C0U0DO0O00O000 Kruskal-WallisOOQO4dOQOoOd
Xiw:11.27p:0.0036|:|DDDDDDDDDDDDDDDDDDDDDDDDD
oooobogoooboooooooooooboobooboooboDbooobOooboooD
oood

O0000000D0DMHOMOOODODODOOMO POODOODOODPO HOO
O00mMooo0o0o000HmODODODODOODOOOOOOOOOOOOOOOOO
000000 pairwise.wilcox.test() 000D O0O000O0O0DOO0OODOOOHDO
OMOOOOO 0.02510HO0 PODO 0.00540MO0C PODO 04030000000
HOOOODOODOODODOOOOODOMOOO POOOOOOO (% 00000000
gcoooMOO POOOOOOOOOOOOOOOOOOOOOOO
rclla.R(Z) ~

win.metafile("it11-ans-2006-1.emf",width=6,height=6,pointsize=14)

par(family="sans",mai=c(0.4,0.4,0.4,0.4),las=1)

boxplot (PARITY"GRP,main="000000000O0")

dev.off ()

fligner.test (PARITY GRP)

kruskal.test (PARITY GRP)

pairwise.wilcox.test (PARITY,GRP,exact=F)

It f5 il 2 FELH 2 JE B

oobooooobooooo
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layout (1:3)
tapply (PARITY,GRP,hist,x1im=c(0,10) ,breaks=0:10,main="",right=F)

Oo0ooo0O0ooOo000o0000b0O00bOb0O0bOright=F00000O000OOO
000000000000 tapply) O00O0O0OODOOOODODOOOOOODODOO
oooooboooooomoooobooboooboooobooboobooooooboooooon
ooooog

layout(1:3)
barplot2 <- function(...) { barplot(table(...)) }
tapply (PARITY,GRP,barplot2)

ooboooobbooobbooooboobooooboooobooooboOobooOoOooobooaoo
ogoooobooooooooooooooooooooooooooooooooo
00000 Poisson 0000000000000 O0DODOOOOOOOOOOOODOO
oobooo0p0O0O0OO0OO0O0ODOOO0OO0ODOOOODOOODODOO0zO000O000DO
ooboooobobooobobooooboooooboobooOoboOoboboOoobboOooobooboooon
000000000HOOOOOOO0OOOO0OOO0O00O0O000000 100000
00000 vedO0OD0OO0DO goodfit() DODODOODOOODOOODOOODO

H <- rep(0:9,HF)

ix <- barplot(HF,main="HOOOOOOOOOOODOOOOO",ylim=c(0,10))
lines(ix,EH<-dpois(0:9,mean(H))*30)

print (mean(H))

print (XH <- sum((HF-EH) "2/EH))

1-pchisq(XH,8)

00000000000 o00o0000oDo000oo0o0o0UoLooDO0Dooo
0000obO0000oo0o00oDoo0o000ooO0o0o00oOoOoOOo0onooDoOO
goooooooooooboooo0oooboooooooboobooooogooog
gooooooooboboooobobooooobooooboobboooooboboo
Fligner-KilleenO Kruskal-WallisO D OO0 O00000 Wilcoxon OOOOOOOOO
gooogo
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H <- rep(0:9,HF); M <- rep(0:9,MF); P <- rep(0:9,PF)

library(vcd)
win.metafile("it11-ans-2006-2.emf",width=8,height=12,pointsize=14)
par(family="sans",mai=c(0.4,0.4,0.4,0.4) ,las=1,mfrow=c(3,1))

XHP <- goodfit(H,"poisson"); SXHP <- summary(XHP); TXHP <- paste("O O
0000 (p=",sprintf("}4.2f",SXHP[3]),")")

XHN <- goodfit(H,"nbinom"); SXHN <- summary(XHN); TXHN <- paste("O [
oood (p=",sprintf("%4.2f",SXHN[3]),")")

ix <- barplot(HF,main="HODOOOOOOOOOOODOODO",ylim=c(0,10))
lines(ix,predict (XHP,newcount=0:9),1ty=1,col="red")

lines(ix,predict (XHN,newcount=0:9),1ty=2,col="blue")

legend (8,max (HF),1ty=c(1,2),legend=c (TXHP,TXHN) ,col=c("red", "blue"))
XMP <- goodfit(M,"poisson"); SXMP <- summary(XMP); TXMP <- paste("O O
0000 (p=",sprintf("%4.2f",SXMP[3]1),")")

XMN <- goodfit(M,"nbinom"); SXMN <- summary(XMN); TXMN <- paste("O O
0000 (p=",sprintf("%4.2f",SXMN[3]),")")

ix <- barplot(MF,main="MO0000000000000O00O",ylim=c(0,10))
lines(ix,predict (XMP,newcount=0:9),1ty=1,col="red")

lines(ix,predict (XMN,newcount=0:9),1ty=2,col="blue")

legend(8,max (MF),1ty=c(1,2),legend=c(TXMP,TXMN) ,col=c("red","blue"))
XPP <- goodfit(P,"poisson"); SXPP <- summary(XPP); TXPP <- paste("O O
0000 (p=",sprintf("%4.2f",SXPP[3]1),")")

XPN <- goodfit(P,"nbinom"); SXPN <- summary(XPN); TXPN <- paste("O O
0000 (p=",sprintf("%4.2f",SXPN[3]),")")

ix <- barplot(PF,main="PO0 000000000000 0OOO",ylim=c(0,10))
lines(ix,predict (XPP,newcount=0:9),1ty=1,col="red")

lines(ix,predict (XPN,newcount=0:9),1ty=2,col="blue")

legend(8,max (PF),1ty=c(1,2),legend=c(TXPP,TXPN),col=c("red","blue"))
dev.off ()

~
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( cl2a.R N

NagelkerkeR2 <- function(rr) {

print(n <- nrow(rr$model))
(1-exp((rr$dev-rr$null) /n))/(1-exp(-rr$null/n))
}
require (MASS)
table(bacteria$y,bacteria$week)
table(bacteria$y,bacteria$trt)

res <- glm(y ~ week+trt, family=binomial, data=bacteria)
NagelkerkeR2(res)
summary (res)

exp(coef (res))

exp(confint(res))

J
bgooooboooooooooooooooooooooooooooooooo
oooooobobooobobooooboboooooboooboobooobooobboobbbooo
goooooooooo soooooOo0O00000000000000000000
000000000000000000000000000* 0000000000
vobooboooooobooobooboooboooobooboobOooboobOoobooDooOoo
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
oooooooooooo

\
y / week

0 2 4 611
n 5 411 11 12
y 45 40 31 29 32
y / trt
placebo drug drug+
12 18 13
y 84 44 49
\ J
00020000000000000000000 40000000000000
oobooooobooooboboooobooooooobooOoooobo0oobboooDbboooD
oooboooooooooooooOooooooboooboboooobobooobbooo

ooboooooooooooooooooooooo

*O0ooo0Do00000000000000000000000000000000000000
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oo 2160
*000000000000000000000000 -0.1160 p = 0.009T]

oooboooooboooooboooooboooooobooooboOooobooooOo0ooobooOoo
goooo00o0oo 1/30000000000000000000DDOO0O0OOO
0000000000000 00DOD 5% 00000000000 DO00DO0OODO
oobooobobooobobooobooooooOoboobooboboOooDo

ogobooooboooboboooobobooooboOoooboOooooobooOoOooobooOoo
ogoooooooooooOoooOoOoooooooooooooooooooooo
goboobobobooooooOoooooooooooooooooooooooooo
oooooooDo

0130

oboboooooooboooobooboooobobooboOoOoOoboOoobOoDbOooo
ooboooboboooboooboooooooboooooo



272 0150 0000000

r cl13a.R(1) ~

require (survival)

loglogplot <- function(X) {

S <- X$surv

T <- X$time

G <- X$ntimes.strata

GG <- names(X$strata)

GX <- rep(GG,G)

xr <- c(0,max(T)*1.5)

yr <- c(log(-log(max(8))),log(-log(min(S))))

plot (T[GX==GG[1]],log(-1log(S[GX==GG[111)),type="1",1ty=1,

xlim=xr,ylim=yr,xlab="time",ylab="log(-log(8))",

main="00000000")

for (i in 2:length(GG)) {

lines(T[GX==GG[i]],log(-Llog(S[GX==GG[i11)),1ty=1)

}

legend (max(T),-2,legend=GG,1lty=1:1length(GG))

}

#

print (KM <- survfit(Surv(futime,fustat) rx,data=ovarian))
pdf ("p13a.pdf",width=16,height=8,pointsize=14)

par (family="JapanlGothicBBB",las=1,mfrow=c(1,2))

plot (KM,

main="ovarian 0000000000 OOODOOOOOOOOO",
lty=1:2)

loglogplot (KM)

dev.off ()

J
O0000000000000000 pl3apdf000000 pdf00O0O00O0O0O
oooooooooooooobo 20000000 1000000000000OO
ooooooo0oooo0oobOoooooObo0oOoDObOo0oOoOOO0O0 100 6380
09% 00000 2800000000000 20000009%%00000 475
ooboooobooooboobooooboooooobooooboOoooboboOooooo
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ovariany—8 TOEMHMS A TS5 >=v1+Tay k —@HHTay

log(-10g(s))

gboboboboobobobboobobbobobobobooooobobooboon
0000000000000 00000000000000000R?2=047500
000000000000Ra0 0000000 x2 = 20.8,d.f. = 3,p = 0.00012 O
0Moo0ooo0oo0o0oo0o0oo0oooO0o0ooOoooOoo0ooOOoooDo0DO 11370
95% 00000 1.036-1.250p=0.00660 0000000000000 O0OOOOO
gooogo

cl13a.R(2)

res <- coxph(Surv(futime,fustat) “rx+age+factor(resid.ds),
data=ovarian)

summary (res)

goboooobooobbooobobooooboOoooboOooooobooOoOoOoobooOoo
10200000000000000000000000C000O00C0O0000O0O0O
ooooo
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oot

<-, 14
<< —, 14
.Renviron, 13
.packages, 15, 223
:, 56

7,10, 15

[],185

abline, 119, 214

abs, 63, 162, 163, 167
agreementplot (vcd), 166
AIC, 195, 199, 205, 206
anova, 101, 194, 195
Anova (car), 195

aov, 101, 109, 195

array, 177

arrows, 42

as.Date, 226

as.factor, 145, 151
as.integer, 23, 211
as.matrix, 33, 166
as.numeric, 23, 226
as.ordered, 23, 25
as.table, 144

assocstats (ved), 165
attach, 20, 125, 199, 202, 204, 217
attr, 205

axis, 97

barplot, 32, 33, 132, 142
bartlett.test, 102
binom.test, 132-134
bonett.test (moments), 85
boxplot, 41, 93, 95, 190

c, 32, 138, 144

capture.output, 40

car, 115, 195

cat, 139, 162-164

cbind, 33

chisq.out.test (outliers), 51

chisq.test, 11, 148, 149
correct, 147

simulate.p.value, 148
choose, 79, 153
clogit (survival), 219
+strata, 220
cm.colors, 46
cochran.test (outliers), 51
coef, 122, 197, 199, 217
colnames, 33, 162, 163
complete.cases, 19, 41, 197
confint, 159, 164, 167
coplot, 211
cor, 113
cor.test, 113-116
method=kendall, 117
method=spearman, 117
cov, 113

coxph (survival), 219, 235, 237, 239, 242

method=Dbreslow, 243
strata, 239
subset, 237

cumsum, 33

curve, 59, 80-82, 130, 135

data.ellipse (car), 115
data.frame, 217

dbinom, 79, 130, 132, 133
dchisq, 81, 135

detach, 15, 20, 164, 199, 202, 204, 217, 223

df, 82

difftime, 226
dimnames, 177
dixon.test (outliers), 51
dnorm, 74, 79, 132
dotchart, 36

dpois, 136

dt, 79, 82

ellipse (car), 115
Epi, 172
exact
cor.test, 115
example, 44, 191
exp, 58, 126, 162, 163, 217
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extractAIC, 205, 206

factor, 19, 92, 151, 216, 217, 219
FALSE, 19

fisher.test, 150-152, 159, 163, 164
fitted.values, 126

fivenum, 61

fligner.test, 189

for, 33, 71

fourfold (ved), 176, 177
friedman.test, 191

function, 14, 162, 163, 166, 170, 199

geary (moments), 85

geary.test (00D DOO), 86

getS3method, 114, 143

glm, 193, 194, 204, 215, 217, 219
data=, 217
family=gaussian, 194

goodfit, 143, 144

grubbs.test (outliers), 51

gstem (0OODODO), 40

heat.colors, 46
help, 195
help.search, 10
hist, 38, 70, 71, 74

identify, 43

ifelse, 78, 170, 219
install.packages, 14, 143, 172
integer, 19

ISOdate, 226

Kappa (ved), 167
weights, 167

kruskal.test, 189

ks.test, 138, 180

layout, 70, 71, 73, 142, 177

legend, 214, 227

length, 33, 40, 51, 84, 113, 170

levels, 145, 151, 211, 217, 219

library, 109, 143, 144, 152, 162, 195, 216,

223, 224
lines, 74, 96, 132, 202
lty=, 202

list, 166, 177, 202

Im, 101, 119, 124, 194, 197, 199, 202, 204,
206, 214

Im.ridge (MASS), 198

Ime (nlme), 191

log, 58, 126, 206

logical, 19
logLik, 204, 205

mantelhaen.test, 176

maptools, 45

mar_table (ved), 152

MASS, 38

matlines, 119

matplot, 43

matpoints, 43

matrix, 33, 149, 162-164

max, 94, 170, 202, 214

mean, 14, 16, 51, 202
na.rm=T, 202, 207

median, 53

median.test0 000000, 187

methods, 114

min, 202, 214

mosaic, 176

mosaicplot, 145

NA, 18

names, 32, 33, 142, 144

nls, 194, 204, 208
start=list(), 208

numeric, 19

oddsratio (epitools), 159, 164
method, 164

oddsratio (ved), 159, 164
log=F, 159

oddsratio.fisher (epitools), 164

oneway.test, 102
var.equal, 102

ordered, 19

outer, 167

p-value
var.test, 93
pairs, 43

pairwise.prop.test, 107, 140-142

pairwise.t.test, 107

p-adjust.method=bonferroni, 107
p.adjust.method=holm, 107

pairwise.wilcox.test, 107, 192
exact=F, 192

par, 31, 237
las=1, 227

paste, 33, 34

pbinom, 133, 134

pchisq, 81, 137, 138, 149, 204

perm.test (exactRankTests), 188

pf, 82, 91
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gopoogog

pi, 206
pie, 37
plot, 43, 96, 119, 121, 130, 144, 195, 214,
225, 237, 238
pch, 43
xaxt, 97
pnorm, 80, 162, 163, 166
points, 42, 43
predict, 119, 201, 207
interval=conf, 202
print, 140, 142, 144, 162, 163, 177
prod, 58
prop.test, 140-142, 149
prop.trend.test, 141
pt, 82, 84

q, 14
gbinom, 131, 133
qchisq, 81, 115
qf, 82
qnorm, 80, 114, 133, 139, 162, 163, 166
qqline, 39

lty, 39
qqnorm, 39
qt, 75, 82
qtukey, 109
quantile, 61

rainbow, 46

rank, 185

rateratio (epitools), 162, 164
method, 162

rbind, 142

read.delim, 20, 226

read.xls (xlsReadWrite), 17

recode (car), 219

relevel, 217, 219

rep, 70, 145, 170, 202

require, 143, 164, 199, 216, 217, 219, 223,

224

residuals, 126, 195, 201

riskratio (epitools), 162, 164

RNGkind, 67, 70

rnorm, 67, 90, 119

roc (00DOO0O), 170

rocc (0O0ODOO), 171

rownames, 33, 142, 162, 163

RSiteSearch, 10

runif, 119

sample, 70
scan, 171, 185
sd, 14, 42, 64, 197, 199

search, 15, 223
seq, 130, 202
set.seed, 67, 70
shapiro.test, 84
simtest (multcomp), 109
sort, 170
source, 14, 31, 140

echo, 140
sqrt, 113, 115, 133, 139, 162, 163, 166, 170
stars, 44
stem, 40
step, 195, 205-207, 217
str, 19, 100
stripchart, 41, 93, 95
structable (ved), 177
subset, 19, 41, 197
sum, 33, 51, 137, 138, 166, 170
summary, 19, 101, 124, 144, 159, 164, 194,

195, 199, 214, 217, 225, 238

Surv (survival), 224, 232, 233, 237, 239
survdiff (survival), 232, 233, 237

rho, 232
survfit (survival), 225, 230, 237, 238
survreg (survival), 223
symbols, 43
Sys.getlocale, 226
Sys.setlocale, 226

t, 142
t.test, 15, 76, 84, 90, 93, 95, 226
alternative, 93
paired, 96
var.equal, 92, 93
table, 31, 32, 145, 148, 151
table.margins, 152
text, 33, 34, 40, 43
topo.colors, 46
TRUE, 19
truehist (MASS), 38
truemedian (00 O000), 55
TukeyHSD, 109

unique, 170
UseMethod, 143

var, 28, 63, 113
var.test, 91-93
vif (DAAG), 198, 199
VIF (0000D0), 199

which.max, 130
wilcox.exact (exactRankTests), 183, 188
wilcox.test, 96, 183, 185



277

paired=T, 188
woolf_test (ved), 176
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oo

FOO, 91,93, 179

FO,91

FOO, 82,91, 102, 210

o000, 83

a 00, 26-28

/000, 83

X200, 82

k00, 166, 167

t00, 15, 96, 104, 179, 180, 196

to, 123

too, 75, 79, 82, 90, 96, 108, 113, 121, 123,
131, 197

0oooooo, 222

2x 2000000, 145, 149, 186, 231

2x 2000, 145, 150, 151

2000,78

2000, 78-80, 130-133

2000, 145, 194, 209, 215, 216

5000000, 156

500000000, 156

650000000, 45

95% 0000, 131-133, 135, 139, 151, 159,
161-163, 166, 208, 215, 217, 227,
228, 230, 231, 237, 238, 241

accuracy, 154

AIC, 123, 195, 197, 200, 201, 205-208, 215,
239

airquality0 00000000, 125, 199

aml0 00000000, 230

ANACOVA, - 0O0O0OOOo

ANOVA, - 0000

APCOODO, 172

ArcExplorer, 45

attributable proportion, 157

attributable risk, 157

AUC, 168, 170

bacteriaD 00000000, 220
BIC, 123

birthwt0 0 OO0 D 00O, 87, 216
BMI, 90, 128

Bonett-Seier 0 0, 85

Bonferroni, 104
Bonferroni 000, 192
Breslow O, 242

C.V., 64

car00000O0OO, 219
case-control study, 158
case-fatality rate, 156

censored, 175

censoring, 221

centring, 198

chickwtsO O OO OOQooQ, 100
Clopper and Pearson 000, 132
CMR, 129

Cochran-Armitage 0 0O, 183
cohort study, 158

Cornfield DO 0O, 163
correlation, 111

CP932, 31

CRAN, 11-15, 45, 109, 172, 194, 246
cross-sectional study, 158
cumulative incidence, 155

CV, - 0000

DAAGOOOOODOO, 199
Deviance, 123, 216
difftime 00 O, 226
disease odds ratio, 157
disease-odds, 155
DIVA-GIS, 45

Efron O, 235, 243

epitoold] 0 00 00O, 143, 152, 159, 162, 164
EPS, 103

ESRI, 45

event history analysis, 221

Exact O, 163, 235, 243

excess risk, 157

exposure odds ratio, 157

FALSE, 217
Fisher 00000 LSD O, 104
Fligner-Killeen 00 0O, 189
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follow-up study, 158
for0Q0O, 71, 97
Friedman 000, 191

Geary 000, 85

Gehan, 227
gehanO0 OO DOO0OOODO, 227
Generalized Linear Model, 193
GIS, 45

Greville DO O, 222
grid000D0OODO, 177

Holm, 105

Holm OO O, 192
HSD, 104
ICROOO, 97

incidence, 155

incidence rate, 155

incidence rate difference, 157
incidence rate ratio, 157
intercept, 119

IQR, - DO0OOO

ITOO, 141

Kaplan-Meier 00000000, 221

Kendall O 7, 113

KendallO SO0, 180

Kruskal-Wallis0 OO, - 000000000
oooo, 189

KSOO, 138, 180

leapsD 000000, 207
Lexis O, 172
linear, 117

Mann-Whitney O U 00, 92, 180
MASSOOOOO0O, 205, 216, 227
median, 41

median-unbiased, 163

Microsoft Excel, 184

MLE, 203

moments0 000000, 8
mortality rate, 155

mortality rate ratio, 157
multcomp0 000000, 109
multicolinearity, 198

Nagelkerke 0 R2, 215, 217
nlmedJ 000000, 191

odds, 155
odds ratio, 157

OpenOffice.org, 184
Out of workspace, 164
outliers0 000000, 51

p-value, 85, 158

p-value 00, 158

paired-t 00O, 96

Peritz, 105

PMI, 156

PMR, 156

point prevalence, 154
population at risk, 221
precision, 154

prevalence, 154

proportional mortality indicator, 156
proportional mortality rate, 156
prospective study, 158

proxy, 13

Ql1, 61
Q2, 61
Q3, 61

Randomized Controlled Trial, 155
rank sensitive, 53

Rao O Score O 0O, 237

rate ratio, 157
Remdr0D OO0 OOOO, 20

RCT, 155

regression coefficient, 119
relative risk, 157

reliability, 154

Repeated Measures ANOVA, 191
residual, 122

risk, 155

risk difference, 157

risk ratio, 157

ROC, 168

ROCOO, 168

ROOOOO, 20

s40ooo, 205

SAS, 195, 242, 243
SBP, 128

Scheffé, 104

SD, -~ 0000

SE, - 0000
Shapiro-Wilk 00O, 84
SIQR, — 00O0O0DO
slope, 119

Spearman O p, 113
survival analysis, 221
survivalD O 00000, 219, 223, 224
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TFR, 94

tie, 54
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TRUE, 217

Tukey, 104

Type III 0000, 195

Type 110000, 195

Type IVOOOO, 195

Type 10000, 195

URL, 19

validity, 154

value sensitive, 53

Variance Inflation Factor, 198
vedOOOOOODO, 143, 152, 164-167, 176
VIF, - 000000

Welch0ODOOOOOOOOOOOO, 102, 110

Welch 000, 92, 93, 96, 102

Wilcoxon 000000, 92, 180, 184, 186,
189, 190

Wilcoxon 0000000000, 189

Windows 00000000, 102

WoolfO DO O, 176, 177

Woolf 000, 169

workspace, 164

xls, 17
X0O, 111

Yates 1000000, 11, 147, 148
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